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Topic:- General Maths

1) A man crosses a diagonal of square in two minutes at the speed of 6
km/hr. Find the area of the square-/ 1:{?53!1'%{ 6 %Iﬁ./siaaﬁam@f%m?rng
FPR AgH & fawvl o1 2 fiFe § R Fa1 8| AeM &1 &Fwd fear 82

1. 200000 m2/200000 H2
2. 20000 m?2/ 20000 2
3. 2000 m2/2000 12
4.200 m2/200 12

Correct Answer :-

« 20000 m?2/ 20000 #H2

2) x2 +yr

_ = L = 3 3
1f* =2+ V3 ¥ =2- V3 then what will be the value of* ¥ 7 ;afg
x? + 2

X = 2 + "\'J3_. ¥y = 2_ \'Jgalaﬁ-xg + }'Emmwﬁm?

4, 40

3) The difference between the compound Interest and simple interest on a
certain amount for 2 years at the rate of 10% per year is "'200. The sum is:/

wv&r%wm% e sae Ft 3 A 2 76 & T gfes a1 MR FTYURT T BT SR “200 2|
Y &:

1.716000

2.°18000
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3.720000

4.°25000

Correct Answer :-

« "20000

4) What will come in place of the question mark (?) in the following

questions?/ fFEfafEd uy & yyars fag (2) & RIM R |1 TT?
¥7= (36 x 24) + 9

1.814736

2. 854734

3. 804036

4. 884736

Correct Answer :-
« 884736

5) What will come in place of the question mark (?) in the following

questions?/ ﬁ'ﬁﬁ’l‘f@ﬁﬂﬂﬁﬁ’}lﬂﬂﬁﬁ%(?) & YT IR T TATM?
[12 x5 - {200 - (501 + 247 - 386)}]+2 =72

1.111

2.82

3.61

4. 62

Correct Answer :-

« 111

6) A bag contains 5 red balls, 6 yellow balls and 3 green balls. If two balls
are picked at random, what is the probability that either both are red or both

are green in colour?/U% 4a § 5 @Td, 6 Wt auT 3 gt A &1 afe <t A urefse +u d
fRrpTelt STl @ ot 39 91 Y 1 Wi & £ ar &) S Wi oret g1 ar gl fig g g2

3

1.7

2
7
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7) In how many ways five chocolates can be chosen from an unlimited
number of Cadbury, Five-star, and Perk chocolates?/ %aﬁ,tmgaw, AR TP
TAipde o1 AT TB # J fraq el A 5 Tipael & g1 oI Ghal 32

1. 21
2.31
3.243

4. 81

Correct Answer :-

e 243

8) Calculate the volume of the largest right circular cylinder which can be cut
of a cube, each edge of which is 14 cm long. /33 g 9@ HT MTAG T HITT
o Te ¥4 ® A Frer orar 8, e vad® fhar 3t dars 14 AW 21

1. 2346 cm3/2346 qH13

2. None of these/ 370 q ®Ig Tal
3.2156 cm3 /2156 I3
4.2276 cm3/2276 I3

Correct Answer :-

« 2156 cm3 /2156 9413

9) In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/
TS T W TP BT TA® el IR & T 1 3 U a1 2 3R TP 7Tad Sk & g 1/4
3P HU {54 914 §1 afe 399 Fa 70 W= 6 6T 3R 40 3w yrw 3, a1 I fovaa w=A
gl g feae

1. None of these/sﬁﬁﬁﬁé%pf

Page 5



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

2.46
3.52

4. 42

Correct Answer :-

10) DIRECTION: Study the table carefully to answer the questions that
follow./ fAdzr: g ARvft &1 Graur gde vear R 33 1 uy &1 3R &)

Production of two types of items by two different companies in
the different months/ faféa Ag=T & & fafea Fafadt & @rT o
OHR & FEJHT FT I

Company/&oqet L M
January/Si=a{l 432 654 434 324
February/s<ad{r 534 335 532 450
March/AT 864 654 765 565
April/3riter 643 454 665 933
May,m'é 789 654 424 666

What was the respective ratio between the number of items of type-2
produced by Company M in the month of May and the number of items of
type-1 produced by Company-L in the month of March?/ HUT M WH’Q%H@%
AIWIed TT3Y -2 TEI3N B TWAT 3R HUT L gRT A & T A Iafed sy -1 & axgaii ol
HEAT & §ie U TUTd T UT?

43
1, 58

37

2. 48

50
3, 109

49
4. 109

Correct Answer :-

Page 6



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

DIRECTION: In the given question two equations humbered I and II are
given. You have to solve both the equations and give answer if:/ﬁlﬁ'!tr— ﬁ'ETIT{

wy ¥ &Y g 1 3R 11 T TT &1 3yt I aeitesvuil &) g $eT € 3R SR ST § afe:
I. (x’/5 +9) =169 + x3/5

I1. y1/4 x y1/4 x 7 = 273 + y1/2

L.X2y

2.X <y

X<y

4.X >y

Correct Answer :-

12) A shopkeeper mixes two varieties of rice purchased @ Rs. 35 per kg and
@ Rs. 28 per kg respectively. If he sells the mixture @ Rs. 36 per kg and thus
gains 20%. The ratio in which the two varieties are mixed is:/wwﬁ
UHR P YT aTe) A1ae B HHAM: 35 .1, 3R 28 =./fpur. @dedr € afe 98 5 fryor

P 36 w./fFUT. TAT R A 20% BT ATH U HdT ¢ al YT BT ST FT &-

1.5:2
2.4:7
3.2:5
4.7 :4

Correct Answer :-

e« 2:5

13) The time of oscillation of a pendulum varies as the square root of its
length. If a pendulum of length 40 cm oscillates once in a second, then the
length of the pendulum oscillating once in 2.5 seconds is:/ Wﬁgﬂ'ﬁr?ﬂﬂm

DA P! TS S THA P PTG & | i UgaH Pras’t awars 40 A, 8, v Aovs
B U QI BT 7, dl 2.5 HUS W TP SIa- He- aTd UgaH B TS &7 gift?

1. 250 cm/250 9Ht
2.225 cm/225 It
3. 200 cm/200 I

4.175 cm/175 I#

Correct Answer :-
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« 250 cm/250 I+

14) A boat travelled 40 km downstream and 20 km upstream in 6 hours. The
boat travelled another 56 km downstream and 34 km upstream in 9 hours.
What is the speed of the water?/ T& -1d 6 e H 40 %ﬂ’tﬂmaﬁﬁmﬁaﬁ? 20 &t
YRT & faudia fozn & gadt 31 adt /g 9 Hel ¥ 56 it o1 ot fezm # ik 34 fFHeanites umr
& faudia fo=n o gadt 31 wrei St afa w82

1. 0 kmph/0 foHl/EeT
2. 18 kmph/18 fadi/EieT
3. 15 kmph/15 feHl/Eer

4.9 kmph/9 feHi/Eer

Correct Answer :-
« 0 kmph/0 faHi/Eer

15) What will come in place of question mark (?) in the following number

series? / Fafafad e yomedt # ugaras fawg (2) & I R |1 T2
5, (?), 15, 37.5, 112.5

1.5.5

2.7.5

3.9.5

4,13.5

Correct Answer :-

16 3l.g2
) A certain sum of money is divided between P and Q in the ratio 2 2.If
P gets Rs.180 less than Q, then the share of Q is:/ o Afda R P G?RQ &

fag e 55$a|3tn?rffa1°€rarcﬁ%| gfg P,Q ® ga-T ® Rs.180 &H UTWd HRaT g | df Q &1
AR E:

1. Rs.315
2. Rs.495
3.Rs.810

4. Rs.630

Correct Answer :-
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e Rs.495

17) The price of rice falls by 20%. How much rice can be bought now with
the money that was sufficient to buy 20 kg of rice previously?/a1dd & ged |
20% FRTaE 3T M W I g1 Fud § fora= araa Wil &1 9%ar 8, S ugd 20 5o
ITad Wl & fore gaia 42

1. 5 kg/5 foour

2. 30 kg/30 four
3. 25 kg/25 i1
4.15 kg/15 f&3n

Correct Answer :-

25 kg/25 f&3n

18) The price of an item went up by 25% and a family decided to reduce its
consumption so that the total expenditure would increase by only 8% as
compared to the previous expenditure. If 25 kg of the item was consumed
previously, then how many kg of the item should be consumed now?/ fot

I & oI § 25% P i §8 941 TP uRaR A gg fofy foran % g sioft wua sa e @
U DI dlfe @ | b 8% @1 gfe 811 afe ugat 25 5w @ua Y, dt er@ T wua wm ghft?

1.22.4 kg/ 22.4 four
2. 20 kg/ 20 &3
3. 25 kg/ 25 foa
4.21.6 kg/ 21.6 T

Correct Answer :-

21.6 kg/ 21.6 T

19) Mean of twenty observations is 15. If two observations 3 and 14 are
replaced by 8 and 9 respectively, then the new mean will be:/ 20 U&JuT T HTe
15 B afe gl U&fur 3 3T 14 Y HURN: 8 3R 9 | WUl f3bar SIrar 3 @Y =41 ured ghm-

1. 15
2. 16
3.14

4.17

Correct Answer :-
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15

20) If 37 [X] 3 be a four digit natural number divisible by 7, then the place
marked as [X] will be the value:/ af¢ 37 [x] 3, 7 9 AU t& IR siFlg GBI @t
[x] & VI W T T T2

1.3
2.9
3.1

4.7

Correct Answer :-

7

21) The LCM of two numbers is 210 and their ratio is 2 : 3. The sum of these
numbers is:/ & WIS BT A 210 7 3R 3761 U 2 : 3 7 | 57 T3 HTANT 8-

1. 315
2.175
3. Can’t be determined,/[uifa =gl fovar o Tbar

4,210

Correct Answer :-

175

22) The population of a village is 2000, if there is an increment of 10% in the
first 2 years and 5% in the last three years then what will be the population

after five years (approx.)?/ fo<dt 7iTa ) w=TE=I 2000 8, afe 3TH ugd af quf o
10% 31 gfex &1 aum 3ifaw i< auf & 53w 5% #t 3fS g1, 9 $o ura aui & a1 39 717q B
SHET fa g SITEE? (@RTH)

1. 2500
2. 3200
3.3000
4. 2800

Correct Answer :-

2800

23)
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A, B and C working together can do a piece of work in 10 days. If A
takes twice as long as B and C together, B takes thrice as long as A
and C together how many days will C alone take to finish the work?/A,
B 3R C U6 FTH I TS ATV 10 A A Ha gl A, B 3R C &) o 1Y firee= fow
T JHY BT GRAT AT AdT 8 94T B, A 3R C & T 91 fArare: fore e aqwg &1
T[T 99 AT 8, 1 C 3/ d HTH B JHIW H | fHa-1 aw7dg aAm?

1. 34 days/34 f&a
2. 24 days/24 faa
3. 14 days/14 faA

4. 35 days/35 f&A

Correct Answer :-

24 days/24 f&A

24) Two partners invested Rs.50,000 and Rs.70,000 respectively in a
business and agreed that 70% of profit should be divided equally
between them and the remaining profit in the ratio of investment. If
one partner gets Rs.90 more than the other then the total profit made
in the business is:/ 3! YTgieR & fao9 § HHTT: ¥ 50,000 3R = 70,000
TR ¢ 3R 9 99 g1 & % A1 &1 70% 37 QI &) SRIER HRT & ge-1 T1fee | A
TH Y I ANTd & SFUTd & g7 A1 | afe Ugar Areier gk A 90 . 31 urar
2,41 faoa ¥ ga frar anv gan 8:

1. Rs. 1800
2. Rs. 2000
3.Rs. 1900

4.Rs. 1700

Correct Answer :-

Rs. 1800

25) A man can row at a speed of 5 km/hr in still water to a certain
upstream point and back to the starting point in a river which flows at
2 km/hr. The average speed of man for total journey is:/ Ea?él'l’c{ﬁ’f\_rﬁ
fRR 5@ A 5 Pt ver fr nfa A &R Twar 2, 98 ¥R & faudia ve e gt 9 nfa
T B 8 3R v wrufires fomg W aruw smar 81 afe ur ot aifa 2 fefiaverg @
3TeHY FY Fa I b SR ST T Fargd |

31
5

1
3_
1. 5km/hr/ " 5 fHI/AUe
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31
&

1
3_
2. "8 km/hr/ "~ & feH/AUe

41 41
5 km/hr/ 5 fHI/AUeT

1

km/hr/ﬁgﬁﬂ:ﬂ/EIUET

3.

61
4, €

Correct Answer :-

1

4l 4l
5 km/hr/ & feH/AUer
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Topic:- General Maths

1) 3

In what time the simple interest on a sum of money be 8 of the principal with rate of interest

125 % per annum?

3
fra T § el GEes ST WIUR TS 12.5% d1ii® saTe 35 43 & Gere o7 8 471 8 e

1.9 years/9 a¥
2. 3 years/3 d¥
3.6 years/6 1
4.5 years/ 5 G

Correct Answer :-

« 3years/3 a4

2) Which of the following is the greatest fraction?

fEAddgad s i e WA E?
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4275
3'9'8'12
7
18
4
2.3
2
3.9
5
4 12

Correct Answer :-

3) 24 men can complete a piece of work in 15 days. In how many days will
18 men complete that work?

24 T3Y TP HTH B 15 &A1 o [T H2 GFd &1 39 HTH Y 18 T fha- fe=1 § R
1. 16 days/16 faa
2. 25 days/25 fad
3. 20 days/20 fad

4.22 days/22 faa

Correct Answer :-

« 20 days/20 f&q

4) The cost price of an article is ¥420 and it is sold at a profit of 5 %, how
much would be its selling price?

TS a1 99 eI 3420 8 AUTIA 5 % & ATY U 991 74T| SHST fIehd gea 1 gRI?
1. 3430
2. 3450
3. 3437

4. 3441

Correct Answer :-

. 3441
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5) 20% of the total cost of a plot of area 395 sq. ft. is ¥78,210. What is the
rate per sq. ft. of the plot?

395 T Wi &APA F TH YTS & Yo BT 20%, 78,210 B | YES &1 ufd ol Wie g |
22

1.3990
2.3%1,000
3.3999

4.31,020

Correct Answer :-

« 3990

6) The average of 38, 50, 49, 54, 72, 87,y and 74 is 61. The value of y is:
38, 50, 49, 54, 72, 87, y 3R 74 &1 3d 61 1 y T W Ta1301|

1. 58

2.64

3.60

4. 62

Correct Answer :-

7) DIRECTIONS: What will come in place of the question mark (?) in the
following question?

fAdar: Fufafad uy A usaras e (2) & R R F1 3me?
V3721 ++/2704-7=82
1. 53

2. None of these/i’qﬁ@aﬂ%:@'
3.68

4. 24

Correct Answer :-

« None of these/s_rlﬁ‘vlfﬁ'sc:@'
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DIRECTIONS: What should come in place of the question mark (?) in the
following humber series?

e Frafifad uy & yyaras R (?) & R R 41 311 91fe?
1,?,27, 64, 125

1.8

2.4

3.6

4.9

Correct Answer :-

« 8

9) Divide Rs.7,500 among A, B and C such that A's share to B's share is in ratioof 5: 2
respectively and B's share to C's share is in the ratio of 7 : 13 respectively. How much will B
receive?

¥.7500 B A, B 3R C T 59 avg fautiora & {5 A ik B &1 fewar wa=n: 5:2 F quia d g
YT B 3R C H1 R HHRT: 7 : 13 & AJurd A &1| B ! fba=1 . yred gam?

1. % 7,000
2. % 2,600
3.% 1,400

4.3 3,500

Correct Answer :-

10) The length of the longest rod that can be placed in a room of dimensions 20 m x 20 m x 10
m is:

m?wa&msﬁﬁ,ﬁﬁzoﬁax 20 HieT x 10 HieT & ATYTH & FHY | 7@ T
Dl g

1. 25 metre/25 HieX
2. 40 metre/40 Hiex
3. 35 metre/35 Hex

4. 30 metre/30 Hiex

Correct Answer :-

e« 30 metre/30 Hiex
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18) Ratio of Sujeet’s present age to Sameer’s present age is 4 : 3. Sujeet will
be 26 years old after 6 years. Then the present age of Sameer is:/ﬁﬁﬂ?r&ﬁ?

TR Y I 3T BT ST HUM: 4 : 3 81 6 TH P I Foild 26 TH P &l AT, dF THR
B ada 3y fra 82

1. 18 years/18 Y
2. 24 years/24 CL
3.15 years/15 @8

4. 21 years /21 Gl

Correct Answer :-

15 years/15 ¥

19) A sum of money at compound interest doubles itself in 15 years. It will
become eight times of itself in how many years at the same rate of interest

per annum? /T Y-RIIT Ashqfeg saTel B1 &3 A 15 981 A SN &Y St B 1 78 fn fpem auf
T 3t arftie =1 &% & 8 T[T gl S

1. 60 years/60 a§
2.54 years/54aﬁf
3. 48 years/48 CL

4. 45 years/45 34

Correct Answer :-

45 years/45 a4

20) A started a business with Rs.45,000 and B joined afterward with
Rs.30,000. If the profit at the end of of one year was divided in the ratio 2 :
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1 respectively, then B would have joined A for business after how many
month?/A 9 T& TR &I J=3ATd § Rs.45,000 B Goil %1 3t 9T $© G0 916 B
Rs.30,000 fa=1 $% 39 TR H 11 g1 T afe U a¥ & ofd W 378 2:1 & Jurd & a1y
T g3 81, <t B fas a9y 91¢ SruR o =nfia gam?

1. 3 months/3 HIg
2. 2 months/2 HIg
3.4 months/4 Hig

4. 1 month/1 HIg

Correct Answer :-

3 months/3 HIg

21) The cost price of 18 articles is equal to the selling price of 15 articles.
The gain percent is: /3¢ 18 TGN BT AN Y4, 15 I 3M & 4.9 .F 1R 3, 9 wfa=a
TY [T B

1. 20%
2.25%
3.18 %

4.15%

Correct Answer :-

20%

22) The Betwa river flows through the states of - /Wﬁﬁ)‘vfﬂﬂl’f%tlw |

el 82

1. Only Madhya Pradesh/ ®%dd A& TRl

2. Madhya Pradesh and Uttar Pradesh/ T TR 3R IR Uy
3. Madhya Pradesh and Chhattisgarh/ O TG @T@T—ﬂﬂTﬁ

4. Madhya Pradesh and Rajasthan/ A& UeT 3R IS

Correct Answer :-

Madhya Pradesh and Uttar Pradesh/ Hed UeT 3R IR Ul

23) The LCM of two numbers is 1820 and their HCF is 26. If one humber is
130 then the other number is: /3 T3 BT @.F. 1820 TUTH.H. 26 &| TS T A&
130 g, df gO¥ B 91 B |

1. 364
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2.1690
3.70

4,1264

Correct Answer :-

364

24) In what time will the simple interest be 2/5 of the principal at 8 percent
per annum?/fhaa THI & 8% dIfYd =TS BT G A ATYRT TS, GAYH BT 2/5 TRN?

1. 7 years/7 G
2. 6 years/6 G
3.5 years/5 L

4. 8 years/8 G

Correct Answer :-

5 years/5 GL e
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27) A and B can do a piece of work in 10 days, B and C in 15 days and C and
A in 20 days, then C alone can do the same work in how many days? /A ddTB

TP PTH P! 10 feAi &, B 3R € 15 A d au1 € 3R A 20 & & & J&d 8,41 C a1 39
T B! fhaq foal § @ Ham?

1. 120 days/120 faq
2. 60 days /60 &=
3. 30 days/30 fad
4. 80 days /80 fa

Correct Answer :-
120 days/120 feq
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33) Two persons enter into a railway compartment in which 6 seats are

vacant. In how many different ways can they sit?/ﬁﬁﬂ@ﬁ%%@ﬁm
g, forad 6 Hie @l 7 19a1sd d fvam - 1o R 9 96 99d 82

1.6

2.12
3.30
4. 36

Correct Answer :-

30
Page 23
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37) The average weight of 15 men in a boat is increased by 1.6 kg, when one
of the men, whose weights 42 kg is replaced by a new man. Find the weight
of the new man (in kg)./15 T1f3d®! &7 3T 9o 1.6 fF.U1. ¢ @18, 59 42 .

oI 9Td TS ATfAP & I¢al Teb 4T ATfa e 3T ST 8, df 92 A1fde &1 asi= (7.1, #) gra & |

1. 67
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2. 66
3.65
4.43

Correct Answer :-

66
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45) A, B and C can complete a piece of work in 12, 24 and 36 days
respectively. A and B will together complete the same work in how many

days? / A, B 9T C {5t &9 &) $HM:12, 24 TUT 36 fe-f # H3 TFd 8,1 A 3R B QY
firae 39 & &I fhaq fa= & g +397

1. 4 days /4 fa
2.5 days / 5 f&A
3.6 days / 6 fad
4.8 days / 8 a1
Correct Answer :-
8 days/ 8 faa
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49) If two times of A is equal to three times of B and also equal to four times

of C, then A:B:C is:/df¢ A HTaN[AI, B & fai[H 9 C & IR T & SRS &, dl A:B:C FT
3UTd Td BY |

1.6:4:3
22:3:4
3.3:4:2
4.4:6:3

Correct Answer :-
6:4:3
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58) 4% x (2¥)2+ (8% x (3)%2x 4%) =2

158
1. 3

256
2. 9

3.28
4, 24

Correct Answer :-

256
9

59) If a: b: ¢ = 3:4:7, then the ratio (a +b+c): ¢ is equal to:/'q% a:b: c=3:4:7 3-1, a (a +b+c) : ¢ JATd

oy

1.14 : 3
2.7 :2
3.2:1
4.1:2

Correct Answer :-

2:1
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61) If an article is sold at 5% gain instead of 5% loss the man gains Rs.5 more. Find the cost price of

that article. /e TP SfHRT TP a8 B 5% T B TGA 5% TH U I9dT1 8, a1 3 5 T 3D
T 314 €, a1 a%g BT aNTd Jed 71 Be |

1. Rs.105
2. Rs.100
3. Rs.50

4. Rs.110

Correct Answer :-

Rs.50

62) A mixture of 30 litres contains milk and water in the ratio of 7 : 3. How much water should be
added to it so that the ratio of milk and water becomes 3 : 72/30 WeX & TP YOI & QY 3R gt
BT U 7 : 3 81 g 3R T BT 3UTd 3 : 7§91 & fore 39 fova=1m it freman wimg?

1. 49 litres/49 T
2. 40 litres/40 TleX
3. 63 litres/63 Eﬂaq

4, 56 litres/56 F“E?

Correct Answer :-

40 litres/40 Eilaz

63) A train is moving with the speed of 180 km/hr. Its speed in meters per second is:/Jdh %11113‘1 180

faeit/der 31 wfar & = w6 81 SHet nfa WA, A feah gt
1.50
2.5
3.40

4. 30

Correct Answer :-

50

64) The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m,

then its area is:wmﬁmﬁ&ﬁ?aﬁ?ﬂéﬁzsﬁamamﬁw%ammuhmuzomﬂa
g1 &wa T2

1. 1520 m?/1520 Hi?

2. 2480 m2/ 2480 2
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3. 2420 m?2/ 2420 H2
4. 2520 m2/ 2520 #2

Correct Answer :-

2520 m2/ 2520 #i?

< Download Free Study PDF —
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99) If AABC is an isosceles triangle with £c=90° and AC = 5 cm then AB is:/af¢ AABC TP
Tufgarg Ay 8,/ I®T 1T 2c=90° 3R AC = 5 Tt 8, a1 AB T1d Y|

1.5 cm/ 5 94t
2.2.5 cm/2.5 94
3.10 cm/ 10 94
4.5V2 cm/5*'“'§ BSL]
Correct Answer :-

= 5]
5V2 cmy5Y 2 Jeft

100) The length of a rectangular hall is 5 m more than its breadth. The area of the hall is 750
mZ2. The length of the hall is:/f&} SMAATPR gTa $! TS ITP! ASTs A 5 Hiex 3w g1 gTd &1
&wa 750 W2 3| gia B TwaTg 91d Y|

1.15 m/15 HI.

2.25 m/25 H.
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3.22.5 m/22.5 HI.

4.30 m/30 Ht

Correct Answer :-

30 m/30 |

< Download Free Study PDF —

pebexam.blogspot.com
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14) A sum of money invested at compound interest amounts in 3 years to
Rs.2,400 and in 4 years to Rs.2,520. The interest rate per annum is: /&3

4RI aiffer ashgfs FaTe @1 GX A 3 96l A Rs.2400 YT 4 a6l A Rs.2520 & 9 8,
I TS &% AT 82

1.12%
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2.6%

3.5%

4.10%

Correct Answer :-

5%
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20) A and B can complete a piece of work in 8 days, Band Ccando itin 12

days, C and A can do it in 8 days. A,B and C together can complete it in: /A
B fFfiem e s APt add 31 B IR C S FM ol 12 AT A HR AP BIC 3R A

S &TH B 8 faAT A FYAHA §, a1 A,B 3R C Frad? 39 o oI fora i & e
1.4 days/4ﬁ‘*[
2.5 days/5ﬁ_"l
3.7 days/7 f&A
4.6 days/6 fa71

Correct Answer :-

6 days/6 faA

21) If the cost price of 25 chairs is equal the selling price of 30 chairs, then

the loss % is:/af¢ 25 HRIA &1 ard o4, 30 FRiAT & e g & e 8, a@f g1
wfa=ra forar 32

1. 20%

Page 36



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

2.25%
3.16.66%

4. 5%

Correct Answer :-

16.66%

22) If the selling price of 16 items is equal to the cost price of 20 items, then
the gain or loss percent is:/ 16 a¥g3fi &1 fahd o0 20 T3 & AN oI & TR
8, ot ufo=ra @y ar g1 91a ®e )

1. Loss of 4%/ 4% 1 gI
2. Loss of 20%/20% &t g1+
3. Gain of 25%)/ 25% &I dlH

4. Gain of 20%/20% T dlH

Correct Answer :-

Gain of 25%/ 25% &I diy
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27) What sum will amount to Rs.7,000 in 5 years at 8% simple interest per

annum? /¥ 01 &1 fages 5 qul § 8% a1ffes ATURY §IT T g | 7,000 F4d 7
STQT?

1. Rs.6000
2. Rs.6300
3. Rs.5000

4. Rs.6500

Correct Answer :-
Rs.5000
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31) The perimeter of the top of a rectangular table is 28 m, whereas its area
is 48 m2. What is the length of its diagonal? /&l MAATER A B! Jdg & SHUR

&1 ufkaTg 28 Hiex 8 9uT gwa 48 Wiew?2 B 1 fawl 3t wvarg wa 31|
1.10 m/10 HI.

2.12.5 m/12.5 Ht.

3.12 m/12 Hi.

4.5 m/5 4.

Correct Answer :-
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10 m/10 .

32) On which planet’s movements does the Simhastha depend?/ Rig®i fea ug
ot nfafaftrl w AR 82

1. Saturn/ 94 Ug
2. Jupiter/ §gHfd U8
3. Neptune/ 911 Ug

4. Mars/ H1d U8

Correct Answer :-

Jupiter/ 8Hd U8

33) The average weight of 15 students in a class increases by 1.5 kg when
one of the students weighing 40 kg is replaced by a new student. What is
the weight (in kg) of the new student?/15 faenf¥al &1 3fwd aui= 1.5 P aeg
STdT 8, 919 40 5 &t faendf & ve Tar faandf uforqurfia owar 81 2 faemeff &1
IO JTd B

1. 64.5 kg/64.5 four
2. 60 kg/60 fobur
3. 56 kg/56 b3

4.62.5 kg/62.5 f&in

Correct Answer :-

62.5 kg/62.5 fdbir
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The sum and product of two numbers are 10 and 24 respectively. The sum of

their reciprocals is: /gl GBS ST TGS TUT U HHRT: 10 TUT 24 §, A 376
h Ul BT AT B:

12
4 11

Correct Answer :-

5
12
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39) X starts a business with Rs.25,000. After 4 months Y joins him with
Rs.20,000. What will be the ratio of their profit at the end of the year?/X S|
25,000 TUY P Goil FA%1 P TP ATUR IR fHATI 4 T8 & 918 Y, 20,000 U (A% #5239
HTYR § A g1 TATI 19 B a4 & 3 H 3¢ 6 rgura & ey fawm?

1. 3:2
2.1:2
3.15:8

4,7:5
Correct Answer :-
15:8
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43) In how many different ways can a person get his two guests stayed in 9
rooms, when only one guest is stayed in one room? / f&aq fi- A yoRI A

PIs AfRT g4 &Y fafial B 9 FHRI A S8 HhdT 8, TafP Tp HHY A dhad e 3ffafy &I

ST T?

1.72
2.6

3.36
4. 81

Correct Answer :-

72

44) 15 litres of a mixture contains alcohol and water in the ratio of 1:4. If 3
litres of water is mixed in it, the percentage of alcohol in the new mixture

will be:/15 e fgur & Ta@ied iR U &1 3MUTd 1:4 81 9f¢ 399 3 fiex urt fran
fear sran 2, @ ¢ fryor A vewiea &1 wfowa aarei|

1.17%
2.16.66%

3.15%

181%H
4. 27

Correct Answer :-
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16.66%

45) Area of square with diagonal 82 cm is: /8" ¥t i@l ard o°f &1 d7wa 3@
I

1. 64 cm?/ 64 IHi2
2. 56 cm?/ 56 JHI2
3.29 cm?/ 29 Jw2
4,128 cm?/ 128 q2

Correct Answer :-

64 cm?2/ 64 IHI2

46) A man can do a piece of work in 5 days, but with the help of his son he
can do it in 3 days. In what time can the son do it alone?/T® 3fa f&dt wrd
&1 5 3 o &% T@ar 8, Afe 3= g7 3t Tgar A 95 SHFm Bt 3 i A p qar g,
T 3BT 39 $TH &I fraq fa= § R1 H7 G 82

1. 7.5 days/7.5f¢q
2. 8 days/8 fa1
3.7 days/7 faa
4.6 days/6 &

Correct Answer :-

7.5 days/7.5f&q
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56) The ratio of present ages of Geeta and her mother is 1: 5. After 7 years
the ratio will be 3: 8. What is the present age of Geeta? /1 3R IS AT P
AT 3T BT 3UTd 1:5 81 7 T9 91, T U IGaH 3:8 g AT | fiar &t aeur 3myg
T E?

1. 7 years/7 ay
2. 6 years/6 L
3.5 years/5 G

4. 8 years/8 ay

Correct Answer :-

5 years/5 G

57) The ratio of two numbers is 3: 8 and their difference is 115. The smaller
of the two numbers is: /<l T3l &7 3JUTd 3:8 2 3R I 3R 115 g, 379 4 B
AT T B |

1.194

2. 69

3.59

4,184
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Correct Answer :-

69

58) A 75 metre long train is moving at 20 kmph. It will cross a man standing

on the platfrom in:/T&% 75 Hiex Tl Y, St 20 fHHt/ger &t nfa A 9 6 8,
WehH R TS U Afed ) UR B34 | foba=r a0y afi?

1. 14 seconds/14 &S
2.15.5 seconds/15.5 963
3. 12 seconds/12 &S

4.13.5 seconds/13.5 ¥&S

Correct Answer :-

13.5 seconds/13.5 ¥&S

59) Bhoorsingh the Barasingha is the official mascot of — / YRRig IRRAET HA-
| T I BT ANTIBTRS JHPR 72

1. Panna National Park/tlﬂTTI@TlB?ﬂ:f

2. Pench National Park/a'%[Tr@HB?]Ff

3. Kanha National Park/ﬁ%TT@UBEIFT

4. Bandhavgarh National Park/ Si¥aiTg I§1a e

Correct Answer :-

Kanha National Park/ STgT I§1d el

60) ((0.1)% — (0.01)? B
{ 0.0001 }+ 1=?

1.110
2.100
3.1010

4.101

Correct Answer :-

100

61)
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2| 729
N 0.4096

1.13.6
2.5.625
3.0.5625
4,182

Correct Answer :-

5.625

62) Which of the following is the largest fraction?/fA 1 # | 9aH a:‘ﬁ = o 3t %?

Correct Answer :-

63) The HCF of two numbers 12906 and 14818 is 478. Their LCM is:/&l @AY 12906 3T 14818 BT
HY.478 ¢, A A.9. Ad B}

1. 800172
2. 200043
3. 400086

4. 600129

Correct Answer :-

400086

64)
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IfA:B=2:3,B: C=2:4and C:D=2: 5,then A:D is equal to:/df¢ A:B=2:3,B: C=2: 4 3R C:D=

2:5%,?‘?[A:DWW%:

4.2:15

Correct Answer :-

2:15

65) The speed of a bus is 72 km/hr.The distance covered by the bus in 5 seconds is:/TP dH CIKIIG

72 fodfi/eieT 8| 999 gRT 5 Adhs W a9 o1 Y gt Fanw|
1. 60 m/60 H.

2.74.5 m/74.5 9.

3. 100 m/100 H.

4. 50 m/50 HI.

Correct Answer :-

100 m/100 Hi.
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99) When 60 is subtracted from 60% of a number, the result is 60. The
number is:/fH TBIT & 60% A | 60 T TR URUTH 60 31T 7, O IS FT 3?2

1. 200
2. 180
3.150

4,120

Correct Answer :-

200
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16) Shyam'’s present age is 3 times as his son. After 10 years, the sum of
their ages will be 76 years. Then the present age of Shyam is:/ TMH CARCRLIE|
3T, 3 T & & 1 8 10 T a1, 3T 3G BT TN 76 T §) S| ATH Bt a0 31 8:

1. 42 years/42 G
2. 45 years/45 GL
3.39 years/39 @§

4.47 years/47 98

Correct Answer :-

42 years/42 ¥

17) A can complete a piece of work in 6 days while B can complete the same
work in 12 days. If they work together and complete it then, the portion of
the work done by A is:/A T& T &I 6 fal & W Hear1 8, 9afe B A s o112 f&
B wedT 2 1afe Y ATy HTH FIb BT T B4 8, a1 A = fraan fewan &1 fFar

1
1.4
1
2
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| b

Wil =

4.

Correct Answer :-

18) 18% of which number is equal to 12% of 75?/fFd HBT BT 18%,75 P 12%
& SRTER gHI?

1.2
2.50

3.100
3

4.2
Correct Answer :-

50

19) Narmadapuram was the earlier name of the district of - / T-Iﬁ&'l‘g@[mﬁl@f
BT YYH ATH YT?

1. Shajapur/ RISITYR
2. Balaghat/ dTdTdTC
3. Hoshangabad/ gIRITETG
4. Singrauli/ﬁi’ﬂﬁ?ﬁ

Correct Answer :-

Hoshangabad/ gI=ITETg

20) The LCM of two numbers is 1920 and their HCF is 16. If one of the
numbers is 128, find the other number./&’fﬂ"@wﬁmﬁ.ﬁ.wzo%HQH'H.H.M%I e
TP HSIT 128 §, A1 goR WS 91 B |

1. 320
2. 260
3. 240

4. 204
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Correct Answer :-

240

21) Two partners X and Y start a business by investing Rs.50,000 and
Rs.40,000 respectively. What will be the ratio of their profits at the end of
the year?/X 3R Y 7 T&% TUR & HUIM: Rs.50,000 TUT Rs.40,000 B Goit fHa=r 3t | ad &
3 ® 3-8 for argura & &y frawm?

1.1:4
2.1:2
3.5:4

4,2:5

Correct Answer :-
5:4
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24) A and B can separately do a piece of work in 9 days and 18 days
respectively. How long will they together take to do the work?/ A dYT B 3l
3T fHd} HTH & HHR: 9 TYUT 18 371 A H gHd B, a1 ) e 39 w1 &) fraq i o
TR ghd 8?2

1.9 days/ 9 f&A
2. 18 days/18 fa=
3.10 days/10 f&A
4.6 days/6 fa-

Correct Answer :-

6 days/6 faA

25) If the length and breadth of a rectangle are in the ratio of 3:2 and its

perimeter is 20 cm, then the area of the rectangle (in cm2) is: /ot emad &t
TSI IYUT ASTS BT U 3 : 2 3 TUTIRHATT 20 A} B | AT BT AABA 1A HI|

1. 24 cm?/24 IHP2
2. 36 cm2/36 JHI2
3. 12 cm?/12 qH2
4. 48 cm?/48 T2
Correct Answer :-

24 cm?2/24 I

26) If the circum-centre of a triangle lies outside it, then the triangle is: /3¢

AABC T 3Tg &= AYs & a1ev 8, a9 Ay 8:
1. Obtuse angled/ 3ffd® HIvT

2. Acute angled/ﬂiﬁaﬁ'ﬂT

3. Right angled/ﬂﬂﬁm

4, Equilateral / 9HdTg

Correct Answer :-

Obtuse angled/ 319 iUl
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29) A bus moving at a speed of 45 kmph overtakes a truck 150 meters ahead
going in the same direction in 30 seconds. The speed of the truck is:/ 45 f&dl/

HeT 3t Tfd A Tad §4 U 99, W4 ¥ 150 HieX 3 o138 TP DI UR B H 30 GHUS BT J0I
<l 81 P Dt A I |

1. 24 kmph/24 f&Hl ga
2. 28 kmph/28 forHl/ geT
3.27 kmph/27 &l ger

4. 25 kmph/25 fadl gaT

Correct Answer :-

27 kmph/27 feHl ger
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32) What sum of money will amount to Rs.520 in 5 years and to Rs.568 in 7
years at simple interest? /&9 Al ¢ I ATUROT q1e1 V 5 90T H 520 = 3R 7 q6F A
568 ©U gl SN2

1. Rs.510
2. Rs.400
3. Rs.220

4. Rs.120

Correct Answer :-

Rs.400
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35) Two persons enter into a railway compartment in which 5 seats are
vacant. In how many different ways can they sit?/ﬁﬂﬁﬂ@%ﬁ%%@ﬁﬂ'ﬂﬁ
2, forad s 3die @ret 81 30133 3 fam - i o @ 95 9@d 82

1. 20
2.6
3.12

4. 36

Correct Answer :-

20

B | LA LR ba| =

LAl b

Correct Answer :-
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38) The average weight of 20 students in a class is increased by 0.75 kg
when one student of 35 kg is replaced by a new student. weight of the new

student (in kg) is: /20 faeamRiaY &1 3id awi= 0.75 {53 9¢ w1an 8, o9 ue faemdf e
oI 35 51 € &) v o=y faenf gy ufamnfue forar sirar 8, = faen<ff &1 9w+ ya &3

1. 40 kg/40 f&un
2. 45 kg/45 T
3. 50 kg/50 foun
4.35kg/35 o

Correct Answer :-

50 kg/50 foour

39) By selling an article for Rs.105,a trader losses 9%. To gain 30% he

should sell the article at:/wmwaﬁﬁﬂﬁ 105 Wﬁﬁm%, a3 9% FI
T g1t 81 30% TTH UM & T 34 avg 3! frd fvua wr ag= anize?

1. Rs.150
2. Rs.126
3.Rs.144

4. Rs.139

Correct Answer :-

Rs.150
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46) A copper wire is bent in the form of a square with an area of 121 cm?2.If
the same wire is bent in the form of a circle, the radius (in cm) of the circle

22
is (Take, " 7)) 1/ Rt e 3 e g v e a1 90 81 92
ot T B g & w0 A et o, A qa A Bem gy 7
1.8
2.7
3.12
4, 14

Correct Answer :-

7

47) A train passes two bridges of lengths 800 m and 400 m in 100 seconds
and 60 seconds respectively. The length of the train is:/WWﬁgﬁw
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TS T HHTT: 800 HICR TUT 400 HICT § B UR B A HHI:100 DHUS dUT 60 APUS HT IAY
Ad R 1 TS Y aTe fpaet 22

1.200 m/200 #t.
2. 80 m/80 HI.
3.90 m/90 HI.

4. 150 m/150 Hi.

Correct Answer :-

200 m/200 .

48) A mixture of 80 liters of wine and water contains 60 percent wine. How
much water must be added to make it 50 percent wine in the new mixture?/

AT 3R =T a1 80 TR FUYOT H 60% AfeRT 21 fod=m urit firemar sire aifes Au fayor &
AfERT 50% B2

1. 18 liters/18 @icx
2. 12 liters/12 @i}
3. 20 liters/20 T
4. 16 liters/16 diiex

Correct Answer :-

16 liters/16 e

Page 60



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

61) The ratio of A to B is 4:5 and that of B to C is 2: 3. If A equals 800, then C
equals:/ A 3R B T 3JUTd 4:5 8 4T B 3R C BT 3T 2:3 31 IS A HT AT 800 §, °f C BT
U {1 DR |

1. 1200
2. 1500
3. 2000

4. 1000

Correct Answer :-

1500

62) The ratio of the cost price and selling price of an article is 20: 21. What is
the gain percent? /& 9% & AT Yed YT fashd Yo &1 31Ut 20: 21 §, at @Y
wfa=ra 91d B

1.5.5%
2. 6%
3.5%

4, 6.25%
Correct Answer :-
5%
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64) At what percent per annum will Rs.3000 amounts to Rs.3993 in 3 years
,if the interest is compounded annually?/mmmaﬂaﬁsooo FW&, 3qid

3993 &UY gl SITQt, afe Iehqfes STt arfie g &2
1. 9%

2. 10%

3. 11%

4. 13%

Correct Answer :-

10%

65) 1 = [1+1+{1+1+(1+ 1+ 2)}]=?
1.3

2.2

b | =

>
ol

Correct Answer :-

5
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16) 4 bells ring at intervals of 30 minutes, 1 hour, 1 hour 30 minutes and 1
hour 45 minutes respectively. All the bells ring simultaneously at 12 noon.
They will again ring simultaneously at: /4 dfeai A 30 fiFe, 1 9aT, 1 9e130
e auT 1 YeT 45 e & sivma R aordl 3 | It eReai tr Wiy 2 st QlugR A geit @), df a
U: TS 914 Hd Folvir?

1.9 am./ Gaigd 9 ol
2.3 a.m./qﬁ'eﬂ 3§
3.6 a.m./ Jdig 6 ¥
4.12 a.m./ qdie 12 S

Correct Answer :-

9a.m./U§ﬁB¢[9@|@f
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If a train with a speed of 60 km/ hr crosses a pole in 30 seconds, then length
of the train (in metres) is:/60 f&H/ger #1 7fd A Td G TH VNSt TP @Y &I UR
P A 30 YHUS BT JHY Al 81 YIS B dvaTs Hiex H arsd |

1. 750
2. 1000
3. 500

4. 900

Correct Answer :-

500
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27) The radius of a circular wheel is 1.75 m. The number of revolutions it will

make in travelling 11 km is: (MEﬂ =$)/Wqﬁuwl%ﬁ25ﬁﬁm 1.75 'Fﬁt?%l 11
Reeft wrerd & ufied g1 A Y T TR F wEn R (=)

1. 800

2.1200

3.1000

4. 900

Correct Answer :-

1000
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34) By selling an article for Rs.72 there is a loss of 10%. In order to gain
5%, its selling price should be:/ T& I &I 72 T3 & 94 W 10% ! g gielt |
5% TTH U & o 39 frw fvma wr sa- wnfge?

1. Rs.85
2. Rs.84
3. Rs.80

4, Rs.87

Correct Answer :-
Rs.84

Page 67



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

39) A can do a piece of work in 4 days and B can do it in 12 days. In how
many days will they finish the work, both working together?/A ot dH Bl 4
fe # aur B I B 1 12 fe A B Ipd B, 9 S FAae? ue 1y I o6 Y fovaq fe
G HI?

1. 4 days/4 fa=
2.2 days/2 fad
3.3 days/3 fad
4. 6 days/6 fad
Correct Answer :-
3 days/3 fa1
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41) 5 years ago, the average age of P and Q was 15 years. Average age of P,
Q and R today is 20 years. How old will R be after 10 years?/ 5 94 Uga P 3{R Q
Bt 3d 3y 15 T 1 P, Q 3R R Tt adur 3iaa 3my 20 awf 1 10 a9 91¢ R @Y Mg 1
B9

1. 50 years/SOGﬁ

2. 30 years/30 CL

3. 40 years/40 ¥

4. 35 years/35 a¥

Correct Answer :-

30 years/30 ¥
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44) If 10% of m is the same as 20% of n, then m : n is equal to:/afe m &1
10%, n & 20% & SRIEX g, @ m : n BT A T2

1. 2:1
2.1:20
3.1:5

4,1:10

Correct Answer :-

2:1

45) A copper wire is bent in the shape of a square of area 81 cm?. If the
same wire is bent in the form of a semicircle, the radius (in cm) of the

22
)/Waﬂaﬁwaﬁ$wﬁm@wmmsuﬂaﬂ

HSE’IT=?
22)
m=—

semicircle is(
uﬁwﬁmﬁaﬁa%wﬁﬁamjﬁa{maﬂﬁmmﬁi 7
1.7

2.126

3. 10

4. 14

Correct Answer :-

7

46) A number is doubled and 9 is added. If the resultant is tripled, it
becomes 75. What is that number?/ T& IBIT B SRAT 3P W 9 ST ATaT 3| Tl
giomd @) i AT R T, 99 YWAT 75 & IRIER B ATl 3] WS 3:

1.12
2.35
3.6

4.8

Correct Answer :-

8
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47) A, B and C invest Rs.47,000 in a business. If A invest Rs.7,000 more than
B and B invest Rs.5,000 more than C, then out of total profit of Rs.4700, C
receives:/ A, B 3R C 3 T ATUR T $d 47000 =0 $t Yoit fAa=r #11afe A 3 B J 7000
FUd 3w 9YT B A € W 5,000 T4d 3ifte a1 fbg, dt 4700 08 & o a1y & € &1 fgwan
ICET]

1. None of these/%’lﬁ@ﬁlﬁ'scﬂﬁ

2.Rs.1200

3. Rs.4500

4. Rs.1000

Correct Answer :-

Rs.1000

48) 1¢ Np;= "p,, then find the value of n./df¢ "P3= "P, B, @ n T A JTd P
1.3
2.7
3.9

4.5

Correct Answer :-

3

1
) A truck travels at 90 km/hr for the first 12 hours. After that it trvels at 70
km/hr. Find the time taken by the truck to travel 310 kilometres./U® ¢® 90
1

i eieT Ft 7f | Ugd 12 U T TodT 31 3P 918 98 70 fHHii/der # nfa A aear g1 TH B
310 foreit ot g8 a0 A | o fba=n T T@hme?

1.4 hrs/ 4 He
2.3 hrs/34¢
3.2.5 hrs/2.5 ¢
4.3.5 hrs/35%¢

Correct Answer :-
4 hrs/ 4 He
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58) At what rate per cent per annum will Rs.8000 amount to Rs.8820 in 2
years at compound interest?/ maﬁwm@maﬂa@rsooowrazaﬁﬁ 8820
I g STeT?

1. 8%
2.9%
3. 7%

4. 5%

Correct Answer :-

5%

59) At what rate percent per annum will the simple interest on a sum of
money be 2/5 of the principal in 10 years?/mmmmﬁﬂﬁw
IRT 7 10 TUT A WIYROT TS FAUH BT 2/5 N2

1. 4%

-
s

2. 63%

3.6%

4, 550/0

Correct Answer :-

4%

60) 180 x 15 — 12 x 20 __
140 x B + 2 X 55

1.4
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== N

LA o

Correct Answer :-

2

61) 4% x 243 .
516 ¢

4. 32

Correct Answer :-

54
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66) A mixture of 70 liters of wine and water contain 10% water. How much
more water should be added to the mixture to make 37% water in the resulting

mixture?/70 WX UTHT 3R IR & AYT & 10% =t 21 39 fAryor & fra=m urht o fareman
WTe f QR A1 § 379% urHl gt \ire?

1. 27 litres/27 @iex
2. 18.9 litres/18.9 @}
3. 30 litres/30 Tiex
4. 37 liters/37 |icx

Correct Answer :-

30 litres/30 @R
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90) A and B can complete a piece of work in 15 days and 10 days respectively.
They contracted to complete the work for Rs.30,000. The share of A in the
contracted money will be:/ A 3R B Wmﬁmnsﬁ:ﬁmn 10 ﬁﬁw?ﬁ’
TPHd g1 381 Rs.30,000 T TH ST DI TH B BT ST o, af o AT o & A F7 g
foa=T g

1. Rs.16,500
2. Rs.18,000
3. Rs.12,000

4. Rs.12,500
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Correct Answer :-
Rs.12,000
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94) In the given figure, ~ADB=?/feT e R #, ~.ADB T HH 8-

1. 144°
2.132°
3.96°

4, 48°

Correct Answer :-

132°
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100 5 A= 75%of B =06 of C, then A: B: Cis:/af$ 3A = B $T75% = 0.6 C, 99 A: B : C JId
2l

1.3:4:5

2.2:3:2

3.4:5:6

4,9:8:10

Correct Answer :-

9:8:10
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11) Ratio of present age of Rohit to Mohit is 2:3.Rohit will be 20 years old
after 8 years. Then the present age of Mohit is:/fgd aﬁ?ﬁ%ﬁcﬁﬂ?&meﬂgm
ST HT: 2:3 31 8 99 a1g fed 20 a9 &1 5N eI, aY MifRa Y adur oy fpaet 32

1. 18 years/ 18 a9
2.16 years/ 16 ¥
3. 24 years/ 24 ay

4.21 years /21 9§

Correct Answer :-

18 years/ 18 ¥
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36) In how many ways can a man and a woman be chosen out of 10 men and

8 women?/ 10 T&Y 3R § uiganaii & I T =W 3R TP Afed b YoR I g4 o G&d
a2

1.18

2.80

3.40

4.10

Correct Answer :-

80
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45) ( 3 3
{545 X272 + 8“’} =7
1
1.2
2.1
3.0
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4.2

Correct Answer :-

2

46 1 1 1 5yt
) (100)% x (0.001)% — (0.0016)% x 3° + (?1) —7
1.1.6
2.1.0
3.0.8

4.0

Correct Answer :-

1.6
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50) In how many years will Rs.1,800 amount to Rs.2,178 at 10% per annum
when compounded annually?/f&aq auf # Rs.1,800 1 A 10% TS Thgls A=
PTG A Rs.2,178 T T2

1.2.5
2.3.5
3.2

4. 3

Correct Answer :-

2
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53) A train 300 metres long is running at a speed of 25 metres per second. It
will cross a bridge of 200 metres in:/U® Sooﬁﬁﬁﬁm 25 WA, & fd | ged
§Y 200 Hiex At qae®r & IR 4 | faar aug a2

1.5 Seconds/ 5 &S
2. 10 Seconds/ 10 9%
3. 20 Seconds/ 20 ¥&S

4. 25 Seconds/ 25 &S

Correct Answer :-
20 Seconds/ 20 ¥&s
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56) The ratio of two numbers is 10 : 7 and their difference is 105. The sum of

the:%numbers is: /3! TBATSAT BT 3IUTd 10 : 7 8 3R IAHT 3(aR 105 8, A T3 BT AR
BICEad

1. 805
2.1190
3.1610

4. 595

Correct Answer :-

595
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62) The sum of three consecutive odd natural numbers is 147, Then the
middle number is:/afe fo=gl T4 HaTFTT faww wipa G@ma o1 9N 147 7, i a4 arat
| ght:

1. 49
2.50
3.51

4. 48

Correct Answer :-

49

63) While finding the average of 10 given numbers a student, by mistake
wrote 64 in place of a nhumber 46 and got his average 50. The correct
average of the given numbers is:/ o faendf S 10 T3 @71 3 ad Fa HRa1 3, @
I T BRUT 46 b JAT R 64 forg a1 8, YT 37RIT 50 UTed Bl 2] Wl SN J1d Piforg|

1.48.2
2.49.1
3.49.3
4.48.5

Correct Answer :-

48.2
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65) The cost price of 12 articles is equal to the selling price of 8 articles. Find
the profit/loss percent./ 12 aXg3ii &1 AN I, 8 aeg3N @t fIsvd o0 & R 2
Ty g1 ufer=ra ra piforg|

1. 30%
2. 50%
3.40%

4. 20%

Correct Answer :-

50%

66) The pH of human blood is amount?/ HIFd Y& &1 pH HTH &1 8141 8?2
1.3

2. 12

3.6

4.7.5

Correct Answer :-

7.5

67) A shopkeeper mixes two varieties of rice purchased at the rate of Rs. 35
per kg and at the rate of Rs. 28 per kg respectively. If he sells the mixture at
the rate of Rs. 36 per kg and gains 20%, then the ratio in which the two
varieties are mixed is:/ T® gHMER ¢l UHR & ATGal DI HHT: 35 F./fHUT. 3R 28 &/
fur. Y g & Wdaar 2| aft a8 5 Freur &Y 36 .61, A= 2,8 20% BT ATH UTW ST 2|
o1 1 SrguTa T &, Forad gt arael &t fremar g 2

1.5:3
2.4:7
3.2:5
4.7 : 4

Correct Answer :-

2:5

68) What would be the simple interest obtained on an amount of Rs.6,535 at
the rate of 10 % per annum after 6 years?/6 94 i 10 % dIY® IS $1 &3 I
6,535 ¥. B MR W ATYRYT 11 foaar framm?
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1.Rs.3414
2. Rs.3149
3. Rs.3807

4. Rs.3921

Correct Answer :-

Rs.3921

69) Maize grain is?/ AP 1 ST TSI 8?
1. Fruit/ tdl

2. Embryo/ U 3{ST]

3. Seed/ U §isl

4. Ovule/ T SINUS

Correct Answer :-

Fruit/ ®d

70) The HCF and LCM of two numbers are 13 and 455 respectively. If one of
the numbers is 65, then other number is:/ & Y@M HTH.Y. T T.9. HA: 13 TUT

455 81 9f¢ U @ 65 7, dl gl TEIE:
1.91

2.104

3.78

4,117

Correct Answer :-

91
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80) Pawan and Raman started a business by investing Rs.18000 and
Rs.25200 respectively. What is the share of Pawan in the profit of Rs.8640
earned at the end of the year?/Ud- d YH hHXI: Rs.18,000 d Rs.25,200 o=
PP TP qUGITT JR= Hd ¢ | a9 & 3id W @Y Rs.8640 g1 U= &1 a1y & fgqan fa=n

?

1. Rs.3100
2. Rs.3600
3.Rs.2700

4. Rs.3250

Correct Answer :-

Rs.3600
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82) If M% of x is y and N% of y is x, then:/afe¢ x $TM% y & 3Ry BTN% x T,

1. N =100

E
2.M =100
3.MN = 10000

4. M+ N =100

Correct Answer :-

MN = 10000
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86) A and B can do a piece of work in 10 days, B and C can do itin 12 days. C
and A in 15 days. In how many days will c finish it alone?/A 3R B frft srH 1
10feTd, BRCci2feidaurc 3R A 15 i A wr T@d 8, af C 3rben H19 B fvaq
o & e Hem?

1. 30 days/ 30 faA
2. 24 days/ 24 faq
3. 60 days/ 60 &=

4. 40 days/ 40 faq

Correct Answer :-

40 days/ 40 faq

87) A and B together can do a piece of work in 12 days, While B alone can
finish it in 30 days. A alone can finish the work in how many days?/ A 3R B

fraex el &1 12 R & FY FPd &1 FafP B 3P T 39 BT &1 30 fe-) & I B
THdr e, dl A APl 3T HTH B fbaa =) & gaTed H3I?

1. 25 days / 25 f&q
2. 15 days/ 15 fad
3.20 days / 20 faA

4. 18 days/18 f&A

Correct Answer :-

20 days / 20 faA
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92) In the given figure, O is the center of the circle and £ACB = 30°. Find
<AOB./fRu TR R ¥, O 91 T H= & 9YT 2ACB = 30° g, dl LAOB &1 HF JTd B

1. 90°
2. 60°
3.30°

4. 50°

Correct Answer :-

60°

93) If water in a lake were to behave like other liquids, then in extremely
cold weather it would freeze?/ afe sitd &1 o1d gOR ATHI d B Hifd TaER TET 3
q9 3d 38T 8IH UR T SEA:

1. From top to bottom/ IR
2. From bottom to top/ -d ¥ SR
3. Simultaneously through the depth/ @1 g8 H U 91y

4. First on the surface, bottom and sides and then in the interior/ %ﬁﬂﬁ'ﬁ’, KGRI
PRI fRdd Y

Correct Answer :-

From bottom to top/ TRAIR

94) A truck covers a distance of 550 meters in 1 minute, whereas a bus
covers a distance of 33 km in 45 minute. The ratio of their speed is:/ Th ¢d 1

e ® 550 Hex 91 gt Tu FRa1 ], TP TP qu 3P P g 45 e A @ st 3w
TUT §H B 7T BT ST T4 |
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1.3:4
2.2:1
3.2:7
4.3:5

Correct Answer :-

3:4

95) The numerical value of the profit % is equal to the cost price of a book,
on selling it at Rs.96. So, how much profit is there on selling it?/ Wﬁv_cl'l'q'
P Rs.96 T AT A ot Ufa=ra A1y gia1 8, ITPT G=ATHS HH 39 fHhde & 53 Yo & aRIaR
21 39 fohrara &1 399 | fra TUd &1 a1y gaim?

1. Rs.30
2. Rs.36
3. Rs.26

4. Rs.60

Correct Answer :-

Rs.36

96) If 391 bananas were distributed among three monkeys in the ratio of
12 3
2'3°%

,jltgen3 how many bananas did the first monkey get?/afé 391 &l &t 49
TR 23 4% argura & frafea v man, @ vgd daR @) e Fd frde
1.104
2.112
3.108
4.102

Correct Answer :-

102
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98) Find the length of the longest rod that can be placed in a hall of 10m
length, 6m breadth and 4 m height./ 10 HicT ddTs, 6 HicT ASTS YT 4 HieX SHATS
el T HHY W W] ST G aTell Had ddl B8 DI daTg J1d B9

1. V19 m/2fﬁ o,
2. 2V38 m/z*fﬁ o,
3. 4V38 m/4fﬁ o,
4,338 m/3**f’ﬁ 1,
Correct Answer :-

= E=T=]
V38 1V 38 o,

99) If '+’ stands for *x’, *x* stands for '+, *-" stands for '+’ and ‘< * stands for -/, what would be
the value of the given equation./ gie "+ &1 Gl’t‘-f% %', VXD GIQf% R ) ar?f% 3R+ T 3
? -, T 7T v &1 W @@ g

20-8x4+3+2="?
1.41
2.19
3.16

4. 18

Correct Answer :-

16

100) 1 AN~ 2_5,3_17 11,1t 1
) EWI;eni ¢ 5 tisdividedby> ° 5 12theresultis:/Slg2 ¢ 5 & @
575 5 15 fraifora fov wa 2, < afom 2

1.2.2

2.3.5

3.4.8

4.5.1
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Correct Answer :-

5.1
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39) A and B together can do a piece of work in 5days and A alone can do it in
8 days. B alone can do the same piece of work in:/ A 3R B @@ f&dl & &1 5
o o B3 UPa & 3R A 3P a 3T HTH &) 8 i § &3 a1 €, dt B 3/ d 39 o1 &) fbaq
o & sy

112 112

3

1. 3days/ 3feT

131 131
2. “3days/ “3feA

162 4
3. GSdays/ s5fad

122 122
4. Sdays/ = faA

Correct Answer :-

132 132
3days/ 3fad

40) The difference between the interior and exterior angles at a vertex of a
regular polygon is 150°. The number of sides of the polygon is: /& SgYa &
SATARD TUT AT BV BT 3R 150° B 1 TEYS Pt Y131 P I 10 B |

1.24
2.10

3.15
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4. 30

Correct Answer :-

24

41) A car goes 10 meters in a second. Find its speed in km/hour./T®% $X 1 AP
H 10 Hiex B gt 79 el 71 FR 31 i et o gra +¥)

1. 48
2.40
3.36

4. 32

Correct Answer :-

36

42) Simplify:/Id HY

1

2
1+ —5—

1+

<]
1—
2. 17

11
1=
3. 17
21
1==
4. 17

Correct Answer :-

11
1=
17

43) Simplify:/I3d Bs:

2

1+ ——3—
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=]

LA =

w
]| e

W | =]

4.

Correct Answer :-

7

4

44) The average salary of all staff of a school is Rs.10,000. The average salary
of 20 teaching staff is Rs.12,000 and that of non-teaching staff is Rs.5000, the
number of non- teaching staff is:/wmﬁﬂmmﬂﬁsﬁwm
Rs.10,000 &1 20 SSATYH] BT ST 3T Rs. 12,000 TUT 3T St ALATIS &1 3, DI a3
Rs.5000 2| 39 FHATRYY Y TBAT JTd H¥, N SATYS 81 5 |

1.7
2.12
3.10

4.8

Correct Answer :-
8
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By selling a plot of land for Rs.45,000 a person loses 10%. At what price should
he sell it to gain 15%?/ Rs.45,000 § T® YEUS 99 UR TH HATHI B 10% I ISTHI USalt
2, A1 15% a1 FAM F T Y@vs $i fFaq 303 & S 9

1. Rs.60,000
2. Rs.57,500
3. Rs.55,000

4. Rs.50,000

Correct Answer :-

Rs.57,500

47) The sum and product of two numbers are 12 and 35 respectively. What
will be the sum of their reciprocals?/ﬁﬁ@réﬁiﬁrtﬁﬂﬁmmm: 12 dYT 35
2, S9% apHl BT T T M2

12
1, 35

E
2. 12

w
LA =k

[PV R

4.

Correct Answer :-

12
35

48) The sum of three numbers is 98. If the ratio of the first to the second is 2:
3 and that of the second to the third is 5 : 8, then the second number is:/?ﬂT-r

TEITSHT BT AT 98 31 AfS Ugell 3R g W@AT 2 : 3 & JUTd F § 3R gt ok it S &1
YT 5 : 8 §, A1 GO WS T BY|

1. 48
2.20
3.49

4. 30

Correct Answer :-

30

Page 101



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

49) A can do a piece of work in 15 days and B in 20 days. If they together work
on it for 4 days, then the fraction of the work that is left is:/A T® &TH &I 15 fe1
HqurB, 20 RA AR TFar g IR ATH Y 4 R TP FH FA & A AV P §:

1
1.4

4. 10

Correct Answer :-

8
15

50) A train is moving at a speed of 132 kmph. If the length of the train is 110
meters, how long will it take to cross a railway %Iatform 165 meters long?/

TS 110 Hiex dat vamst ot 132 fordi/eer &t 1fd 9 96 61 81 39 T 165 Hiex @d Jd &I UR
P ¥ a1 g aam?

1. 7.5 seconds/7.5 &g
2. 15 seconds/15 d&s
3.5 second/ 5 UHS

4. 10 seconds/ 10 4&g

Correct Answer :-

7.5 seconds/7.5 9HS

51) A train 800 meters long is running at the speed of 78 kmph. If it crosses
a tunnel in 1 minutes, then the length of the tunnel (in meter) is:/ T® 800 Hex
ot oSt 78 fpei/eer 3 ifa | Terd U TH A 1 1 fieTe # uR # At 81 Ia18T 39 1A
P dars (Hiew ) fpait 22

1. 1500
2. 77200
3. 500

4.13

Correct Answer :-
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500

52) A sum becomes Rs.1,352 in 2 years at 4% per annum compound interest.

The%sum is:/ BIg YRR 4% TP Thgfes SaTol BT G2 A 2 TF A Rs. 1,352 B ATt &, @ &4
ARE:

1. Rs.1,270
2. Rs.1,245
3. Rs.1,250

4. Rs.1,225

Correct Answer :-

Rs.1,250
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56) The HCF of two numbers is 15 and their LCM is 300. If one of the nhumber is
60, the other is: /3l TSAT3I BT H.9. dYT &.9. SHIT: 15 dUT 300 ¢ | T TP JEAT 60 2.l
SO =T {1 B |

1. 100

2.75

3.50

4. 65

Correct Answer :-

75

57) A alone can do a piece of work in 6 days and B alone is 8 days, A and B
undertook to do it for Rs.3200. With the help of C they completed the work in 3
days. How much is to be paid to C?/A &t &1 & 3rhdl 6 RN A FX gHaT g 3k B
3P I HTd B 8 e A I THATE 1 A 3R B 7 Rs.3200 H 1 F1 forierR) ot 3k ¢ # weg
¥ 35 o1l &t 3 e o T o fean,at oo afr & ¢ &1 i fova=n grme

1. Rs.400
2. Rs.600
3. Rs.375

4. Rs.800

Correct Answer :-

Rs.400

58)
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There are Rs.225 consisting of Rs.1, 50 paise and 25 paise coins. The ratio of their
numbers in that order is 8: 5: 3 respectively. The number of one-rupee coins is:/

Rs.225 B T YFRTIRT @ Sl Rs.1, 50 U 3fi¥ 25 0 & Ryapl & =y A 21 afe Ryaw) #t w@=n s -
5:3 % JUTd A B, It TP A & Rigw| &1 G-I J1a H1 |

1. 80
2. 160
3. 112

4. 172

Correct Answer :-

160

59) The milk and water in a mixture are in the ratio of 7: 5. When 15 litres of
water are added to it, the ratio of milk and water in the new mixture
becomes 7: 8. The total quantity of water in the new mixture is:/t{'ﬁﬁ[&l‘lﬂﬁg%{
IR Ut T SUTd 7 : 5 81 9 S9N 15 dlex U framar sirar 8,491 -1 frsor & go o urit &1
3T 7 : 8 BY SITaT 1 7€ fiysror & it Y o W Tarse|

1. 60 litres/ 60 e
2. 96 litres/ 96 e
3. 40 litres/40 e

4. 35 litres/35 drex

Correct Answer :-

40 litres/40 qeY

60) Three years ago, the average age of a family of 5 members was 17 years.
A baby having been born and the average age of the family is the same as
three years ago. The present age of the baby (in years) is:/ %ﬁqaﬁugﬁ, 5 gl
I1a AR @1 3d 3 17 99 81 T 9= &1 o+ gial §, fihe oft ufvar &t adur sha omyg 3
af Ugd Y 3T S F GHE 2| 92 P} AT 3y @ F) A pY

1.2
2. 1.5
3.24

4.3

Correct Answer :-

2
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61) Which of the following fraction is the smallest?/F= fH=T1 A P19 W 9o St %‘.’

r

o | =
[ AN
=1l en

.

)
;
g.l
]
7

WO = ol =

e

Correct Answer :-

62) The cost price of 24 apples is the same as the selling price of 18 apples. The percentage of gain

is:/24 Sl &1 3549 Y4, 18 al & fIha Yo & SR1ER §, a1 ufa=rd @y 91 &3

1. 25%

331W
.73 7"

zziv
3,27

4. 20%
Correct Answer :-

331'3""
37

63) Choose the odd pair of numeral./ GBT13f & fauq g 1 g
1.36: 6
2.15:3
3.32: 4

4.42 : 4

Correct Answer :-

42 : 4
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64) Anu and Bharti invested Rs.20,000 and Rs.24,000 respectively in a business.
Bharti left the business with his money after 8 months. At the end of the first
year they earned a profit of Rs.1,620. What is the share of Anu in the profit? /3
3R U =il SaUR & HHR: Rs.20,000 3R Rs.24,000 3= F7edl § | YRt 8 TEH &
91 3T AR ABT AR BIS TN B| U8 A1 & oid H A ATH Rs. 1620 7| 3 P ArH
&= & grm?

1. Rs.1,250
2. Rs.720
3.Rs.1100
4. Rs.900

Correct Answer :-

Rs.900
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98) A number when reduced by 10% gives 27 as result. The number is:/T® IEIT §d

10% TeTdt STt B, ot ufvomy 27 31an B, 9 IS R e
1. 30
2.35
3. 40

4. 33

Correct Answer :-

30

016 0.04 0.16 0.0
99) The value of (243) x (243) is equal to:/"zzfjf33| x (243) &1 A fPras RTEw %:

Wil =
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2.0.16
3.0.04

4.3

Correct Answer :-

3

=
100) The diagonal of a square is 4" 2 cm. The diagonal of another square whose area is double

that of the first square is:/Wﬂ"‘fﬁﬁﬁUfﬂﬁﬁﬁ%l wgﬂ%aﬁmﬁwﬁmaﬁ,mm
g I & &% BT &l [T 2|

1, 8v2 cm/aﬁ‘;2 It
2 y’ﬁ cm/ fﬁ@'ﬁﬁ
3.8 cm/ 8 9HI
4.16 cm/16 It

Correct Answer :-

8cm/8@1ﬁ
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16) The length of a rectangle is twice the breadth. If area of the rectangle be

1250 sq.m., then length is:/T% 3Tad & TS, NSTS A T 81 Al 3mad &1 7w
1250 Tif fiex B, Y darg fpasi 82

1. 40 meter/40 e
2. 60 meter/60 Hiex
3. 50 meter/50 Hiex

4. 15 meter/15 e

Correct Answer :-

50 meter/50 e
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20) A and B together can do a piece of work in 4 days and A alone can do it in
6 days. B alone can do the same work in:/ A 3R B fia®r f&dft s w1 4 e A =
TPHd & qYUT A 3HA 3T BTH B 6 el A H TPpar 8, d@F B 3bd 39 10 &I fhaa &A1 &
B2

132 132
1. 3days/ 3fe

2.12 days/12fea
3. 16 days /16 faa
4. 11 days/11 f&a

Correct Answer :-

12 days/12fea
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21) A and B invested amounts of Rs. 40,000 and Rs.75,000 respectively. At
the end of five years they got a total profit of Rs.46,000. What is A’'s share in

the profit?/ A 94T B 3 THHTT: 40,000 U TUT 75,000 T4 P AR A2 $Y) 5 auf & 3 A
I G A T 46,000 TUY DY R YT BT | 5T ARNT A 7 fwan g1d H3|

1. Rs.16,000
2. Rs.15,000
3. Rs.15,500

4. Rs.16,500

Correct Answer :-

Rs.16,000

22) A and B can be do a piece of work in 12 days, B and Cin 15 days, Cand A
in 20 days. A alone can do the work in how many days?/ A ddTB frdt s
12 et #, B 9urc 15 A, c U1 A S FH HY 20 RATA FXABA 8| A 3rpar It

o P fba it # wrswm?

1.15
2.30
3.24

4. 40

Correct Answer :-

30
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27) The value of (256)%-16x(16)%-18 js:/(256)%-16x(16)°-18 &1 M Fd HI|
1.8

2.4

3.16

4. 256

Correct Answer :-

4
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30) The greatest number, which when divides 989 and 1327 leave
remainders 5 and 7 respectively is: /38 Tad I51 IS FT gRI, S99 989 aUT 1327 #
YT 3 W HU: 5 T4T 7 AUGd gadl 812

1.8
2.32
3.16

4. 24

Correct Answer :-

24

31) The average weight of a group of 20 boys was calculated to be 89.4 kg
and it was later found that one weight was misread as 78 kg instead of 87
kg. The correct average weight is:/20 TSH P 3Ad aui 89.4 fHur Sifea forar mar)
a1 W 311a goi 6 U |1 87 foram & 41 wR 78 53 sifepa favam wan 81 Y oha awq 94
&
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1. 89.55 kg/89.55 foul
2. 89.25 kg/89.25 &b
3. 89.85 kg/89.85 &3
4. 88.95 kg/88.95 four

Correct Answer :-

89.85 kg/89.85 f&in
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43) Sarita and Julie start walking from the same place in the opposite
directions. If Julie walks at a speed of 2.5 km/hr and Sarita at a speed of 2
km/hr, in how much time will they be 18 km apart? /|l 941 Jail T &l fag d
% & 9Ha R faudia fexmait § gemn yRy ol 71 afe Saet it ssu=r: 2.5 feider aur
2 foedi/die g, frae v a1 S ot ot g 18 it gt st

1.4 hrs/4 °¢
2.48 hrs/ 48%¢
3.5 hrs/ 59¢

4. 45 hrs/ 4.59¢

Correct Answer :-

4 hrs/4 ¢
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53) The area of a sector of a circle of radius 5 cm, formed by an arc of length
3.5 cm is:/ 5 I Fwur a1d 99 & Boads &1 &9wa 919 B¢, S 3.5 G TS 9T 919 gRT
fafa fear mar g2

1. 7.50 cm?/7.50 92

2. 8.5 cm?2/8.5 IH2

3.7.75 cm? /7.75 9412

4.8.75 cm?2/8.75 JH2

Correct Answer :-

8.75 cm?2/8.75 TH2
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54) In a mixture of 60 liters, the ratio of milk and water is 2 : 1 respectively.
How much more water must be added to make its ratio 1 : 2 respectively?/60

e frsor & gor SR T 1 3rguTa HHR: 2 : 171 faan o sifafvaa it firamar sime aifes
SUTd HHRT: 1 : 2 § &1C?

1. 60 litres/60 e
2. 40 liters/40 dlex
3. 54 litres/54 e

4. 52 litres/52 drey

Correct Answer :-

60 litres/60 ®IcR

55) Roy walks 2 km to East, then turns North-West and walks 3 km. Then he
turns South and walks 5 km. Then again he turns West and walks 2 km.
Finally he turns North and walks 6 km. In which direction, is he from the
starting point? /374 2 f&tit qd &t o Taar 8, fibe SwR-ufdm & g wirar 8 i 3 foeelt wraran
21 bR ferr A ok gev 5 et werar 21 98 fie it &t 3k gear @ ok 2 fpeh wrerar 21
3eTd: I8 IR B 3R DR 6 fHt gaa1 § | 98 v+ R foig A fpa fezm a 31

1. North-West/3tR-Uf3yq
2. South-West/gf&mr-afgq
3. South-East/iff\&IUT-Uji¢

4, North—East/Bﬂ?-‘{La;

Correct Answer :-

North-West/3tR-Tf&H

56) A 120 m long train takes 10 seconds to cross a man standing on a platform. What is the speed of

the train (in m/sec)?/120 HIeX TS B Th IS WCHTH UR WS TP HAfGd B IR B H 10
JHUS T HHY Ad! g | Y ot e (A, T3 &9

1. 20
2.15
3.12

4.10

Correct Answer :-

12
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64) A man invests Rs.2000 at 5% compound interest. At the end of 3 years
he will get a total amount of:/T® AT 2000 TUd 5% TP Tshgf TS PI GT &
fora=r ovar g1 9 9 a1 39 T fraan u= e

1. Rs.2305
2. Rs.2316.25
3. Rs.2315.25

4. Rs.2205

Correct Answer :-
Rs.2315.25
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68) By selling a table for Rs.350 instead of Rs.400, loss percent increases by
5%. The cost price of table is:/T® IS &I 400 ¥4 & 994 & FoI1g 350 TU o
I R Ufa=Id g1 5% ¢ Wl 8, @ A &7 aNTd Jod 71 $I

1. Rs.417

2. Rs.1050

3. Rs.435

4. Rs.1,000
Correct Answer :-

Rs.1,000
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72) Price of sugar rises by 20%. By how much percent should the
consumption of sugar be reduced, so that the expenditure does not

change? /31 & gea A 20% @1 g gt oIl 8,a) D+ &t Wua &1 feram ufa=ra &0 S
g, arfes i+t R e srufvafda v@?

1. 16.66%
2.20%
3.15%

4. 10%

Correct Answer :-
16.66%
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75) Five years ago, the ages of Bali and Geeta were in the ratio of 3: 4
respectively. Ten years hence the respective ratio of their ages will be 6: 7.
What is the difference between their present ages? /9 CL tl?ﬁ, areft 3R e
D TG HUM: 3:4 & Jurd W N1 g7 9 918, ITP! AT BT SIUTA HHRT: 6:7 TR IADL
AAT 3Tg W 3R FT 8?2

1.7
2.2
3.5

4. 10

Correct Answer :-

5
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87) A fan is listed at Rs. 150 and a discount of 20% is given. Then the selling
price is:/ T® U@ W 150 U G4 Sifdd foram Tm 3R 20% &Y ge i 15, o) fasva gea <
gRm?

1. Rs.150
2.Rs.110
3. Rs.180

4. Rs.120

Correct Answer :-
Rs.120
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91) In the given figure, if ZABC = 90°, and 2A = 30°, then ACD=?/fu e iy
Hafe LABC = 90°, 94T A = 30°, df zACD =?

A
30

B c D
1.120°
2.110°
3.130°
4.100°

Correct Answer :-

120°
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95) 1

The simple interest on a sum after 4 years is > of the sum. The rate of
1

interest per annum is:/mv&rwwﬁwwwm, wn&rmg%,a‘rwa?%:
1. 4%
2.6%
3.5%

4. 8%

Correct Answer :-

5%

96) Two numbers are in ratio of 5 : 8, If their difference is 48, then the
smaller number is: /<! T3 T UG 5 : 8 § 3R IAPT 3iaR 48 B, I DI TBAT
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gar |
1. 64
2. 80
3.96

4.128

Correct Answer :-

80

97) The main use of ‘magnesia’ is as a/an?/ AR HT 4T UGN F71 BT 82
1. Antibiotic/ Ufasifas
2. Pain killer/ 3¢ fAaR®

3. Antiseptic/ 3 JIIQR b
4. Mild laxative/ B! Iad Ny

Correct Answer :-

Mild laxative/ "s’c'_cﬁm 3Nfey

98) The main active constituent of tea and coffee is?/ IR d HTH! & TEIA: B AT
i ded uTa ST &

1. Aspirin/ TEUIRA

2. Nicotine/ Falifed

3. Chlorophyll/ FARITGA
4. Caffeine/ Bt

Correct Answer :-

Caffeine/ Hith

99) 0.2 +0.2-0.2 7 0.2x(0.2x0.2) = ?
1.0.36

2.1

3.0.2

4, 0.04
Correct Answer :-
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0.36

14 E 1 4 2

100) = T - ] .
The fractions 3, 7 and © written in ascending order given by: /3, 7 3T s @Y sn‘ﬁ?r Y ¥ fora?

-1 | e
[

A
b

=1 | e

A
w |

N
| b
A

w
|
A
=3 | e
AN
| b

W
=1 | =

A
(NN
A

Correct Answer :-

W=
=1 | o

A
(NN
A
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A starts a business with Rs.21,000 and later B joins him with
Rs.36,000.After how many months did B join, if the profit is distributed in
equal ratio at the end of year?/ A 7 T®% TR &1 F=3MTd # 21,000 FUd ot Yoit
1% Ot 9YT $© IHG F 918 B A 36000 T %1 HY 39 AR § A 81 T4 afe ad &
3 T YD DI TH ATH YT §3M 8, a1 B fova= 98 a1¢ saurR o nfda gam?

1.8
2.6
3.9

4.5

Correct Answer :-

5

18) A car travels at a speed of 60 km/hr and covers a particular distance in
one hour. How long will it take for another car to cover the same distance at

40 km/hr?/T® BR 60 fHil/der & 1fd & gad grvs Al gi o1 s A au wedt 31 T
3T BR S 40fHY T 3t 1fa A 7 I 8, B 39 g1t B 99 B ° $d [pa-1 99y anm?

hours/2 &2

B3| En

1.

32 3
2. Zhours/2 ©¢

3.1 hour/1 9cl

4. 2 hours/2 Te

Correct Answer :-

3

hours/2 ©¢

3

19) The length of a room is 3 meter more than its breadth. If the area of a
floor of the room is 70 metrez, then the perimeter of the floor will be: /T®

HHY B TETE, ITP! AISTS A 3 Hiex 3@ g1 s IR & Bl &1 a7wd 70 Hie? §, o Bf
T URHTY T gRI?

1.17 meter/17 Hiex
2. 34 meter/34 e
3. 14 meter/14 Hiex

4, 28 meter/28 Hiex

Correct Answer :-

34 meter/34 aiex
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20) Two years ago, the average age of a family of 8 members was 18 years.
After the born of a baby, the average age of the family is same today. What

is the age of the baby?/ 2 3¢ qd ufvar @ shwa 3myg 18 9 <A, forad s e A1 v s=2
& O g 9T & a1¢, URaR &) adar 3myg et oft wam= 31 9= 3 adur= oy 3 +¢ |

1.1 year/ 1 Iy
2.4 years/ 4 ¥
3.3 years/ 3 Gl

4. 2 years/ 2 ay

Correct Answer :-

2 years/ 2 ay
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30) Four bells ring at the intervals of 5, 6, 8 and 9 seconds respectively. All
the bells ring simultaneously at some time. They will again ring
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simultaneously after: /IR 4fedl HHI: 5,6,8 qUT 9 APBUS P 3T YR Foldl g1 gt
Hfear frlt W ve 91y 9ol €, 9 3 T U A1 fohaq 9wy a1 aonii?

1. 12 minutes/12 ffFe
2. 6 minutes/ 6 fAc
3. 24 minutes/24 fie

4. 18 minutes/18 fiFe

Correct Answer :-

6 minutes/ 6 i e
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34) 3
A student was asked to multiply a number by 2 but he divided that
3
number by 2. His result was 10 less than the correct answer. The number
3 3

was: /T femeif & fret T & 2 | 7on a9 ¥ g we1 a1, WReg I 39 HBI F 2 | U
< fear 1 3T ufvome 9t SaR | 10 $H o1, 91 98 W@ 4t

1. 20
2. 15
3.12

4. 10

Correct Answer :-

12
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55) A radius of a circular wheel is 21 cm. How many revolutions will it make

in travelling 924 meters? (use "= ?) / ﬁiﬂ’fﬁ?ﬁ'ﬂﬂ‘%ﬁﬂﬁﬁw 21 9 8, 924 Hiex
B g3 79 F T Ul gRT 99 F T TawmR e g4 s (T= 7)

1. 200

2. 11

3.740

4,700

Correct Answer :-

700

56) 4° x (23)2+ (82 x (3)2 x 4%) =7
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4. 24

Correct Answer :-

256
9

57) (93 x 53)2 + (152 x 32)3 =7
1.3
2.2
3.1

4.5

Correct Answer :-

1

58)  (243)°% x (243)°7
(?}I}.ZE e (49}&.&?5 e (343}&.2 -

]| L ol w

] =

.3
Correct Answer :-

3

7

59) A man wanted to sell an article with 20% profit, but he actually sold at 20% loss for Rs. 480, At
what price he wanted to sell it to earn the profit?/Td Hfed gt a¥yq Bl 20% ATH TR 9T EIRGLH
T, AfHT 98 SH 480 TUI | 20% B g1 W 99 T, @t 98 oRY © 54 59 geu W 991 9rgan
Yr?

1. Rs.720
2. Rs.600
3. Rs.840

4. Rs.750
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Correct Answer :-

Rs.720

60) If the ratio of cost price to selling price is 10: 11, then profit percent is:/Aafe amTa ey 3R fawy
e BT 3UTd 10: 11 &, a) ATY Ufa=rd Fam ghfte

1.1.1%
2.1%
3.10%

4.0.1%

Correct Answer :-

10%

61) A sum of Rs. 400 amounts to Rs. 480 in 4 years. What will it amount to if the rate of interest is

increased by 2%?2/400 ¥Ud P IR 4 76 A 480 UL g1 ST 81 TfS ST B &R 2% 9¢ WE,
a1 Y= Tame|

1. Rs.512
2. Rs.520
3. Rs.484

4. Rs.560

Correct Answer :-

Rs.512
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Working 5 hours a day, A can complete a piece of work in 8 days and working 6 hours a day, B can
complete the same work in 10 days. Working 8 hours a day, they both can complete the work in:/A, 5

e ufafes &1 #d fadl &1 o1 8 i3 & IHIW B JhdT ¢ | Sidfe B I HTH & 6 e
ufafes #F 10 e & AT B a1 g1 afe =1 fiaeR 8 ve ufafeq o1 $3d gl,dl &H
fram fe=t A @« g

1. 4 days/4 fea
2. 5.4 days/5.4 faq
3.4.5 days/4.5 f&a

4.3 days/3 faq

Correct Answer :-

3 days/3 faA

64) The compound interest on Rs.5,000 for 3 years at 10% p.a. will be:/5000 U B T TR 10%

1 ST Bt &3 A 3 Il BT Ihgfes sart fha=T ghm?
1.Rs.1,565
2.Rs.1,655
3.Rs.1,654
4.Rs.1,600

Correct Answer :-
Rs.1,655
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68) Average of 11 numbers is 36, whereas average of 9 of them is 34. If the

remaining two numbers are in the ratio 2 : 3, then find the value of the
smaller number (between remaining two numbers)./11 T3} BT 3N 36 %,
wafe 39 A F 9 TSl &1 3Nud 34 81 afe Ay Y wwmait &1 SguTd 2 : 3 ), °f B = H1
@ ¢ @i & dt) A9 Farse|

1. 54
2. 50
3.36

4. 48

Correct Answer :-

36
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2 =
If two- third of A is four-fifth B, then A: B =?/4fe¢ A &1 3 9f fgx1, B ¥ 5 3 e & RIaR g1, a)
A: B 9T B

100)

1.7:10
2.6:5
3.5:7

4.10:9

Correct Answer :-

6:5
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43) A and B together can do a piece of work in 10 days. A alone can do it in 30
days. The time in which B alone can do itis:/ A 3R B U 1Y ot &rd &Y 10 fe=¥
A A gPd 31 A Al 39 B DI 30 Al & S THd1 3| B 3rhdl 39 HTH &) fobaA fa=1 o
D2

1. 20 days/ZOT?:I
2. 15 days/ 15 faA
3.12 days/lzﬁ?
4. 10 days/ 10 f&=

Correct Answer :-

15 days/ 15 faq

44) The difference between the simple interest received from two different
sources on Rs.1500 for 3 years is Rs.13.50. The difference between their rates of
interest is:/ Rs.1500 1 YFRIRT R 3 g6t A g U= Tl & W ATUROT TS BT 3R
Rs.13.50 8,d) S| STSl &3 BT 3ia¥ Id1SY

1. 0.3%
2.0.2%
3.0.4%

4,.0.1%

Correct Answer :-

0.3%

45) If the sum of two numbers is 9 and the sum of their squares is 41, then
their product is equal to:/3fe & TBAT3M BT RT 9 YT I H&ATSH &P T BT TN 41 B,a)
HEATSHT BT UG G

1. 16
2.38
3.20

4,21

Correct Answer :-

20

Page 142



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

46) The perimeter of two squares is 24 cm and 32 cm. The perimeter (in cm) of
a third square equal in area to the sum of the areas of these squares is:/al

T & GRHTT 24 T 3R 32 A 8| 59 T & TP A & TN & SRTER AABS aTed TP a9 i
PTURHATY B:

1. 48 cm/48 I
2.32 cm/32 9+
3. 45 cm/45 T

4. 40 cm/40 Rapel

Correct Answer :-

40 cm/40 Rapa|

47) The average salary per head of all the employees of an institution is
Rs.60. The average salary of 12 officers is Rs.400, the average salary per head

of the rest is Rs.56.The total number of employees in the institution is:/f&dt

TRITH YD FHAR! DI 3T 3T Rs.60 21 12 AP DY 3 3T Rs.400 € TUT T
AR BT ST 3T Rs.56 T | TRITH FA HHATNG] BT =T J7d B |

1. 1035
2. 1050
3. 1032
4. 1030

Correct Answer :-

1032

48) The average age of P, Q and R is 5 years more than R’s age. If the total
age of P and Q together is 39 years, then R’s age is:/ P, Q d4T R aﬂeﬁ'\q?rsrrg R
Ft g A 5 ¥ 3w 31 afe P 3R Q FY et 3y 39 T B, At R T} 3TY J1al B |

1. 16 years/16'q'5f
2.24 years/24?ﬂf
3.12 years/lzaﬁf

4. 14 years/14 ay

Correct Answer :-

12 years/12 Gl
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49) A radio is sold for Rs.990 at a profit of 10%. What would have been the
actual profit or loss on it, if it had been sold for Rs.890?/E$§'|%’€ﬁ Rs.990 H
10% & ATH TR 997 771 9f¢ 39 Rs.890 ¥ 9, df 39 W a1 arwfds @y ar g1f4
g

1. Rs.90 profit/ Rs.90 dIH
2. Rs.90 loss/ Rs.90 B
3. Rs.10 profit/ Rs.10 dTH

4. Rs.10 loss/ Rs.10 g1

Correct Answer :-

Rs.10 loss/ Rs.10 g1

50) A moving train crosses a telegraph post and a bridge 264 m long in 8

seconds and 20 seconds respectively. What is the speed of train? /TS TfaH=
YIS TH SARITD UIRE TUT 264 WX dd Jd B R B | HHRT: 8 AHS dUT 20 AHS BT
HHY Al § | TS B T TAI5T?

1. 69.5 kmph/69.5 foH1/eer
2. 75 kmph/75 faHi/Eer
3. 79.2 kmph/79.2 fobdi/EieT

4.70 kmph /70 fHI/EeT

Correct Answer :-
79.2 kmph/79.2 fHI/EeT
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54) The HCF of two numbers is 5 and their LCM is 200. If one of the number is
25, the other is: /a! TSN BT H.I. TUT .. HH: 5 TUT 200 § | TS TP T@AT 25 B, gt
TST 1 Y|

1. 40

2.27

3.35

4. 30

Correct Answer :-

40
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55) Two numbers are in the ratio of 5:7. If 9 is subtracted from each of them,
their ratio becomes 7 : 11. The difference of the numbers is:/&’fﬁ'@Taﬁﬂsﬂm
5: 781 af¢ SNl Temme # A U | 9 USTT 9T df WSS BT 3guTd 7 : 11 81 S, ot gl
T3l § SR [ He |

1.6

2.12

3. 18

4.15

Correct Answer :-

12

56) In what time will a train 100 meters long cross an electric pole, if its speed be 144 kmph?/100

ﬁaﬁz;\rnﬁiﬁma’r144%ﬁm%ﬁwhﬁw1ﬁ%,ﬁw@ﬁaﬁmmﬁﬁmmw

1. 2.5 seconds/2.5 Ydhe
2. 12.5 seconds/12.5 b S
3. 3 seconds/3 b s

4. 5 seconds/5 TH S

Correct Answer :-

2.5 seconds/2.5 HS

57) Which of the following fraction is the smallest?/f= f3=7 & 19 & 9@ S1d %?

9 1728 33
13'26°29°52
%
1, 29
%
2. 52

17
3. 26

4. 13

Correct Answer :-

33
52
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58) A man riding his bicycle covers 150 meters in 25 second. What is his speed in km per hour?/T®

HfaT aTsfea & Iad T 150 Hex 3t g3 &1 25 Tdbs W 99 Ha1 ¢ | Tid fHl/ae o ra &)
1.25.3

2.23

3.21.6

4. 20

Correct Answer :-

21.6

59) 200 litres of a mixture contains 15% water and the rest is milk. The amount
of milk that must be added so that the resulting mixture contains 87.5% milk

is:/200 deR fiyor § 159 i § 3R A9 g 81 71C fasor & 87.5% gu T & forg sod
e gu freman sme?

1. 45 litres/45 e
2. 40 litres/40 qex
3. 35 litres/35 qex

4. 30 litres/30 T

Correct Answer :-

40 litres/40 e

60) If the cost price of 20 article is equal to the selling price of 15 articles. The profit percent is:/20

TGN BT AT G 15 I3l & fIora gea & R1aR 8, 1 ufa=ra ary gmd &3

1. 2004

2
Za
N 553 Yo

2
— 0
3.163 &

1
— 0
4, 333 g

Correct Answer :-

1
— 0
333 Yo

61)
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A and B invested Rs.15,000 and Rs.25,000 respectively in a business. A left the
business with his money after 6 months and at the end of the first year they
earned a profit of Rs.13000. What is the share of A in the profit?/A 3T B

it SaTUR W HHRE: Rs.15,000 3R Rs.25,000 A% $d § | A, 6 WEH q1¢ 3U-T AR AHR
IR BIS a1 & U8S ATA & 3d & P& @Y Rs.13000 B A T aTH & e &1 gRm?

1. Rs.2,250
2. Rs.4000
3. Rs.3000
4. Rs. 5200
Correct Answer :-

Rs.3000
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /e Eﬁgﬁ
e goft § Terd ug I B

3,5,11, 29, 87, 245
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1. 87
2. 11
3.29

4. 245

Correct Answer :-

2) Find the least number which must be subtracted from 18265 to make it a

perfect square./d8 ~gTaH BT JTd DITOTC oA 18265 T T °STT AT UR TS UROITHT J=
gof ot &1 e |

1. 45
2.38
3.40

4. 30

Correct Answer :-

e 40

3) A cistern is normally filled in 8 hours, but takes another 2 hours longer to fill
because of a leak in its bottom. If the cistern is full, the leak will empty it in:/

TS BIol JTHTC: 8 Tl H U STdT €, Afp TP dell & TP DG 8 P PRUI ITb WA A g 1e
SITST THY T 8 | IEJ9R o TRT WRT 8 R, S B¢ A RI1a & $Rur 39 @reft g4 § fvan
U TRI?

1. 20 hours/20 ©¢
2. 16 hours /16'€i%
3. 40 hours/40 9¢

4. 25 hours/25 °¢

Correct Answer :-

e 40 hours/40‘€i?:’

4) The successive discount of 15%, 20% and 25% on an article is equivalent to
the single discount of: /& a¥g TR FHR: 15%, 20% 3R 25% F HFANT Fe
FrefafeT ° 3 59 v Tuged ge & RER ghl?
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1. 60%
2.47%
3.40%

4. 49%

Correct Answer :-

« 49%

5) The roots of the quadratic equation y2+3y+2=0 are:/fgara gHi®ur
y2+3y+2=0 F YA 3:

1.-2,-1
2.2,1
3.-4, 1

4.4, 1

6) If the side of an equilateral triangle is 28 cm, find its perimeter./qﬁwm
Py o1 Yo 28 Wt B, 3BT uikHTY I FY |

1. 81 cm/81 It
2. 82 cm/82 it
3. 84 cm/84 Tt
4.83 cm/83 It

Correct Answer :-

. 84 cm/84 T

7) An isosceles right-angled triangle has an area 800 cm2. What is the length of

its hypotenuse?/T® JHGIU JAGETE FAIYS T &A%wd 800 AH2 B, df 39 &l & darg
T Eh?

1. 65 cm/65 TH

2. 40 cm/40 IH
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e I~
3. 40 2 cm/'m“'"' 2 @Iﬁ
e e
4. 3042 cm/ BGwZ@:ﬁ
Correct Answer :-

. 40VZ o A0V2 gy

8) A, B and C undertake to do a work for Rs.707. A and B together do 5/7 of the
work and rest is done by C alone. How much wages (in Rs.) should C get? /A, B

MM CTFFHHI FIA 707 A RTHA BT SHTAd 31 A 3R B T 1Y A ST FHBT15/7
YT IRT HXd § YT Y TG HTH C 3bd GRTHdT 8| C B fhasit uorgt (+ F)ffari

1. 200
2.102
3.202
4.150

Correct Answer :-
« 202

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question? /3w fArafefad uza & yzAar® g (2) & W R &1 311 I1fge?

9932 + 882 + 314 -?=7171 + 630
1.3227

2.3327

3.3723

4.3273

Correct Answer :-

« 3327

10) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /¢ Fafafaa Joft & yyars fore (2) & WM W T 3T T1fge?

350, 372, 396,?, 450

1.442
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2.418
3.422

4.426

Correct Answer :-

. 422

11) If a number is greater than 5 but less than 9 and greater than 7 but less
than 11, the number is: /A TH JWT 5 T TTGT Afh 9 J HH qUT 7 A TSI A 11 A HH
g, A ueIe:

1.8
2.7
3.6

4.5

Correct Answer :-

« 8

12) The simple interest on an amount at the rate of 5% per annum for 2 years and
3 years are respectively €100 and £150. Find principal. /& 3T R 590 arffe sare &1
R 2 a9 qYT 3 T BT TYROT TS HUM: T 100 TAT T 150 8 | GAYH F1d BT

1. % 5000
2.3 8000
3.31200

4.31000

Correct Answer :-
« 31000

13) If the mean of five observations x, x+2, x+4, x+6 and x+8 is 11, then the
mean of the last three observations is: /3¢ LIER fL X, X+2, X+4, X+6 YT Xx+8 PI
e 11 8, A sifaw @i+ veron &1 wier 3:

1.13

2.17
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3.15

4.11

Correct Answer :-

14) The lengths of two trains are 154 m and 246 m and they are running
towards each other. The speeds of these trains are 52 kmph and 28 kmph,
respectively. How much time will they take to cross each other?/154 Hiez 3R

246 TR AETS B Gl 7 TP gaR Fi 3R wfa=fta §1 377 ¢ &) 7fq svasm: 52 fwfieer ok 28
fptil/der 31 9 U GO 3t UR S | forae awa |t

1. 14 seconds/14 ¥HUS
2. 12 seconds/12 YHUS
3. 18 seconds/18 YHUS
4. 10 seconds/10 YHUS

Correct Answer :-

« 18 seconds/18 ADHUS

15) Divide 94 into two parts in such a way that fifth part of the first and eight
part of the second are in the ratio of 3 : 4 is:/94 @I q Ul ¥ 39 @¥i% | Ficl f gga
BT UiGal URT 3R O & 3MTSd U 6T U 3 : 4 §:

1. 20, 44
2. 30, 64
3.35, 69

4. 34, 60

Correct Answer :-

- 30, 64

16) Two trains running in the same direction at 40 kmph and 22 kmph
completely pass one another in 1 minute. If the length of the first train is 125
metres, the length of the second train is:/THH f&=m A HH: 40 fhaiHie/der ud 22
franftex/der @1 fa & 97 ¥t g1 v Ml Th-go & 1 e # R o7 ot 31 afe ugedt Yt
Pt daTg 125 Hiex g, ot gl ISt Bl @ ars 8:
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1.125 m/125 e
2. Can't be determined/Ruifa T8t faT ST Ibar
3.175 m/175 Hiex

4,150 m/150 "R

Correct Answer :-

« 175 m/175 HIR

17) The population of a town is 8000. If the males increase by 6% and the
females by 10%, the population will be 8600. The nhumber of females in the

town are:/ T&h & 3 S-S 8000 3| IS T3l &} s H 6% @ gfx 3k afgamsit
P TR H 10% B i3 gl B, ot SHIBIT 8600 B ST, Hed # Afgarsi &t swien
g

1. 2500
2.4000
3. 3000

4. 3500

Correct Answer :-
« 3000

18) At present, the sum of the ages of A, B and C is 150 years, whereas 10
years ago, the ratio of their age was 5:4:3 respectively. Find the ratio of their

ages 10 years hence. / A, B 3R C & qdHT 31 &1 TNT 150 T9 g, Safe 10 a9 qd 31
3Tg BT JUTd HUIT: 5:4:3 YT, df 10 T 91 STAD! 3T BT SJUTd JTd BIOT|

1.6:9:5
2.7:6:5
3.4:3:5
4.7:5:3
Correct Answer :-
« 7:6:5

19) Find the smallest of the following fractions: /fAufaRad fim # @ g« Bidt fu=
BIGK Y
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5

23

5. 37

51
3. 49
43
4. 54

Correct Answer :-

20) Find the largest of the following fractions./fFafafad s & J gad a3t i 3ma
|

453
1. 584

231
5 349

759
3, 894

352
4. 478

Correct Answer :-
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series./ﬁﬁf‘\’r: Eﬁg"{'
der 4oft § 7Tad ug 9 S|

1, 8,9, 64, 26, 216

1.216

2.8

3.1

4. 26

Correct Answer :-

2) The roots of the quadratic equation x2-x-12=0 are:/ fgurd IS x2-x-
12=0 YA §:

1.4,-3
2.4, 3

3.-4,-3
4.-4, 3

Correct Answer :-

3) In a class composed of x girls and y boys, what part of the class is composed

of girls? /TP H&TH x ASfhai 9y TSP & | BaTH dsihyl oI fgwar fhaa g2

L.y(x +vy)

RN
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X
4 & +¥)

Correct Answer :-

X
L x+y)

4) The number of revolutions made by a bicycle wheel of 56 cm diameter in

covering a distance of 1.1 km is:/@ﬂﬁﬁﬁ[%qﬁm 1.1 ﬁ.ﬁ@'ﬂﬂ'ﬂaﬂﬁﬁ
TAIE 7T Tah] 1 ST 1 81T, afe argfed & ufeu &1 56 I 81

1. 325
2.625
3.312

4. 628

Correct Answer :-

« 625

5) In a rhombus, the lengths of two diagonals are 4 m and 3 m, then length of
side of rhombus is:/T® JHIAGYS A i1 fAH ol o} FraTs 4 Hew 9yt 3 Hew 8 dTeguR 3@t
YSIT P TS T gHIT?

1. 4.0 m/4.0 HicX
2.3.0 m/3.0 Hic?
3.2.5m/ 2.5 HIR
4.5 m/ 5 HicX

Correct Answer :-

« 2.5m/ 2.5 Hicx

6) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fAdar: fAfefad usa ® yAars g (2) & RIF W F41 311 91fge?

56789 X 874 =? x 2
1. 145857

2.180789
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3.9875
4. 56789

Correct Answer :-

« 56789

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /A dwr: Fafafaa goft & yyare e (2) & RIM W T4 34T A1 w?

-1,2,7,?, 23, 34, 47
1. 15
2.12
3.14

4.13

Correct Answer :-

. 14

8) A piggy bank contains Rs.55 in the denominations of Rs.1, 50 paise and 25
paise coins. The coins are in the ratio of 1 : 2 : 3. Find the number of 50 paise
coins./U® ea® H 55 04 §; fiord 1 &, 50 T 3R 25 T & Rygd § U1 37T gurd

PUR: 1:2:3 g1 44 H 50 T & Ryap! $t wE g1a S|

1. 48
2.45
3.40
4. 56

Correct Answer :-

9) In what time will the interest on Rs.350 amount to Rs.49 at 7% per annum
simple interest? /fhda 9T § 350 T. P I W ST, 7% Ufaay TR TS BT &3 H 49 3. B

SITET?
1. 5 years/ 59y

2. 2 years/2 g
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3. 6 years/6 GL

4. 4 years/4 ay

Correct Answer :-

e 2 years/2 CL

10) If the speed of a boat in still water is 7 kmph and its speed against the
stream is 2.5 kmph, then what is its speed in the direction of the current?/ T&

19 T el H 7 fpdi/ger 1 fa & gl @ 9UT 4RT & faudid S9! i 2.5 fedber g1 yRT &t
&= A gt nifa o gt

1. 14.5 kmph/ 14.5 feHier
2. 14 kmph/ 14 fdider
3. 13 kmph/ 13 fHtEer

4.11.5 kmph/11.5 foHi/Eer

Correct Answer :-

« 11.5 kmph/11.5 fhHl/Ee

11) The mean of n values 2, 4, 6, 8, ....2n is:/J&UN 2, 4, 6, 8, ....2n BTATA &:

1
1.2n(n+1)

2.n
3.(n+ 1)

4.2n(n + 1)

Correct Answer :-

12) Four years ago, the ratio of A’s age to B’s age was 11: 14 and four years
later their ages will be in the ratio 13:16. The present age of A is:/4 T8 qd A TUT
B @1 3T 11:14 & JUTd § 2t 4T IR 99 & q1¢ IS 319 13:16 & 3JUTd § gRft1 A &Y
JAH 3T §:

1. 26 years/26 ¥

2. 28 years/28 ¥
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3.44 years/44?:ﬂif

4. 48 years/48 ay

Correct Answer :-

« 48 years/486|15f

13) A man sells a plot of land at 6% profit. If he had sold it at 10% profit, he
would have received ¥ 200 more. What is the selling price of the land?/ T&®
STHY TH WTe 6% TATY R I9dT 3 | IfS 98 S/ 10% ATY UR 91 giaT df 98 T 200 3P ure
Fdl, d1 39 WIe &1 Iy gea |1 82

1.3 5300
2.3 4800
3.3 5000

4.3 5500

Correct Answer :-

« 35300

14) A can do a piece of work in 6 days. B is 25% more efficient than A. How
long would B alone take to finish this work?/ A T% $TH &1 6 R A+ qwdr gl B, A
¥ 25% SA1GT H1 HRIA 3| B BT 3BT 39 BTH B TRT B A fha=1 Iwg aawm?

P

1. Sdays/ 5f¢q
s 3l

2. 3days/ 3faH
PR

3. 3days/ 3fad
1 1

5-— 5—
4. “4days/ 4faq
Correct Answer :-

4 4
4

— 4,_
« Sdays/ >5faq

15) In an examination the standard of passing was 40%. Out of 9 students who
appeared, 4 failed and the remaining get 80%, 57%, 51%, 68% and 79%
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marks. The median of the percentage marks obtained by all students is equal
to:/ TP TIeT H Il 3id 40% 31 9 faenffai A & 4 faemeff srg=iivf 3 3k 2w femifay &1
T Ufa=Td $HE: 80%, 57%, 51%, 68% 3R 79% &1 9} faenfial & uraie ufawra sie
T AT [Td PITT:

1.57%
2. 68%
3.51%

4.79%

Correct Answer :-

e 51%

16) A man rows a distance of 16 km upstream in 4 hour while a distance of 36
km downstream in 6 hours. What is the speed of the stream?/ I{'CEW%[ URT &
faudia 4 gve ® 16 forrlt quT yRT B1 fa=M ¥ 6 wve ® 36 fortit &Y gt a HaT 81 YT Bt ey R

ghit?

1. 1.5 kmph/ 1.5 fodiEer

2. None of these/ﬁﬁﬁﬁgﬁ
3.7.5 kmph/ 7.5 foHi/Eer

4.2.5 kmph/ 2.5 foHi/Ee

Correct Answer :-

« None of these/éﬂﬁ@f@g:@'

17) The number of prime numbers between 301 and 320 are:/301 3R 320 F
A HTST T3 B TS T 8?

1.5
2.6
3.4

4.3

Correct Answer :-
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18) 2 men and 3 boys can complete a piece of work in 10 days while 3 men and
2 boys can complete the same work in 8 days. In how many days can 2 men

and 1 boy complete the work?/ 2 3¢H 3i¥ 3 A8 T FTH &I 10 A A FI THd 8
i 3 3eH 3R 2 TSP I T 1 8 fe7 H BT IPd 21 & 3eH 3R TP TS H1 IH B Bl
P e d s dne

1. 2 days/2 faa
2. 8 days/8 fad
3.7 days/7 faA

Id B

212
3, 613

386
4,495

Correct Answer :-

28
. 93

20) Find the largest of the following fractions./fafafEd il & 3 gad a3t i 319
|

E
1. 78
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14
3, 32

18
4,40

Correct Answer :-
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /e 'c?rgé
e goft § Terd ug I B
15, 28, 43, 60, 79, 110, 135
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1.135
2.60
3.110

4. 28

Correct Answer :-

« 135

2) The roots of the quadratic equation x2 + 729 = 0 are:/fgara &I x2 + 729
= 0P YdsE:

1. None of these/ 378 ¥ &5 -Ta!
2. Real and unequal/ Rafa® 3R A

3. Real and equal/arfde 3R SRR

4. Imaginary/®Tedfd

Correct Answer :-

. Imaginary/m

3) The total sum of ages of A, B and C at present is 90 years. Ten years ago the
ratio of their ages was 1: 2: 3 respectively. Then the present age of B is: /A, B

3R C B TdHT 3T BT Ha AT 90 T4 g1 10 T8 Y ISP 3ATY BT SUTd HHRT: 1: 2 : 3 B, 9l BBL
e 3 8:

1. 25 years/25"q'5f
2. 28 years/28 9%
3.30 years/3oaﬁf

4. 40 years/40 a9

Correct Answer :-

« 30 years/306|13f

4) How many diagonals are there in a octagon?/T&% W‘Hﬁﬁﬁﬁﬁﬁwm%?
1. 20

2. 14
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3.18

4. 10

Correct Answer :-

5) If A:B is 2:3. B:Cis 6:11, then A:B:C is:/qﬁA:B= 2:3, B:C =6:11,dd A:B:C Il

gNIT?

1.2:6:11
2.4:6:11
3.2:3:11
4.4:6:22
Correct Answer :-

e 4:6:11

6) In which of the following is the lengths of diagonals equal?/ = # 3 f&as
fawur 3t araTs waE gl 82

1. Rectangle/3ad
2. Trapezium/Jadd agyd

3. ParaIIeIogram/Waﬁﬂ;ITﬂ

4, Rhombus/wﬁlﬂﬂﬁ

Correct Answer :-

« Rectangle/31dd

7) A man lent Rs.2000 partly at 5% per annum and the balance at 4% per
annum. If he receives Rs.92 as annual interest, find the amount lent at 5%./T®

3eHI 4 2000 . & TP HRT P 5% YD TS B STV TUT AY HIT B 4% qIfid TS BT A
IR faar| afe 3 S R U 9 & $a1 92 F. HT TS UK B &, o 39 3MeHl §RT 5% W & T
YRR AT

1. % 900
2.3 1200

3.3 800
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4. 31000

Correct Answer :-

« 31200

8) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fdwr: Fafiafaa goft & yyare i (2) & RIM W T4 34T A1 w?

1+1+1_Tr
10 40 88

4,10

9) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdxr: FAufafad 2ol # wsars fog (2) & WM W 71 3= Tnfge?

16,4, 2,1.5,?,1.875
1.1.75

2.2

3.1.5

4.1.875

Correct Answer :-
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17

The sum of a number and its reciprocal is I. Find the numbers:/wﬁ'@TGﬁ?
17

IUF HEHT FTANT 4 2| TSI J1d FY

1.2, 2

e |

2.4,

Ll

11) Price of sugar increases by 20%. By how much percent should the
consumption of sugar be reduced so that the expenditure does not change?/

AN & gea & 20% i @) w1t @ ot A1 3 Tua A fra wfawra v @1 5 % @ & ufvada
agr

2
1.163%

2.20%
3.15%

4.10%

Correct Answer :-

12) Mohan, a shopkeeper, bought a shirt of list price Rs.225 at a discount of
20%. If he wants a profit of 30% then he should sell the shirt for (in Rs.):/'Fﬂ?T-r
it fF U gPTFIGR ©, Siftrd Yo 225 <. ATl HHIN 20% Fe R a1l afe 98 30% a1y
TEaT & o I HHI fba 3. § F=- ghfr?

1. 286

2. 256
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3.230

4. 234

Correct Answer :-

« 234

13) A certain number of men complete a work in 160 days. If there were 18
men more, the work could be finished in 20 days less. How many men were

initially there? / $© afad fas: f6d &1 1 160 & Wi wvd &, afe 18 =fd i gla,
@t BT T = | 20 37T FH 09 | R™ ¥ 981 fva- afaq 42

1.126
2.116
3.124

4,122

Correct Answer :-

« 126

14) A person covers a certain distance in 40 minutes, if he runs at a speed of 45
kmph on an average. Find the speed at which he must run to reduce the time of

Journey to 30 minutes./ T% fad U 3a Tfa 45 foerit/aer @ ve e gt 40 e
W a9 B 81 afe g8t B 30 e & au & 8, @ aafe &) nifa ra sk

1. 36 kmph/36 fedi/Euer
2. 60 kmph/60 faHl/aueT
3. 50 kmph/50 faHi/auer

4. 35 kmph/35 feHt/@Uer

Correct Answer :-

« 60 kmph/60 fe&Ht=UeT

15) A contractor undertakes to dig a canal 12 km long in 350 days and employs
45 men. After 200 days he finds that only 4.5 km of the canal has been
completed. Find the number of extra men he must employ to finish the work in
time:/U® 3¥eR 12 fr 1t @t 78w 350 A1 ¥ Wign & forw 45 el @ 1 R amar 21
200 Y 915 98 UTdT @ % 783 &1 Paa 4.5 5.1, € W T 81 3d: BTH S THT W R B
& fore 39 3R fhamt Smefrl &Y &8 IR @I g2

Page 173



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

1. 65 men/65 3GH!
2. 75 men/75 3TGH!
3. 55 men/55 3TgH!
4. 45 men/45 SMTGHT

Correct Answer :-

« 55 men/55 3IGHT

16) Monthly expenditures (in ¥) of a family on rent, food, clothing and other
miscellaneous items are Rs.1000, Rs.1500, Rs.350 and Rs.750 respectively. If
this information is presented with the help of a pie chart, then the angle for

clothing is:/ T® URAR & AHH fHmar, HivH, Fus 3R fafdy w wifre @< w9 $.1000,
%ﬁggr,rasso 3R %.750 21 IS a8 a1 urg T & u1ead | &} 9 o) US| W W BT A

o

1. 15

o

2.45

3.60

o

4. 35

Correct Answer :-

17) A truck covered a distance of 780 km in 12 hours. What distance would a
car cover in 11 hours travelling at a speed which is seven kmph more than that

of the truck?/ T& ¢ 12 He ® 780 fo5ift 3t g&t 7 wa1 81 U &R omyet fd g St i @
7 fddider Al 8, 11 6 o fa-it gt aa s

1. 792 km/792 fodi
2. 810 km/810 fabdit
3. 650 km/650 o
4.735 km/735 fod

Correct Answer :-

« 792 km/792 et
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18) Consider the following statements /9 $Y=-1 U= &= ¢-
The number 23 is:/ IS 23 §:

1. A prime number /T U ST

2. A real number/T® QS JABT

3. An irrational number/T& URAT TBAT

4. A rational number/T& UREY J=T

1.1, 2,3 arecorrect/ 1, 2, 3 el g

2.1,2,4arecorrect/ 1, 2, 4 Hﬁ%

3.1, 3, 4 are correct/1, 3, 4 gl &

4.2, 3, 4 are correct/ 2, 3, 4 T e

Correct Answer :-

. 1,2, 4arecorrect/ 1, 2, 4 T8 &

19) Find the smallest of the following fractions./fFafaf@a fasl A ¥ 9ad sid i
RIGK 24

23

3. 56

55
4,11

Correct Answer :-

20) Find the largest of the following fractions./FgfeRad fu#i & & 99 g8t f¥= 319
G2l

4
1.9
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52

2. 87

41

3.76

111
4. 190

Correct Answer :-
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1) DIRECTIONS: Find the wrong term in the given number series./ﬁi“\’r: iﬁgé
HEAT 40Tt H TTerd UG [ B

6,12, 36, 144, 722, 4320, 30240

1. 36

2. 144

3.4320

4.722

Correct Answer :-

« 722

2) Ram can do a work in 20 days. Ram and Shyam together do the same work
in 15 days. If they are paid Rs.400 for that work, what is the share (in Rs.) of
each? / IW TH HTH &I 20 fT & [R1 6 GHa1 8 | I 3R W TH 1Y fHaHs 39 STH o1 15
o & QR 7 Td B 1 afe 3 39 FW & fU T 400 Urd B, A YRS B foha=il Aoigd (3.

#) farerfi?

1. 300, 100
2. 200, 200
3.350, 50

4. 250, 150

Correct Answer :-

- 300, 100

3) The roots of the quadratic equation y2 + 4y + 4 = 0 are:/fgara gHi®uTy2 +
4y + 4 = 0 F A E:

1.2,2

2.-2, -2

3.4, 1

4.2, -2

Correct Answer :-

.« -2,-2
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4) Perimeter of an equilateral triangle is equal to the circumference of a circle.

22
Usem =—

The ratio of their areas is:( 7 )wm@ﬁaﬁmuﬁnquaaﬁm%
=)

W%lﬁ%tﬁmmeﬁm%( 7
1.21: 22V2

2.21: 22V3

3.22: 21V?2

4.22: 21V3

Correct Answer :-

. 22:21V3

Walking at 4 of her normal speed Monika takes 2 hours more than the normal
3

time. What is her normal time?/MWﬂﬁﬁaﬂﬁﬁﬂﬂﬁ@ﬁﬁwmm
HHY & Gl gel AP ddl &, a9 ST A 90T T 52

1. 4 hour/ 4 9cl
2. 6 hour/ 6 9cT
3. 8 hour/ 8 gcl

4.5 hour/ 5 9cl

Correct Answer :-

« 6 hour/ 6 dcTl

6) A student was asked to add 16 and subtract 10 from a number. But by
mistake he subtracted 16 and added 10 and found the answer 14. What is the

right answer?/U& ST & U BT H 16 SIS OUT 10 GSTH B HET AT Afh Tadt § 397
16 TeT f3ar a1 10 SitS 3T 59 PR IUD! SR 14 YT 31| Tl SR T §RM?

1. 32
2. 26
3.30

4. 36
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Correct Answer :-

7) The sum of the present ages of A, B and C is 90 years. Six years ago, their
ages were in the ratio 1:2:3 respectively. What is the present age of C?/ A, B,

3R C Tt U AT HTINT 90 T4 g1 6 T Yd IADI 3T BT JUT HHR: 1:2:3 ATI C B
T 3T T 82

1. 36 years/ 36 Y
2. 42 years/ 4299
3. 40 years/40 I
4. 48 years/ 48 L

Correct Answer :-

« 42 years/ 4299

8) Sum of two numbers is thrice their difference. Their ratio is: /<! &3 BTN
IF 3R o1 foav[1 81 37 W@ail &7 3rurd @

1. 3:1
2.2:1
3.3:4

4, 4:5

Correct Answer :-

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/fe=r: fr=fefad u=a & wxAara® g (7) & I W T1 371 91fge?

17 [1+1+@+1+(1+1+2)]=?
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4.2

Correct Answer :-

10) The area of a rhombus, whose one side is 20 cm and one diagonal is 24 cm

is:/ U GUagYS T &A% 1 g1, orae) v Yoir 20 A, ik v fawuf 24 . 8:
1. 384 cm?/384 T2
2. 386 cm?/386 T2
3. 240 cm?/240 92
4. 480 cm?/480 JTf2

Correct Answer :-

. 384 cm?/384 Q12

11) The price of cooking oil has increased by 25%.The percentage of reduction
that a family should effect in the use of cooking oil, so as not to increase the
expenditure on this account, is: /@M dd T SM 25% T¢ T &I ST HE R AT T IEH S
o uftaR &) @rey da & @ud | fean ufa=ra o w1 ghft?

1. 20%
2.25%
3.30%
4.15%
Correct Answer :-
e« 20%

12) 2 4
If 2/3rd of A is 4/5th of B, then A : B =2/4f¢ A &1 3 YT, B & 5 YN & SRI&T gl dl
A:B=?

1.10:9
2.6:5
3.9:10
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4.7:8

Correct Answer :-

13) 5years ago, the average age of P and Q was 15 years. Average age of P, Q
and R today is 20 years. How old will R be after 10 years?/Urdg 94 Jd P TUT Q Ht
3T g 15 99 A1 3@ P, Q TYT R Ft T 3N 3R 20 TY 3| AGTAR 10 IUf & 1 R Bt

g forait gY wmeeft?
1. 50 years / 50 98
2.30 years / 30 @§
3. 40 years/ 40 a9

4. 35 years / 3599

Correct Answer :-

. 30 years / 309%

14) A man sells two scooters for Rs.12000 each. He makes a profit of 20% on
one and a loss of 20% on the other. The profit/loss, on the whole is:/T®% Afad gl

TPl I . 12000 U e & T I 3941 3 | TP TPex W S 20% FHTATY gia1 8, T ga W
20% Pt T gielt &1 BT Hel a1H TT I 71 BRI |

1. Rs.960 loss/ 960 3= gIH
2. Rs.1000 loss/ 1000 = g+
3. Rs.1000 profit/ 1000 ¥ @TH

4, Rs.960 profit/ 960 ¥ ¢H

Correct Answer :-

« Rs.1000 loss/ 1000 = 8T+

15) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /e Fafafaa goft & yyare i (2) & RIM W T4 34T A1 E?

7,13, 25, 49, 97, 193, ?, 769
1. 385
2.193
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3.49

4.13

Correct Answer :-

« 385

16) If a simple interest of Rs.72 will be obtained after 6 months at the rate of 3
percent per annum, then the principal (inRs.) is: / Tfe fHdt eF R 3% arftfe sare

BT A 6 TE BT YR TS .72 ¢ d1 98 o (F.9) &
1. 3,800
2. 4,320
3.1,296
4. 4,800

Correct Answer :-

« 4,800

17) Two trains starting at the same time from two stations 300 km apart and
going in opposite directions, cross each other at a distance of 160 km from one
of them. The ratio of their speed is:/3l ¢- 300 & g3 A G WA A TH T T W
faodta fa=m & germr YRy d § 3R T g &Y o7 A Tt v RrM @ 160 fFfi St g w®
TR $d 8, @ ST Tferal o7 U 8

1. 8:7
2.8:12
3.16:20

4,7:9

Correct Answer :-

« 8:7

18) A and B can do a piece of work in 10 days and 25 days, respectively. If A
and B work together for 4 days, how much work will be left?/A 3iR B T i &1
FURT: 10 3 3R 25 T & B T@a &1 afS A 3R B, Tw 1Y 4 A 9 &1f #va g, <t v
P A9 J?

1
1.2
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22

2. 75

11
3. 25
14
4. 25

Correct Answer :-

19) Find the smallest of the following fractions./fFrufefad e & 9 9ad 31 fa=
I P

g
1. 17

31
2 29

24
3,19
42
4. 27

Correct Answer :-

20) Find the largest of the following fractions./FgfeRad fu# & & 99 a8t fy= 39
Cxd

261
1. 28

192
2. 21

146
3. 17

189
4, 19

Correct Answer :-
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1) DIRECTIONS: Find the wrong term in the given number series: /fqam: ﬁgﬁ
der goft § 7Tead ug | B

27,17, 22,42,17,7, 12

1.7

2.42

3.17

4. 22

Correct Answer :-

2) A rectangular plotis 116 x 68 m2. It has a gravel path 2.5 m wide all around
in it. Find the area of the gravel path?/ &% JTIATPR ASH 116 % 68 ?:I'lf'lﬂﬂ?aﬂ%l
TP IRT 3R 2.5 Hiex AST TP AT 21 A& BT AABd Jd HIfoE|

1. 895 m2/895 Hi2
2. 900 m2/900 T2
3. 885 m2/885 2
4.945 m2/945 12
Correct Answer :-

« 945 m?2/945 #2

3) The roots of the quadratic equation 4y2+12y+9=0 are:/fgara GHi®or
4y2+12y+9=0 & A &:

1.4, 8

2.6,4

W
B L
YNTCIE

]

Correct Answer :-
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4) If the area of a triangle is 250 m2 and base: height is 4:5. Find its height./

gfe T YW &1 &A% 250 Tiftfier | TUT 3MYUR: HATE = 4:5 B, Al AP HATS JId BIT,
1. 45 m/45
2.30 m/30 #t
3.25 m/25 #t

4.20 m/20 #t

Correct Answer :-

« 25 m/25 HI

5) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= FA=fefEd u=a o yxar® g (2) & RIF W= F1 34141 91fee?

789613 - 658748 - 124563 =?
1.6302
2.6230
3.6320
4.6032

Correct Answer :-

« 6302

6) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /A dwr: Fafafaa goft & yyare e (2) & RIM W T4 34T A1 w?

1, 6,15, ?, 45, 66, 91
1. 25
2.26
3.27

4. 28

Correct Answer :-
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7) At what rate per cent on simple interest will Rs.750 amount to Rs.900 in 5

years? /HIYRYI T 31 fopait ufawrd &3 & 5 qul # R 750 F. BT Y= 900 +. 8 Smesfi?

1
1. 52%

2.4%

3. 5%

1
4, 32%

Correct Answer :-
« 4%

8) Average age of a teacher and three students is 20 years. If all the three boys
are of same age and the difference between the ages of the boys and the
teacher is 20 years. Then the age of the teacher is equal to:/Td 3Ty 3R 3
faenf¥al Y sia emyg 20 ad 81 afe i+ faenfal #Y ey wwm @ aut faenf¥a siv srearus ot
3T T 3R 20 T B, °t eI B 3y Fhi:

1. 25 years/ 25 G
2. 45 years/ 45 dY
3. 30 years/ 30 d¥

4. 35 years/ 35 G

Correct Answer :-

. 35 years/ 35 34

9) A man sells two horses for Rs. 1710. The cost price of the first horse is equal

to the selling price of the second. If the firstis sold at 10% loss and the second
at 25% gain. What is his total gain or loss (in rupees)?/T® 3TGHI Gl TS 1710 %. H
IIAT ¥ | U HIS BT 994 Yo g OIS F fApa Jou & R 21 IfS U8d B 10% T 3R g
P 25% Y R STITAT ¢ 1, P ATH TSI Jd B3 (3. 7))

1.95
2.90

3.100
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4. 85

Correct Answer :-

« 90

10) A can do a piece of work in 20 days, which B can do in 12 days. B worked
for 9 days. A can finish the remaining work in: /A W?ﬂ'{f 20 ﬁq‘fﬁmm%,
Safe B 981 o1 12 a9 A s Ipar g1 afe B A a8 o1 9 ol a& fFar g, A v ot A fpaa
e A T A2

1. 5 days/5 fa
2.3 days/3 a7
3.7 days/7 faa
4. 11 days/llﬁ:f

Correct Answer :-

e 5 days/5 faa

11) Two pipes A and B together can fill a cistern in 4 hours. If they had been
opened separately, pipe B would have taken 6 hours more than A to fill the
cistern. How much time will be taken by A to fill the cistern anne?/ﬁﬂﬁA TdB
TS 1Y fAas U <ol 3t 4 6 W WX Thd 8| afe I8 ST ST Wl STdl, ot 39 bl B U
H9A B, T A ¥ 6 G¢ UG THT AT Td A §RT bd 3T bl Bl WA | fba-11 907 TR

1.1 hour /1 He
2.6 hours/6‘El'?.r
3. 8 hours/8 ©¢
4.2 hours/2 ¢

Correct Answer :-

« 6 hours/6 Gc¢

12) The sum of four consecutive even number is 284. What would be the
smallest number?/ IR HANT JH JSAT3IT BT INT 284 g | I BIT T=AT T ERI?

1.72
2.74
3. 68
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4. 66

Correct Answer :-

- 68

13) If 4§x §= 7, then find the values of a and b:/‘qﬁixb; =7,dda 3R b BTHH
BIG ]

1.3,2

2.1, 8

3.6, 7

4.5, 1

Correct Answer :-

14) Passing marks in an examination is 36%. If a student gets 72 marks and
fails by 18 marks, then the maximum marks of the examination is:/ Wqﬁ&ﬂﬁ'

B?ﬂ'Ul'fﬂ??,%GWo 21 afe v faemdf 72 3ie urd Ha1 8 8k 18 3wl I Srgiivl g wirar 81 < wdtem
BT YUI® &:

1.400
2. 250
3.100
4. 200

Correct Answer :-
« 250

15) Train A of length 180m and speed 72 km/hour crosses train B of length 120
m and speed 108 km/hour moving in the opposite direction in:/ 180 lﬁaaﬁw
ITMSL A, 72 fHi/der @1 nfa § 120 Hiex d@dt aur 108 fHi/ger ot nfa @ faudia e d g«
TG YS! B 3, fhaq 99g 9 R S

1.12 seconds/lZ@T:b'U@;r
2.6 seconds/6@$03
3.24 seconds/24“§$0_er
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4. 30 seconds/30 YHUS

Correct Answer :-

« 6 seconds/6 YHUS

16) A truck covers a distance of 600 meters in 1 minute whereas a bus covers a
distance of 32 km in 40 minutes. The ratio of their speeds is/ T® ¢® 600 Hez &t
it 1 fieTe o au sl 8 wrafes ue aw 32 felt 31 gt 40 fiFe | au ot 31 37t nfeal o1
U 3

1.1:2
2.3:4
3.2:3

4, 4:5

Correct Answer :-

« 3:4

17) HCF and LCM of two numbers are 7 and 140 respectively. If both numbers
are between 20 and 45, the sum of the numbers is:/ﬂ’f?’i’@ﬂaﬂﬁ.ﬁ. 3R A.9. U
7 3R 140 g 9fe WA 20 3R 45 & S H g @ QY T=m3i &1 3T 8-

1.63
2.70
3.77

4. 56

Correct Answer :-

18) Two years ago, A was four times as old as B. 8 years hence, A’s age will
exceed B’s age by 12 years. The ratio of the present ages of Aand B is: / CCL]

Jd A 31 3G, B 3t 31 B IR A1 1 8 ai a1g A Ft 31g, B Ft MG & 12 T 3(fF g St |
A 3R B & 90T 3T BT 3T &

1. 3:2
2.4:1

3.3:1
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4,5:1

Correct Answer :-

« 3:1

19) Find the least among the following fraction./ fFaffaa fi# # @ 9ad & fa=
A B
7
1.11
E
2. 71

21

3, 37
43
4,87

Correct Answer :-

34
. 71

20) Find the largest of the following fractions./fFafafad i & 9 gad a3t i 319
Ll

%
1. 85

85
2. 58

212
3. 105

405
4 312

Correct Answer :-

Page 193



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

PROFESSIONAL EXAMINATION BOARD
Jail Vibhag , Karyalay Pradhan Mukhya
| Professional Van Sanrakhsak & Rajya Van Vikas
Bbgggfpg”ﬂ“"” Nigam Ltd. Bhopal Combined

Recruitment Test 2017
27t July 2017 09:00AM

Page 194



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /e 'c?rg'é
HET 40ft # Terd UG J1d B

12,11, 18, 45, 196, 795, 4734

1.196

2.795

3.45

4. 18
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Correct Answer :-

« 196

2) Each interior angle of a regular polygon is 140°. The number of sides is: /T®%

TUEGYS T TP DIV 140° g, I 3Tb Yerail »1 T=m ghft:
1.8
2.6
3.9

4.5

Correct Answer :-
« 9

3) If A and B are in the ratio 3 : 4 and B and C in the ratio 12: 13 then Aand C
will be in the ratio:/df¢ A 3R B ®T 3UTd 3:4 dYT B 31X C &T 3JuTd 12: 13 &I, @ A
3R C PT 3AJUTd N2

1.7: 13
2.9: 13
3.13: 11
4.11: 13

Correct Answer :-
e 9:13

4) From two places, 60 km apart, A and B start towards each other at the same
2

time and meet each other after 6 hours. Had A travelled with 5of his speed and
B travelled with double of his speed, they would have met after 5 hours. The

speed (in km/hr) of A is:/ 60 &, 3 gt wR YA G RIFI & A 4T B TP & 997 (-
2

Y F1 3R T S B 9UT US g | 6 6 91E e 2] afd A oroeht I Y 3 qun B ot
T DI SR[HT I1d A TaT gidT, °f I TPh-gok 9 5 °e 916 fAd gid| A & 3 (. /€. #) &

1.4
2.6
3.12
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4. 10

Correct Answer :-

« 6

5) Two years ago, the ratio of the ages of A and B was 3:4 respectively and
after 4 years it will become 4:5. What is the present age of B. / 2a13quq‘A 3R B
D AT BT AU UM 3:4 AT 3N 4 T q1¢ IABT Y T SJUT 4:5 § ATCT| B I IIA
3TY FT1 82

1. 25 years/ 25 G
2. 26 years/ 26 dY
3. 27 years/ 27 G

4. 32 years/ 32 G

Correct Answer :-

. 26 years/ 26 a4

6) The roots of the quadratic equation 2y2 + 19y + 44 = 0 are:/fgura gHi®Ur 2y2
+ 19y + 44 = 0 F A B:

11

3.11, 8
4.-11,-8

Correct Answer :-

7) An isosceles right-angled triangle has an area 1250 cm?2. What is the length

of its base?/T® JHSIU JHIGETE Y T &wa 1250 A2 g, ot 39F ATUR $t G5 T
ghf?

1. 40 cm/ 40 I+
2.60 cm/60 IH
3. 50 cm/50 9Ht
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4. 65 cm/65 IH

Correct Answer :-

« 50 cm/50 THT

8) The average age of 36 students in a group is 14 years. When the teacher’s
age is included in it, the average increases by one year. The teacher’s age in

years is:/36 ST & TP TYE B 3Nd MY 14 T g | 99 ITH e ot 3myg wfira w2 & st
2, a1 3ia ue adf a¢ Sirar 31 e oY 3y e o 82

1. 31
2.51
3. 36

4.50

Correct Answer :-

9) The sum of first 20 odd natural numbers is equal to:/%Y4H 20 fauy yrpfas
HEIATSHT BT N SRIR 3:

1. 300
2.210
3.400

4.420

Correct Answer :-

« 400

10) z
A train running at 11 of its normal speed reached a place in 22 hours. How

much time (in hours) could be saved if the train had run at its normal speed?/
7

TP YIS S0 AT 91 $Y 11 97e & 99 oY [ R W 22 9 § ugadt 2] afe
IEMST YT T 1 | Il gidt, df fras gHa(Ee #) &1 9wd giar?

1.8

2.16
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3.7

4.14

Correct Answer :-

« 8

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fd=r: fAfefad uwa o yxAar® g (?) & RIF WR F1 34141 91fge?

51 32 3
E+?24+ S4+4=20
'121
1. 2
'l'l.l
2. 2
10 =
3.
'13.l
4. 2

Correct Answer :-

12) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /9. Fafafaa goft & yyars fore (2) & WM W T 3T A1flgw?

4,5,9,18, 34,7
1. 58
2. 59
3.52

4.42

Correct Answer :-

13) Wages for 45 women amount to Rs.15525 in 48 days. How many men must
work 16 days to receive Rs.5750, the daily wages of a man being double of
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those of a woman? /45 Tfgeanaii #t 48 faf @1 aeigdl ©d 15525 71 fFa §&= 16 At
TP B B Al ST Fd Toigs! ©UY 5750 g1, TaP Y& Pt P Aoigel ufeen st ga-m o
a2

1. 40 men/40 Y=Y
2.25 men/25 7Y
3.35 men/35Y=Y
4. 30 men/30 Y=Y

Correct Answer :-

« 25 men/257Y

14) The price of an article has been reduced by 25%. In order to restore the
original price, the reduced price must be increased by:/U® d¥] &1 I 25%. ®H

o o T 31 afe 39 R ugd are g SHaRT AR #3181, df %4 fre e g W faran ufasma
gfa B gnft?

1
1. 333%

2.33%
3.25%

4. 30%

Correct Answer :-

1

. 3339

15) 3 men and 4 boys can earn Rs.756 in 7 days. 11 men and 13 boys can earn
Rs.3008 in 8 days. In what time will 7 men with 9 boys earn Rs.24807? /3 &Y
T4d 4 As® fUae: 7 Al 4 ¥ 0d 756 FHIA 31 11 79 3R 13 a5 fAasx 8 Al 4 wud
3008 FUTA ¢ | frdn THT § 7 379 U4 9 dsd faH TUd 2480 FHHI UHA?

1. 8 days/8 fa=
2. 20 days/20 f&A
3. 15 days/15 f&q

4.10 days/10 faq

Correct Answer :-

. 10 days/10f&T
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16) A man invested Rs.50, 000 at simple interest in the three parts one third at
6% p.a. one third at 7% per annum. At what rate must he invest the remaining
amount so that he earns 8% interest per annum on the total amount?/T& 3TgH
¥. 50,000 F! 1. TS B1 G2 A 3% Ha1 81 98 TP fAgTs YT 6% a1itfe sure & gz A auT

TS fAgTs URT B 7% a1ifer g3 W A= #3ar 3] R Ui &) foh o R = ¥ anfes et o

TR 8% TTYD & BT TS UTW B2
1.12%

2. 9%

3.11%

4. 10%

Correct Answer :-

« 11%

17) Luis sold his work tools for 1,850 and earned a profit of 25 per cent. At
what price did Luis buy the work tools?/d3H 3+ & & UG B 1,850 T qUT 25
Tf=Ta &1 A1H UTed foraT | 939 A frd T IR a8 Susur WRiel 42

1. 1300
2. 1480
3.1360

4. 1240

Correct Answer :-
« 1480

18) The LCM of two numbers is 60. The numbers are in the ratio of 4 : 5. The
sum of the numbers is? /3 GBS HT T. . 60 31 VAT 4 : 5 F U & 3 | T3 BT
TrTe?

1. 27
2.32
3.64

4. 28

Correct Answer :-
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o 27

19) Find the smallest of the following fractions./ﬁ'&lﬁ'@ﬁﬁl’yﬁﬁﬁmﬁﬁﬂ
A B
E
1. 20
E
2. 97

6

3, 13
36
4,57

Correct Answer :-

14
. 97

20) Find the largest of the following fractions./fFafafad i & 3 gad a3t i 319
|

E
1. 62

6

2. 11

10

3, 49

31
4,42

Correct Answer :-
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series. /fdxam: zfrgé
e goft § Terd ug I B
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4,5,9, 20, 34, 59, 95
1.9

2.34

3.59

4. 20

Correct Answer :-

« 20

2) One diagonal of a parallelogram is 70 cm and the distance of this diagonal
from either of the outlying vertices is 27 cm. The area of the parallelogram is:/

TH GUR 9gUT & Tw faeul @t aars 70 At 7 3k 39 fHdt oft grey =i 3 fapof wr sm@l
T I Y AT 27 A R, A 50 THR I T Twd @

1. 1990 cm?2/1990 JHi2
2. 1836 cm?/1836 T2
3. 1800 cm?/1800 T2
4.1890 cm?/1890 T2
Correct Answer :-

. 1890 cm?/1890 ¥+2

3) The roots of the quadratic equation 9x2 + 9x + 2 = 0 are:/fgara GHi®HIT 9x2 +
9x + 2 =0 FHAR:

1.-2/3, -1/3
2.-2/3,1/3
3.2/3,1/3

4.2/3,-1/3

Correct Answer :-

« -2/3,-1/3

4) 20 men work 6 hours a days for 7 days to complete a work. How many
hours, should 10 men work to complete the same work in 12 days?/20 ¥4 T
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®1d B Ufdfe 6 4¢ BT B 7 1 A Qo HX Fhd &1 10 T30 B I S Y 12 faT & qui p
3q Ufafea fFan 4¢ o e anfew?

1.4
2.5
3.7

4.6

Correct Answer :-

5) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fadar: fAfefad uza ® yHars fg (2) & RIF W) F41 311 91fge?

1 2 4
7375

1 2 4
27373
1. -2
2.1

10
373

11
4.5

6) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /9 Fufafaa goft & usares e (2) & WM R 1 3T Arfge?

7,8, 12, 21,37,?, 98
1.8

2.12

3.21

4. 62
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Correct Answer :-

7) The ratio between the length and breadth of a rectangular plot is 5:3
respectively. If the perimeter of the plot is 192m. What is the difference
between the length and the breadth of that pIot?/WWﬁ&'ﬁ?ﬁméﬁ?
SIS BT U HH: 5:3 8, dfe A # aRwg 192 . 3, 9 39 AgH ot awTs iR AsE &
T P SR T 8?2

1. None of these/ﬁﬁﬁaﬁg:ﬁﬁ
2.12 m/12 #T.
3.24 m/24 1.

4.18 m/18 Hl.

Correct Answer :-

. 24 m/24 H.

8) At present,Roopa is twice as old as Kiran. 10 years ago Roopa was 4 times
as old as Kiran, then the present age of Roopa is:/ ¥UT @1 adar 3T, fHor & 3y
Bt an 21 10 9 gd = ur 3t 3wy, fhvor Y sy 1 4 T <R, o Fur B aduE sy R

1. 28 years/28 ay
2. 20 years/20 99
3. 30 years/30 Gl

4. 38 years/ 38 G

Correct Answer :-

. 30 years/30 9%

9) A man can row at a speed of 5 kmph in still water. He goes to a certain point
with upstream speed and back to the starting point in a river, which flows at 2
kmph. The average speed of man for total journey is:/WﬂT&ﬁﬂﬁﬂﬁﬂTﬂﬁlﬁﬁ 5
frit/auer 31 a8 U1 & faudia foxn o 3o ¢t 70 ovar 8 iR g: Rfb fag o a9y o wiran
8| afe yrT ot 71far 2 fHeii/aver 8, df et &1 oo ar=n & SR i i J1a B

31
5

3_
1.~ 5kmph/ > fodl€uer
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1 1

4= 4=
2. Skmph/ > feHiETer

1 1

4= 4=
3. 6kmph/ ©feHi@ver
1 1
3= 3=
4. 6kmph/ 6fdHlmTe

Correct Answer :-

1 1
4= 4=
« Skmph/ 5fHHlETE

10) E_E_E_(?a—é}b+3c) E_E_E_(?a—é}b+3c)
3 4 7 3 ,thenp=?/‘qﬁ3_4_?_ 3 ,di p =2
1.16
2.28
3.26
4. 58

Correct Answer :-

11) My father distributed Rs.280 in such a way that each girl received Rs.20
and each boy Rs.10. If the number of boys is less than that of girls by 2, find

the number of boys. /A fUdTSI A ¥. 280 F TSP 3R FdsfPHul & d= 9 avg faafva fear fe
TP TSI B . 20 UTW 81 dUT YLD dSP I . 10 YT 81 | TS AP 1 BT dsfbal Bi
TET 9 2 HH g, A AS P I - JTd PG|

1. 15
2.7
3.10

4.8

Correct Answer :-

« 8

12) A trader sells 100 mangoes and gains a profit equal to the selling price of
five mangoes. What percent of the profit does he get?/WTﬂNﬁ 100 3{TH STBR 5

Page 208



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

STHI & faehg Yo & SRIER d1H HHTAT & | GHTGR DT aTH Uia=Td 1 BT

1. 4%

Bl
2. 51%%

2
3.73%

4. 5%

Correct Answer :-

13) The number of unique prime divisor of 960 is:/960 & 3(fgdT AU fIHTSTH] BT
J@I gihf:

1.17
2.5
3.11
4.3

Correct Answer :-

e 3

14) The rate of income tax is increased from 4% to 5%. As the result of it, tax
liability of a person is increased by 10%. Percent increase or decrease in his
income is:/ 3TAHR B G 4% T TgHT 5% &l oail 8, Forasd ufvona wawu va aafq s1H
SRIE 10% ¢ WTa1 8 | 3T& 34 | ufawra wH/gfs e

1. 9% decrease/9% HH!
2. 9% increase/9% q@
3. 5% increase/5% Q’@

4. 12% decrease/12% HH

Correct Answer :-

« 12% decrease/12% HH!

15)
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A person pedals from his house to his office at a speed of x; kmph and returns

by the same route at a speed of x, kmph. His average speed is:/ w&m{ﬁ&mﬁr
W A BTy B Ugd x, fHHaver ot wfa & Srar 8 iR S IRd | x, fFit Aver s o d w®
I 3ATT 8 | TP 3N 7fa B

3( HyHy )
1_4 %+ X

2X1.X2

2. X+ X

Xy T X,
3. 3

¥+ X
4, 2

Correct Answer :-

2}‘:1.}{2

. X+ X

16) Mean of 100 observations is 45. It was later found that two observations 19
and 31 were incorrectly recorded as 91 and 13. The correct mean is:/ 100 A=l

BT HIH 45 § 918 § gar I fb &Y 7MY 19 3R 31 & VIF IR Tadl 9 91 3R 13 fora faar
T A w8

1.45.00
2.44.00
3.45.54

4.44.46

Correct Answer :-

. 44.46

17) Suresh can do a work in 15 days. Suresh and Ramesh together do the same
work in 10 days. If they are paid Rs.1500 for the work, how should the money

(in Rs.)be divided between them? /TR0 TH HTH &I 15 &1 H GRT B AHdT 8 | R 3R
I T 1Y e 3t wrd o1 10 fe1 & qR1 w3 g@d 8 afe ST W & e %.1500 fred 8,
ot =T SR AR BT R (F.H) swHRr: fan ghm?

1. 700, 800
2.1300, 100
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3.1200, 300
4.1000, 500

Correct Answer :-

« 1000, 500

18) Prabhakar deposited Rs.5,000 in a bank. The bank offered simple interest
at the rate of 12 percent per year. After 5 years the total Amount (in
rupees)received by him will be:/JHTHR 5,000 . TH s A 5T fHar| §6 Iq 12%
I TTUR TS B G A 5 79 916 Fd fbat wud frger i

1. 8500
2.7500
3.7000
4. 8000

Correct Answer :-

« 8000

19) Find the smallest of the following fractions:/fAafefaa fial d & e Bidt fi=
BIGKXE

&
1. 29

72
4. 203

Correct Answer :-

18
. 89

20) Find the largest of the following fractions:/fRgfeRad faa @ J a9 a3t i 319
P
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2
9

19

7. 17

23

3. 21

14
4.16

Correct Answer :-
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series. /fdxam: a"rg'é
e goft § Terd ug I B

7,9,12,16.5, 24
1.9

2.16.5

3.24

4.12

Correct Answer :-
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2) A rectangular plot has an area of 490 m?2. If the length of the rectangular
plot is 24.5 m, then find the perimeter of the rectangular pIot./WGHTR-IWRﬁEH

P1 &7%d 490 W2 g1 gl A ) daTg 24.5 #Hi 8, 9 A &1 AT 31d HIvE|
1. 89 m/89 .
2.98 m/98 H.
3.87 m/87 H.

4. 85 m/85 H.

Correct Answer :-
« 89 m/89 .

3) The age of a father is equal to the sum of the ages of his 5 children. After 15
years, sum of the ages of the children will be twice the age of the father. The

age of father is: /& fUar &1 g 30 Uig = $1 MY & AT P 1 81 afe 15 98 918 Ui
i BT 3T BT AN AT BT 3R BT I Y &g, <t firem 3t 3y 3:

1. 42 years/42 G
2. 40 years /40 ay
3. 45 years/45 dY

4. 39 years/39 a¥

Correct Answer :-

. 45 years/45 Y

4) The roots of the quadratic equation 20y2 +31y+12=0 are: /fgara gifieur
20y2 + 31y + 12 =0% Yd &:

1.-15,-16
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Correct Answer :-

3 4
. 4 5

5) If x+ y= 12 and xy=32, then what is the value of (x2+y2)?/ﬂﬁ X+ y=12 3R
xy=32 g a (x2+y?2) P A T g1?

1.24
2. 144
3. 80

4. 128

Correct Answer :-

6) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fadwr: fAfefad usa § uyxar® g (2) & RIF W= o1 34171 91fge?

1+1+1_:r
12 20 30

19
4,38

Correct Answer :-

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAqxr: FAufafad 2oft # wsare fos (7) & W wR @ T Anfye?

13, 16, 21, 28, ?, 48, 61

1. 21

Page 216



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

2.16
3.28

4. 37

Correct Answer :-

8) A circular wire of radius 28 cm is bent to form a square, find out the ratio of

areas of the square to that of the circle./ 28 I =1 & T& T=iig R & v Tt g9
TSI, T & TP A g0 & &TFd BT SAJUTd JTd P

1.11:14
2.14:15
3.20:21

4.21:28

Correct Answer :-

« 11:14

9) A sum of ¥370 is to be divided among A, B and C such that
A's share B B's share 3

B'sshare C'sshare 4 Then A’s share (in ) is:/T370 BT A, B 3R C T ZTUPR
AdhT %Fﬁ BT %Fiﬂ 3

faafva frarsar @ i BHIGEAT  CHITGET 4 ?, Al A PIfeRITR:

1.%120

2.3 90
3.3240

4,100

Correct Answer :-

« 290

10) A sum of money at simple interest amounts to Rs.600 in 4 years and Rs.650 in
6 years. The rate of interest per annum is? /15 AU IR TY 91¢ HIYRY TS Hi g3 &
600 . B SITa1 & 3R 6 99 91¢ 650 3=. g SITdT 8, <Y ufaay sarel o1 g¥ 1 82

1. 4%
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2. Not predictable/JTd gl foaT ST qadT
3.5%
4. 4.5%

Correct Answer :-

« 5%

11) If 10% of m is same as 20% of n, then m : n is equal to:/df¢ m #T110%, n &
20% FIAFE A m : n WS &:

1.1:20
2.2:1
3.1:2
4.1:10

Correct Answer :-

12) A train X starts from a place at a speed of 50 kmph. After one hour another
train Y starts from the same place at the speed 70 km/hr. After how much time
will Y cross after starting of train X?/ U& YeIS! X T ®ITH A 50 fHuiae & nfa 3
T UIRTY FHRedl 8 1 Th Ue 916 gl YISt Y S R A 70 fhsdi/ae &t nfa & ga=n e
P 3| IS X & T URH B &b ford THY I1¢ IS Y ITST X P UR H30?

1. 3 hours/3 YucT
23 23
2. “4hours/ 49uey
1 1
— 2_
3. 4hours/ 4duel
1 1
3- 3-
4. 2hours/ 249uer
Correct Answer :-
1 1
3- 3-
« Zhours/ 29uc]

13) If 36 men can dig a trench of 200 meters long, 3 meters wide and 2 meters
deep in 6 days working 10 hours a day, then in how many days working 8 hours
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a day will 10 men dig a trench of 100 meters long, 4m wide and 3m deep./ gfe

36 @1 Ufafes 10 GeTFM FR 6 T H 200 Hew @, 3 Hew i 3R 2 ez T @S T
Tod g, df 10 =afda ufafes 8 ¢ s8R 100 Hiex ddl, 4 Hiex A€t ik 3 A g ars
fra o & @le aod &2

1. 27 days/27 faq
2. 54 days/54 fad
3.20 days/20 faq

4. 15 days/15 f&d

Correct Answer :-

. 27 days/27 f&q

............. 2n BT AATE?

2. 2N
3.n+ 1

4.2 (n+1)

Correct Answer :-

15) If ‘n’ is a natural number then, n (n+1) (n+2) is always divisible by:/ af¢ ‘n’

TS WIPHfad B 3,a n (n+1) (n+2) T fFa fyursa g
1.5
2.7
3.6

4.4

Correct Answer :-

« 6

16) If 100 men can do 100 work in 100 days, then 1 man will do 1 work in how

many days?/ 4f¢ 100 3TeH! 100 FTH FH! 100 fRA A HIA €, at 1 3meHY 1 4 &) fraq fa=t
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TSI
1. 100 days/100 f&=
2. 200 days/200 faa
3.10 days/10 fed
4.1 days/1 faa

Correct Answer :-

« 100 days/100 faq

17) If the ratio of cost price and marked price of a shirt is 9:16, and the profit
percentage and discount percentage are the same, then the profit percentage
is: /afe Te HHI & HT G a7 3ifdhd You &1 3UTd SHHR: 9:16 §, TUT ATY Ufa=md 3R ge
wfar=Ta FH 8 df a1 ufa=rd 3 o

1. 25%
2. 30%
3.27%

4. 28%

Correct Answer :-

e 28%

18) Find the smallest of the following fractions:/fAafeRaa fu=i d & 9 Bidt fi=
BIGK2F
>
1.6
E
2. 15
E
3. 41
%
4,71

Correct Answer :-
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19) Find the largest of the following fractions:/ﬁ?ﬁ'@ﬁfﬁﬁﬁmaﬁﬁ-ﬂm
.l

9

1. 26

24

> 89

78
3. 521

63
4 181

Correct Answer :-

63
. 181

20) A man can completes @ journey in 10 hours,he covers the first half of journey at
21 kmph and the rest at 24 kmph. Find the distance covered? /U AT U ATAT
®1 10 U W GRTFHRaT 3, 3l gt a5 21 fptii/der 3 aur w gff 24 fwt/eer o1 nfa @ aa w=ar
1 79 B1 TS T gl W Hiferg

1. 224 km/224 &t
2. 220 km/220 foHt
3. 240 km/240 f&Ht

4,232 km/232 f&Ht

Correct Answer :-

e 224 km/224 fpHr
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁi‘ﬂ: ffgﬁ
H@T 4oft | TTerd ug 1 PR

1,4, 27, 258, 3125, 46656, 823543

1. 3125

2.4

3.258

4. 27
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Correct Answer :-

« 258

2) The roots of the quadratic equation x>-x—2=0 are:/fgaTd THHIN x2-x-2=0 & &

e

1.3,1

2.2,1

3.2,-1

4.4,5

Correct Answer :-

. 2,-1

3) The angle bisectors of a parallelogram form a:/THidR agUs & DIV & JAGUSTD
CEICKE

1. Rectangle/3ldd
2. Trapezium/JAdE st

3. Square/?:mc
4. Rhombus/SHagys

Correct Answer :-

« Rectangle/3dd

4) Difference between the interior and exterior angles of regular polygon is
60°. The number of sides in the polygon is:/TAagYS & 3Hd:PHIUT TUT ITE BIVT BT
3R 60° B, At ST YSI13il Ht WWT J1d P

1.8
2.6
3.9

4.5

Correct Answer :-

« 6
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5) P and Q can complete a job in 12 days working together. Q and R can
complete the same job in 20 days working together. P and R can complete the
same job in 15 days working together. In how many days can P, Q and R
complete that job working together?/ P 3R Q =il &1d )t Ty #ed gU 12 e o
RTH P 21 Q 3R R IH &1 &) Uw |14 Fa §T 20 fe7 A RT3 9Hd 81 P 3R R TS 1Y
BT HYd g IN FH B! 15 AT A R HR TP 21 P, Q 3N R TP A1Y $1 B §T fba faAt
o BTl Y RT B TDhd 82

1. 20
2.15
3.5

4.10

Correct Answer :-

6) The average of prime numbers between 1 and 20 is:/1 3{X 20 & 9 /4TSy
TBATSHT BT 3T T 82

1.8

s
2. 98

3.9

1
4. 102

Correct Answer :-

7) A can do a work in 9 days and B can do the same work in 18 days. If they
work together, in how many days will they complete the work?/A iEsikaekal
{1 o qRT % AT ¢ 9uT B I w1 o1 18 3 # 1 B Iwar 31 afe 3 i U iy pra w
ot fraq foif & 3 v Bl T R

1.8
2.7
3.6

4.5
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Correct Answer :-
e« 6

8) A 275 metre long train crosses a platform of equal length in 33 seconds.

What is the speed of the train in kmph? /275 ¥ @it ¢4 U= THM TS & WewTH
P 33 YBUS H UR T 7, a1 e 1 7fa 31 & ([ Hft/gver #)

1.72
2.64
3. 66
4. 60

Correct Answer :-

9) A dealer marks his goods 20% above cost price, he then allows some discount
on it and makes a profit of 8%. The rate of discount is:/WﬁW 3 IHM R AT
T | 20% 3P Teg 3ifhd Ha1 31 3 IR 98 TS Qe odl § 3N 8% BT ATH HUTAT 8| e i
T FTR?

1. 4%
2.12%
3. 10%

4. 6%

Correct Answer :-
e 10%

10) A train leaves Patna at 5 a.m and reaches Varanasi at 9 a.m. Another train
leaves Varanasi at 6.30 a.m. and reaches Patna at 10 a.m. At what time do the

two trains meet? /T® ¢ Yalg 5 9o Ue-T & fAdad! 8 ok Yalg 9 o aR1uRI ugdt 2|
Wﬁé;rnj‘g 6.30 S9! IRTURIT | P e § 3R YafE 10 9t e ugad! 7| fva- aat gl ¢
3o # frerti?

1. 8.30 p.m./8.30 TRIGA
2. 8.30 a.m./8.30 gaig"
3.7.40 a.m./7.40 gaigd
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4.7.40 p.m./7.40 3AWMg

Correct Answer :-

. 7.40 a.m./7.40 Gaigd

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= FA=fefad u=wa o yxAar® g (?) & RIF TR &1 3141 91fee?

7484 - 2 - 99 - 892 + 1020 =?
1. 7511
2.7011
3.7411

4.7611

Correct Answer :-

« 7511

12) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/féwr: Fafafaa goft & yyare i (?) & RIM W T4 3417 A1RE?

1, 5, 25, 125,?
1. 225
2.625
3.245
4. 925
Correct Answer :-
« 625

13) A sum of money doubles itself in 12 years if invested at simple interest. What is
the approximate rate of interest allowed on the investment?/Afe HTYRUT TS 1T SiTe
ot DI MR 12 TUT & GAYS BT I 81 ST 8 | AT Dl & AT FIT1 3?2

1. 8.5%
2.9.5%

3.8.33%
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4.8.25%

Correct Answer :-

e 8.33%

14) The ratio of the ages of a father and his son 10 years hence will be 5:3,
while 10 years ago, it was 3:1. The ratio of the age of the son to that of the

father today, is: /T fUdr au1 g3 @1 3Mg 10 99 91¢ 5:3 & 3urd # gifl, Safd 10 a¥ qd
ST 3UTd 3:1 AT T 9T FUar &Y adw 3mg &1 3rqurd @:

1.1:3
2.1:2
3.2:5
4.2:3

Correct Answer :-

| ba

15) 2 =
A man gives 3 of his money to his wife, ¢ of the remaining to his son and 5

of the remaining to his daughter. If he still have a balance of Rs.3000, how
1 1
much money does he had originally?/ W&ITG'JﬂGNﬁ%HW 3 &I'q:ﬁq?-ﬁiﬁ, Y FT 4

T 3T T B 3R A9 BT 5 YT 0t 3t o1 ¢ feam| afe 3@ 39 9 Rs.3000, 8 & ST
URT 94 | foa=m o= 412

1. Rs.2250
2. Rs.10000
3. Rs.1000

4. Rs.6000

Correct Answer :-

« Rs.10000

16) Ruby’s monthly income is three times Gayatri’s monthly income. Gayatri’s
monthly income is fifteen percent more than Priya’s monthly income. Priya’s
monthly income is Rs.32,000. What is Ruby’s Annul income (in Rs.)?/?ﬁ_@?ﬁ?f
TR 3ma At & " Sma &1 farn 8| st Y wiyes ema v & il s A 15%
wrer 2| forar Y 71 3ma %.32,000 | Tt B arfife amg (3. 7) |12
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1.1,20,300
2.13,24,800
3. 54,600

4. 38,800

Correct Answer :-
« 13,24,800

17) A gardener plants 17956 trees in such a way that there are as many rows
as there are trees in a row. The number of trees in a row are:/ T% HIAl 17956

el P 59 ave | TaT & P foraq U & Saa € ufeal & avrmar 8, ) ve ufe # tiel 95w 8:
1.134
2.136
3. 164
4.166

Correct Answer :-
« 134

18) The batting average of a batsman in 57 innings is 58 runs. He was out for a
duck in 7 innings. His batting average for remaining innings is:/@ﬁﬁﬂﬁ[% 57

uTf¥al &1 3fRTd ¥ 58 81 98 7 UIRAY § YR W TS g1 AT ISP A UTGl &7 fiqa I &
1.65.12

2. 60

3.70.28

4.66.12

Correct Answer :-

« 66.12

19) Find the smallest of the following fractions./fRgfufad fiel # & 99 Sidt i
T B

2
1 103
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212
5. 843

79
3, 314

82
4. 271

Correct Answer :-

20) Find the largest of the following fractions./fFafafad fu#i A @ 9ad st U= 39
DY
%
1. 95
E
2. 95

13

3.18

123
4. 241

Correct Answer :-

88
. 95
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1) DIRECTIONS: Find the wrong term in the given number series:/ﬁ%ﬂ: d’fﬁ
HEAT 40Tt H TTerd UG [ B

48, 24, 72, 34, 108, 54

1. 54

2.108

3.34

4.72

Correct Answer :-

2) A rectangular plot has an area of 560 m?2. If the length of the rectangular
plot is 20 m, then find the perimeter of the rectangular pIot:/WWﬁE‘HW

&7%d 560 W2 g1 afe A 3t daTs 20 Wi, §, A A $T ulATT J1d BIfoT:
1.92 m/92 HI.
2. 88 m/88 HI.
3.90 m/90 H.

4.96 m/96 HI.

Correct Answer :-

. 96 m/96 HI.

3) 10 women can complete a work in 7 days and 10 children take 14 days to
complete the same work. How many days will 5 women and 10 children take to

complete the work? /10 AfRAE T &1 &Y 7 37 & R H= Tdl @ MR 10 92 WA ok +Y
14 3= ¥ QT H 9dd 81 5 afgars ok 10 7= 3t 98 o1l [ HA | fbaq fe7 @i

1.3
2. Can't be determined/Ruia T8t faT ST Ibar
3.7

4.5

Correct Answer :-
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4) Four years ago, the ratio of the ages of A and B was 2:3 respectively and
after 4 years it will become 5:7 respectively. What is the present age of A?/dRR
TEqd A 3R B Bt 3T BT U UM 2:3 AT 3R 4 T q1¢ IADT 3Tg HT SJUTd HA: 5:7 T
ST A &) T 3Tg 3971 82

1. 36 years/ 36 GL
2.37 years/ 37 a¥
3. 38 years/ 38 @§

4. 35 years/35 ¥

Correct Answer :-

. 36 years/ 36 a4

5) The roots of the quadratic equation x2 - 24x + 144 = 0 are:/fgara GHi®Ur x2
-24x + 144 =0 F A E:

1.-6,-8

2.12, 12
3.-12,-12

4.6, 8

Correct Answer :-

e 12,12

6) If the diameter of a sphere is decreased by 25%, its curved surface area will

be decreased by: /afe fwt T &1 AT 25% HH HX fea1 9, A IS THYSS &ABA |
o ufa=ra ot w4 smuefie?

1.43.75%
2.44.25%
3.43.50%

4.43.25%

Correct Answer :-

« 43.75%

7)
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An isosceles right-angled triangle has an area 3200 cm2. What is the length of

its hypotenuse?/ T& JHS IV GHfgaTg AYs &1 &orma 3200 JH2 3, ot 39 Huf 5t darg
a1 8hf?

1. 80 cm/80 TH

2.72 cm/72 It
3. 80V2 (/ 8OV2 3
4. 502 ¢/ S0V2 gfy
Correct Answer :-

. 80V2 1y BOVZ gfy

8) A can write 75 pages in 25 hours. A and B together can write 135 pages in
27 hours. In what time can B write 42 pages?/ A, 25 ¢ # 75 Ut foRa q&ar 8, A
3R B i@ 27 62 ¥ 135 Uto fora I@d 81 B 3 42 s fore™ ® a1 awg @b

1. 23 hours/23 d¢
2. 21 hours/21 He
3.17 hours/17 ©¢

4. 19 hours/19 dc

Correct Answer :-

e 21 hours/21 He

9) The largest four digit number which is a perfect cube is:/ﬂﬂﬂﬂﬁﬂﬁmaﬁ
e ot f guf e 8:

1. 9261

2. None of these/é’qﬁ‘@[aﬂ%ﬂﬁ
3. 8000
4, 9999

Correct Answer :-

« 9261
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DIRECTIONS: What should come in place of the question mark (?) in the
following series?/féwr: Fafafaa goft & yyare i (2) & RIM W T4 3T A1 E?

45, 60, ?, 96, 117, 140
1. 86
2. 89
3.80

4.77

Correct Answer :-

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question? /&= fA=fefad u=a & yxAara® g (2) & RIF R &1 3141 91fge?

3.7
4.6

Correct Answer :-

« 6

12) A boy goes to school at a speed of 3 kmph and returns to the village at a

speed of 2 kmph. If he takes total 5 hours, what is the distance between the

village and the school? /& @1 3 fbHl/gveT w5t nifa | faemer sirar 8 ok 2 feHt/gver

ggﬁgﬂ:nﬁmmm%l gfe 39 $a fare? 5 °gve @ rd g, a1 id vd faeney & &
qdid|

1. 8 km/8 fadt
2. 4 km/4 T
3.6 km/6 fodl
4.2 km/2 T

Correct Answer :-
. 6 km/6 fodt
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13) A motor car does a journey in 10 hours, the first half at 21 kmph and the
second half at 24 kmph. Find the distance./aﬁ?IﬁETlTl?ﬁ 10 Ei%fft{a? W@ﬂﬂ?ﬁ%l
3eht gff 21 foeit/gver ot e d vd Av g 24 et/ gver @t fa ) g8 7@ S

1. 225 km/225 f&Ht
2. 226 km/226 f&HT
3. 228 km/228 fHT

4. 224 km/224 foHt

Correct Answer :-

e 224 km/224 THHT

14) The mean of first ten prime numbers is:/ UYH 10 annwmaﬁmmw%:
1.13

2.12

3.12.9

4.14

Correct Answer :-

« 12.9

15) If the numerator of a fraction is increased by 50% and denominator is
9
decreased by 50% the resultant fraction is 7. What was the original fraction?/
9

gfe farsft T & Si=1 FY 50% T WTT YT 8 B 50% Terar o ot ufRomft =17 31 qa
fir= T gt

3

1.7
5
9
2
5

4,10

Correct Answer :-
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16) Three numbers are in the ratio of 3 : 4 : 5 respectively and their LCM is
2,400. Their H.C.F. is:/d9 QU HHRT: 3 : 4 : 5 F JUTd A §, 9T ST 4. . 2,400 3|
SHTH. 9. 8

1. 40
2.120
3.80

4. 200

Correct Answer :-

17) What is the difference between the S.I. on a principal of Rs.1000 being
calculated at 5% per annum for 3 years and on the same principal 4% per
annum for 4 years?/JaU< 1000 ¥. BT 5% Wfdqy¥ sa1el 1 T & 3 U & o1 FTLURUT AT
TUT I AU UR 4% Afaad surel H1 g3 T 4 U & I QTR AT HT 3R T FI?

1. Rs.10
2.Rs.30
3. Rs.40
4. Rs.20

Correct Answer :-

e Rs.10

18) How many percent of the profit earned on cost price is equal to the 30% of
the profit earned on selling price?/ %9 o4 W ATH T fba-1 ufa=rd, fasa ger R 30%
Y &b TR 82

1.40.8%

2.50.5%

3. None of these/%’lﬁ@aﬁ'scﬁ

4.55.7%

Correct Answer :-
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« None of these/ 378 4 BIs Tl

19) Find the smallest of the following fractions./Fufefad fie & @ 9a@ sid =
A B

16

3,25
25
4,49

Correct Answer :-

20) Find the largest of the following fractions./fFafafad i & J gad a3t i 319
|

E
1. o4

823
5. 695

256
3, 435

413
4. 825

Correct Answer :-

823
. B95

Page 238



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

PROFESSIONAL EXAMINATION BOARD
Jail Vibhag , Karyalay Pradhan Mukhya
| Professional Van Sanrakhsak & Rajya Van Vikas
Bbgggfpg”ﬂ“"” Nigam Ltd. Bhopal Combined

Recruitment Test 2017
24t July 2017 12:00PM

Page 239



Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/fAd: zﬁg'é
T 9ot | Terd ug 1d B |
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3,5,11, 29, 87, 245
1. 87

2.11

3.29

4. 245

Correct Answer :-

« 87

2) Find the area of a rhombus one of whose diagonals measures 4 cm and the

other 5 cm./ 3 FHAGHT FT TG 1A Piforg forad faw ot o1 a1 4 I T4 5 JH 71
1. 80 cm?2/80 T2
2. 48 cm?/48 T2
3.10 cm?/10 92
4. 40 cm?2/40 912

Correct Answer :-

« 10 cm?/10 9H12

3) The roots of the quadratic equation x2-9x+20=0 are:/fguma GHi®Hvor x2-
9x+20=0 ¥ Jd 3

1.6, 3
2.3, 2
3.2, 10

4.5, 4

Correct Answer :-

4) The least number to be subtracted from 16800 to make it a perfect square

is:/ 16800 A ¥ AqH $I W TG YeTE ¢ f5 98 TP Yuf o 9 wI1g?
1. 159
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2. 249
3.169

4. 219

Correct Answer :-

« 159

5) The perimeter of a semicircular path is 108 m, find the area of this

semicircular path./ T& SIATHR I &1 IRUTT 108 . 31 3 S I &1 A6
I BT

1. 654 sq. m/ 654 i .
2.693 sq. m/ 693 T H.
3.563 sq. m/ 563 I 4.
4.642 sq. m/ 642 T A,

Correct Answer :-

. 693 sq. m/ 693 T .

6) Raju and Shyam can complete a job in 40 minutes and 60 minutes
respectively. If they work together, in how many days will they complete the

work? /319 3R 0 W ¥U ¥ f6dl w1 1 40 fiFe 3R 60 fiFe o wo=: R+ ad
21 3R q FY-91Y HT 69, df I 39 P &I R H A fa-r ug aam?

1. 40 minute/40 T e
2. 24 minute/24 fie
3. 25 minute/25 e

4. 18 minute/18 e

Correct Answer :-

« 24 minute/24 e

7) Two person x and y walk from a place P at 5 kmph and 6 kmph respectively.
How much distance will they be apart (in kms) after 4 hours, If they walk in the

same direction /& SR x MY y Tw fAfda fig p & wu=m: 5 frwfi/aver oik 6 feitaver St o @
T9d 21 3 4 90 91¢ fHa-t gt (it #) w817, afe 3 uep &t famm (v famm) & aed 1

1.3
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2.4
3.5

4.7

Correct Answer :-

. 4

8) If Amit and Ramesh working together can complete a job in 30 days and
Amit alone can complete the same job in 50 days then in what time Ramesh

can complete the same job alone./af¢ 3ifira 3N A= freft w1 &) v w1y 30 A1 &
a7 3T 3 d I 50 & & T Y, d T GRT bl 39 SR B R = A o T a4
gh?

1. 27 Days/27 f&a
2. 42 Days/42 faq
3. 75 Days/75 f&a

4. 52 Days/52 e

Correct Answer :-

. 75 Days/75 fea

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= fAfefad uwa & yx"ar® g (2) & RIF W= &1 31471 91fge?

, 13 232
y Ty s_20=0

43
1. 22

43
2. 20

23
3. 16

i
4, 40

Correct Answer :-

43
20
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10) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdwr: Fafafaa goft & yyare fore (2) & WM W T4 3T A1lw?

0.15,0.3,? 1.2, 2.4
1.0.9

2.4.8

3.0.6

4.0.06

Correct Answer :-

« 0.6

11) A bus travels for 7 hours, the first half at 30 kmph and the second half at 40
kmph. Find the distance./T® s34 A3 gt &1 smut 30 fossii/aver aur v 40 fotaver ot
T A TADR g3l 99 B B $d 7 U BT THY A1 3 | g1 91 B

1. 240 km/240 fo
2. 230 km/230 ot
3. 260 km/260 fodt
4. 250 km/250 foHt

Correct Answer :-

« 240 km/240 fpHT

12) A sum of money at a certain rate per annum of simple interest doubles in
the 5 years and an another sum of money becomes three times in 12 years at a
different simple interest rate per annum. Lower interest rate between these

two is: / PIS AR fordt ATUROT 1T BT 2 A 5 T | GRIAT BT AT 8 9T TP gt =M 12 qut
H 5t o AT T Ft X | fai i 8 St ], st o) 5 @ iR W) sa R:

1. 20%

2.15%

-
=

3. 1650/0

3
4, 154%

Correct Answer :-
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13) A cloth store is offering “"Buy 3, get 1 free”. What is the net percentage
discount being offered by the store?/ T® $Ug P GBI A ‘014 &I Wil W TS JHRI' PT
WA ¢ ¥QT § | gPT™ gRT WRATad e &1 Hia=rd /1 8?2

1. 25%

1
2. 333%

3. 30%

4. 20%

Correct Answer :-

e 25%

14) The ratio of the ages of the father and the son at present is 6:1
respectively. After 5 years the ratio will become 7:2 respectively. What is the
present age of the son?/ Tau # fUdr Td T $ 3g &7 3UTd HHU: 6:1 g1 5 T4 91¢ Tg
IJUTd ISP SHHRT: 7:2 Bl ST | T P T 3T T 8?2

1. 2 years/2 Gl
2. 3 years/3 G
3.4 years/4 ¥

4. 5 years/5 ¥

Correct Answer :-

e 5 years/5 Iy

15) The average of 7 positive consecutive numbers is 10. The average of lowest
& heighest number is:/ 7 FHURTA YATHS TBATAT BT T 10 31 GATH 9T RBaH
HEAT3T HT 3N §:

1. 15

2. Data insufficient/GiTEb%, T &
3.7

4,10

Correct Answer :-
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16) Which is the greatest three-digit number which when divided by 3, 4, 5 and
6 leaves remainder 2 in each case?/ 3 3Pl Bl g aeI A TSI TR A ™R3, 4, 5
3R 6 F UNT 31 W A fRAUFT A A 2 FEar 3|

1. 060
2.960
3.062
4.962

Correct Answer :-
e 962

17) 60% of students in a school are boys. The number of girls in the school is
300, then the number of boys is:/ Td H 60% BT ASP 3 a4T IPd A ASHUI I JW
300 Bl TSH| B! YW &:

1.450
2. 300
3.750

4. 500

Correct Answer :-

« 450

18) If 8: 27 is the triplicate ratio of a: b, find a : b/ af¢ 8: 27, a : b &1 favAT 37Ut

g, a: b 319 FIfeTE:
1.2:3

2.4:3
3.3: 4
4.3:2

Correct Answer :-

e« 2:3
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19) Find the smallest of the following fractions. /fFrafefad fae & @ 9ad 31 fa=
A B

E
1. 29

33

2. 70

11

3,23
15
4, 32

Correct Answer :-

20) Find the largest of the following fractions./ﬁ?ﬁf@ﬁmﬁﬁm&’@ﬁ-ﬂm
B

36
1.29

62

> 49

283
3. 203

523
4. 476

Correct Answer :-

283
. 203
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /e 'c?rgé
e goft § Terd ug I B

25, 23, 27, 19, 34, 3, 67
1. 19

2.3
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3.34
4. 23

Correct Answer :-

2) A rectangular plot is 420 m2 in area. If its length is 60 meters, find its
perimeter (in meter):/ & MAAIHR YES &1 &T6d 420 91 fiex 81 afe 39! @18 60
Hex 8, @t 3@t uiwm (iR #) 3 B

1.134
2.185
3.123

4. 144

Correct Answer :-

« 134

3) A polygon has 44 diagonals. The number of sides of the polygon is:/T® dg¥yol
& 44 fawl B 3T IgY & Yom3ii B = F1d Fiog|

1.12
2.11
3.13

4. 10

Correct Answer :-

4) The roots of the quadratic equation x2 = 14641, x > 0 are:/ feama gHie I x2
= 14641, x>0 A 3

1.-11, 11
2.11, 11
3.121, -121

4.-121, -121
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Correct Answer :-
« 121, -121

5) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= fAfefad uza & yxare® g (2) & I WR o1 311 91fge?

=7

4, 60

6) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /A dwr: Fafafaa goft & yyars e (2) & I W T 34T 91 w?

1438, 1429, 1417, 1402, ?
1. 1387
2.1392
3.1384

4,.1378

Correct Answer :-

« 1384

7) A piggy bank contains Rs.410 in the form of Rs.5, Rs.2 and Rs.1 coins. The
numbers of coins are in ratio of 4: 6: 9 respectively. So, find the number of Rs.2
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coins./U® @ A . 5, F. 2 3R F. 1 & Rk g, Ra1 a1 410 +=. 31 Rigew) ot
TEAT3M PT 3JUTd HHIT: 4:6:9 §, @ AA | 2 . F fpaq o 82

1. 25
2.50
3.48
4. 60

Correct Answer :-

8) If the sum of one half and one fifth of a number exceeds one third of the
1 1 1

= . = . = . .
number by 3, the number is : /U BT T 2 9i 94T > ai {301 &1 911 39 G| &
1 1

Saiftd Swmrdi ey
1. 15
2.30
3.20

4. 18

Correct Answer :-

« 20

9) A train of length 270 metres takes 25 seconds to cross a pole. How much
22

time will the train take to overtake a man walking at 2> kmph in the same

direction?/ T& YS! foTH® @S 270 HeR 8, Uh WY B UR B A 25 AHUS BT G99

22

3 21 YT Y T TR B R e & R i, afe st 25 Rl der a @
YS! B o= & I 6 82

1. 27 seconds/27 ADHUS
2. 30 seconds/30 R

1 1

27 = 27 =
3. 2Seconds/ Z23I®US

3 3

18- 18-
4. 5Seconds/ S 3IHUS
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Correct Answer :-

e 27 seconds/27 R

10) The average of 11 integers arranged in a certain order is 30. If the average
of 1st 5 numbers is 25 and that of the last 5 is 28, the sixth integer must be:/

T a0 & 7afRua 11 quife! 1 3wa 30 3191 ugd 5 J@mai &1 3ivd 25 3R sifaw 5
TEI13il BT 3d 28 & <t BT YUITe FhM:

1. 60
2.65
3.75

4.70

Correct Answer :-

11) Pipe A alone can fill a tank in 8 hours. Pipe B alone can fill it in 6 hours. If
both the pipes are opened and after 2 hours pipe A is closed, then the pipe B
will fill the tank in:/ T® -Td A, T% ¢P1 i 8 Ul & U Tl ¢ | GRT 1A B 34 6 Hel H R
THar g1 afe g1 Ta Wid fau 91T 3R 2 el a1g 796 A, §¢ $2 fGar e df 7a B ST EHl ol
o= gel 3 @RT WR ¢

1. 6 hours /6 He

2.4 hours/4 He
22 22

3. 2hours/ 29
32 32

4. Zhours/ 2dc

Correct Answer :-

1 1
2

« 2hours/ 24

12) 1
33-
The price of a commodity has increased by 3%. Find the reduction in the
consumption of the commodity by a consumer so that there is no increase in

his expenditure: /Tt Rt avg e & - 3 9% Pt g v 3 T, 3t 3w g @
fra-t &1 o1 & 9 for SuviaaT & @d 4 gig A 8
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15 E

1. 3%

2. None of these/%‘—lﬁ@fﬁ'scﬁ

3.25%

4. 20%

Correct Answer :-

e 25%

13) At the rate of simple interest per annum, the interest on a certain sum of
2

money for 10 years will be 5 part of the total amount. The rate of simple
2

interest is: /uTay QTR TSl @81 € WR, el IR 10 e & Rrer o sarl, Rysrer o715 YiT
BT | HIYRUT ST &1 &1 @

41”;*’
2"

525}*’
5. 37

3.7%

4, 5%

Correct Answer :-

14) Supposing that telegraph poles on a railway track are 50 meters apart, how
many poles will be passed by a train in 4 hours, if the speed of the train is 45

kmph?/ T % Yad 3% WR ufd 50 Y. 31 g8t R U ¢ uia g1 afe ¢ &1 1fa 45 oty
HeT gl dl e 4 e # fraq e 0l &) UR FHem?

1. Can’t be determined/uffd =781 foar ST A
2.3401
3.3601
4.3201

Correct Answer :-
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15) A and B contract to do a work together for Rs.300. A alone can do itin 8

days and B alone in 12 days. But with the help of C they finish it in 4 days. Find
the share of C. (in Rs.)/ A 3R B gRT f&il &0 & [x1 H31 & fiw 300 &. & 371 foran

T A 3FdAT 39 T H1 8 fa1 & 3R B 3Pl 39 12 &1 & @1 = wvar 31 Afer € &Y
TETAAT I 3 AT 39 HH $i 4 &1 ¥ g0 57 8, <t ¢ B! fvait woigdt (5. H) frasf?

1. 50
2.100
3.60
4. 30

Correct Answer :-

16) The smallest number, which must be added to 803642 in order to obtain a

multiple of 9 is:/803642 ¥ ®I ! BIE TWAT TSI AT fF WTed HWAT 9 7T U B
1.1
2.4
3.2

4.3

Correct Answer :-
« 4

17) 17 articles were bought for Rs.3,910 and sold for Rs.4,590. How much was
the approximate profit percentage per article?/ 17 Eﬂﬂ'ﬁﬁ 3,910 ﬁ@'ﬂ?ﬁﬂﬁ AT
4,590 ¥ 91 7E | Ui g U fba= ufor=ra &1 a1y 82

1.21%
2.12%
3.9%

4.17%

Correct Answer :-
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18) Sum of present ages of A and B is 42 years and the ratio of their ages after
6 years will be 4:5. Find the ratio of their ages before 4 years./A 3R B & adHH
3T HTTANT 42 T4 B YT 6 T¢ 91¢ IAP! AT BT 3JUTd 4:5 NI, Y 4 T8 Ugd IAD! 3T B
SUTd {Td BT

1.7:10
2.5:9
3.3:5
4.2:3

Correct Answer :-

« 7:10

19) Find the smallest of the following fractions./fFufefad fie & @ 9a@ sid =
A B

1
12

4

2. 50

19
3. 230

18
4 218

Correct Answer :-

4
. 30

20) Find the largest of the following fractions. /fafefad sl A @ 9e9 S i wa
|

E
1, 80

44
5. 120

Page 256



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

58
3, 148

33
4. 100

Correct Answer :-
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /fAqar: Eﬁgﬁ
T oft & Tad ug 9 B

7,11, 18, 35, 67, 131, 259

1. 35
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2.131
3.11

4. 18

Correct Answer :-

« 131

2) Find the area of a rhombus one of whose diagonals measures 8 cm and the

%ther 10 cm./ 39 GUIGYS &1 &A% d 71d Siford foraed fawon ot wra 8 |t aur 10 I+
|

1. 80 cm?2/80 JHt2
2. 48 cm?/48 T2
3. 40 cm?2/40 2
4. 36 cm?/36 T2

Correct Answer :-

« 40 cm?/40 9H12

3) The length of a rectangle is increased by 50%. By what % should the width
be decreased to maintain the same area?/ U& 3TUTd &1 TS &I 50% T¢I fear Srar

g, A 99 Q9% d & fore sua! s & fhaq ufawd o4 $31 Tifge?

1. 25%
1

37
)

2

1
33-
3. 3%

1
33-
4, 29

Correct Answer :-

331
. 3%

4) The roots of the quadratic equation p2+5p+6=0 are:/fgaTd TSI p2+5p+6=0 F
e

1.3,2
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3.-3, -2
4.3, -2
Correct Answer :-

. -3, -2

5) If the square of the sum of two numbers is equal to 4 times of their product,
then the ratio of these numbers is:/dfe g T@AT3M & TN HT T, ITH UG BT 4 AT
g al, 39 Il BT SguTd fha=r gim?

1.1:3
2.1:2
3.5:1

4,1:1

Correct Answer :-

6) The average of 12 numbers is 9. If each number is multiplied by 2 and added
to 3, the average of the new set of numbers is:/12 J@I3i &1 3i¥d 9 g1 Tfe UA®
=T 1 2 | UM fohaT 91T 3R ITH 3 SIST AT, A H@si & AU Gq=d &1 3iad 1 gR?

1.9
2.21
3.27

4. 18

Correct Answer :-

« 21

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /A dwr: Fafafaa goft & yyare e (2) & WM W T4 34T A1lRw?

1,9, 25,7?,81
1. 64

2.36
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3.49
4. 28

Correct Answer :-

8) A man walking at 3 km/hour crosses a square field diagonally in 2 minutes.
The area of the field (in square meter) is:/ 3 W/Wﬁﬁﬁﬂﬁwwﬁ
foreft TR AeM & fawvla: 2 fire A UR &R a1 31 AgH &1 &Fwa @it Hex #) fFam 32

1. 6000
2. 5000
3.2500

4. 3000

Correct Answer :-

« 5000

9) If 1 is added to the numerator of a fraction, the fraction becomes 1. If 1 is
1
added to denominator, the fraction becomes 2. The fraction is:/ af¢ 1 & T& fUH
1

?s'rgrﬁvh:ﬁﬁrr&a}m 1 B auTafe 1 F R F R AR A A 2 grwmar 8| 4
HAT:

2
3
1
3
3
4
1
4,2

Correct Answer :-
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Four bells ring at intervals of 4, 6, 8 and 14 seconds. They start ringing
simultaneously at 12.00 o’clock. After what time will they again ring
together?/ IR HfeY & 991 &7 3T 4, 6, 8 3R 14 AHUS &1 3 JH 12.00 T& TH 1Y
O Y §1d 8, ol fvamt Iy a1g 3 |eft ghamT o Ay gonft?

1. 3 minutes 44 second/3 T 44 Y&HUs
2. 3 minutes 20 second/3 e 20 Y&Ug
3. 3 minutes/3 ¢

4. 2 minutes 48 second/2 fi-c 48 YhUs

Correct Answer :-

e 2 minutes 48 second/2 fiFe 48 Q&g

11) The ratio of the father’'s ages to the son’s age is 4:1 and the product of their
ages is 196. What will be the ratio of their ages after 5 years?/ﬁﬂ@gﬁﬂﬁeﬂg

BT 3JUT 4:1 3 Td ISP Y BT UHGA 196 21 5 I¥ a1, I7% 3T HT 3JUTd FT gRI?
1.12:4
2.12:3
3.11:3

4, 11:4

Correct Answer :-

« 11:4

12) Two pipes A and B can fill a tank with water in 30 minutes and 45 minutes
respectively. The water pipe C can empty the tank in 36 minutes. First A and B
are opened. After 12 minutes C is opened. Total time (in minutes) in which the
tank will be filled up is: /I UTST A 3{R B U 3 &1 HHT: 30 e 3R 45 e A R
TPHd g1 UTSY C 3 ¢ I 36 firie W Grelt # IPar 81 Ugd A 3R B & @i S g fhr 12
e 918 ¢ &) Wen ST 81 ¥ Fa fha wwa (Frerel #) o W

1. 30
2.36
3.18

4. 24

Correct Answer :-
« 24
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13) 9

Simple interest on a certain sum for 6 years is 2> of the sum. The rate of
9

interest is: /¥t TR TR 6 6T F RIT AR AT T BT 25 ¥ | ST B &R 2:
1. 6%

2. 8%

1

3. 62%
1

4, 82%

Correct Answer :-

e 6%

14) What should come in place of the question mark (?) in the following
question?/ fA=fafEd u=a & yxAar® [ (2) & RIF R &1 311 91f3e?

1701 + 4011 - 3624 - 1113 =?
1. 865
2.975
3. 965

4,875

Correct Answer :-

« 975

15) The speed of a boat in still water is 6 kmph and the speed of the stream is
1.5 kmph. A man rows to a place at a distance of 22.5 km and comes back to
the starting point. The total time taken by him is:/@ﬂﬁaﬁ@?ﬁﬁﬁﬂﬁfﬁﬁ?ﬁ
gfd HeT § 3R YRT &1 fd 1.5 {5 ufd ger1 81 ve afaa 22.5 farft 91 gt R v mA R e
DI TEAT B A ST 3 3R ARFUP g W a1 31mar 81 39S gIRT foran a1 oo 90d 8-

1. 10 hours/10 ®¢
2.4 hours /4‘81%
3.6 hours /6 ©c
4. 8 hours /8 ©c
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Correct Answer :-

e 8 hours /83%

16) A man buys two horses for Rs.1350. He sells one as to loss 6% and the
other so as to gain 7.5%. On the whole he neither gains nor loses. What does

each horse cost (in Rs.)?/ T& AR &l U1 1350 F. § WIGdT 21 98 TP Pl 6% P g1
TR IR G DI 7.5% & ATY TR I9q1 3| T IR T a1l I ATY gha1 8 7 81 | f U 9IS H1 54
el (3. #) grm?

1. 650, 700
2. 600, 750
3. 500, 850

4.610, 740

Correct Answer :-

« 600, 750

17) If A, B and C can complete a work in 6 days together. If A can work twice
faster than B and thrice faster than C, then the number of days in which C
alone can complete the work is:/ A, B 3R C Wﬂwmwiﬁ sﬁﬁﬁwwm
g1afe A, B A AT doit A SR ¢ & fot asft & &1 o7 awar g, @ C rvd 39 $1d &l fba
o o qRT HY APpar 82

1. 44 days/44ﬁ:f
2. 11 days/11 f&q
3. 33 days/33 A
4.22 days/22 f&A

Correct Answer :-

. 33 days/33 &

18) If M% of x is y and N% of y is x then:/ gfe x FTM% Yy %Gﬁ?y DI N% x %, dd-

N
1.M=100

M
2.N =100
3.MN = 10000
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4. M+ N=100

Correct Answer :-

« MN = 10000

19) Find the smallest of the following fractions. /fFrafefad e & @ 9a 31 fa=
A B

E
1. 17

25

7 12

52
3. 25

49
4. 24
Correct Answer :-

49
. 24

20) Find the largest among the following fraction./ fFuafaf@d firsy & & 99 a8t U=
A Y|

1011
1 1597

334
5 537

74
3. 151

167
4 426

Correct Answer :-

1011
. 1597
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁﬁ"\’r: é’fgﬁ
T 9ot | Terd ug rd B |

1.2, 1.25, 245, 3.7, 6.25, 9.85
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1.9.85
2.2.45
3.6.25

4.1.2

Correct Answer :-

« 6.25

2) The sum of four consecutive even numbers is 300. What would be the
smallest number? /IR HHNT H AT BT IRT 300 & | TIA BIcT =T HT N2

1. 66
2.74
3. 68

4.72

Correct Answer :-

3) 2 men can complete a job in 8 days working 8 hours a day. How many men
are required to complete twice the job working 4 hours a day for 4 days?/2

3wt fredt w1 o1 8 He ufafes #vd gu 8 fas §f [T ¥ W d 81 3¢t &1 & SR w1 @1 4 e
ufafe #3d gU 4 feA ° 1 e+ & e fha= sefiral #1 smaxaedar gihir?

1. 32
2.48
3.16

4. 24

Correct Answer :-

4) The cost price of 25 books is equal to the selling price of 20 books. The profit
percent is:/25 [X®| BT BT, 20 TFAD| & [AhaHed & SI&R ¢ | A1H Ufa=rd sar1su|

1. 25%

2.22%
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3. 24%

4. 20%

Correct Answer :-

« 25%

5) The roots of the quadratic equation x2 - 11x + 24 = 0 are:/fgura eI x2 -
11x + 24 = 0 F A &:

1.6, 5
2.-3,-8
3.3, -8
4.3, 8

Correct Answer :-

6) Rajni, Geeta and Savita alone can complete a task in 20 hours, 30 hours and
40 hours respectively. In how many time they complete the same task by

working together. /31, 14T 3R AT SreT-3renT fH=t &1 &1 HH: 20 Te, 30 U 3R
40 G B TP IHdl g1 A T Th T 39 BRI B fhas awg § g1 H3Eit?

52 52
1. 3 hours/ 3 ¢

7= 7%
2. 2 hours/ 2 @@
8> 82
3. 9 hours/ 9 H¢
9= 9>
4. 13hours/ 13 ¥
Correct Answer :-

9 3 9 3
o 13hoursy 13 g

7) The respective ages of a father and his son are 41 and 16 years. In how
many years will the father be twice as old as his son? /fUar 3R T3 &t 31 HHI: 41
¥ 31T 16 a9 g1 foraq aul & a1 frar #Y 3U 77 &+ 39 F1 SR 8 w2
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1. 9 years/9 ¥
2.10 years/10 qy
3.19 years/ 19 d¥

4. 15 years/15 CL

Correct Answer :-

e 9 years/9 Gl

8) The height of an equilateral triangle whose perimeter is 72 cm is:/72 I+t

TRaTT 91 gHETg Y $t SHAE gid s
1. None of these/?ﬁ?faﬁ'ﬁc:rsof
2.9 cm/9@'ﬁﬁ

3.12cm/ 12 papei]

= =
4. 123 ¢y 1293 37}
Correct Answer :-

. 1243 ) 123 gfy

9) The average age of 3 friends is 23 years. Even If the age of 4t" friend is
added the average age remains the same, Then the age Of the fourth friend is:/

0 Pl oY i omy 23 ol 81 ETwiifep afe Y firr &Y aimy Sirs &t ome 4t oft ot emg A €
TEdl 8, dt D fr Y oy fpaeh 22

1. 20 years/20 a9
2. 23 years/ 23 ay
3.22 years/ 22 G

4.21 years/ 21 3%

Correct Answer :-

e 23 years/ 23 ay

10) A man travelled a certain distance by train at the speed of 25 km/hour and
walked back at the speed of 4 km per hour. If the whole journey took 5 hours

48 minutes, the distance was:/U® 3fad, 25 faHl/gver & 91 A I aTelt YIS §RT
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e FAf¥a gt aa Fvar & auT a8t gt 9w 4 it/ aver 9 ara A Voa gaHR au a1 e afe
M-S H 39 $d 9HY 5 gu¢ 48 fie @ g, ot gt o

1. 25 km/25 fout
2. 20 km/20 fodt
3. 30 km/30 fot
4,15 km/15 fodt

Correct Answer :-

« 20 km/20 T&HT

11) A truck covers a distance of 550 metres in 1 minute whereas a bus covers a
distance of 33 km in 45 minutes. The ratio of their speeds is:/T® ¢& 1 fiHe &
550 HleR gt a9 R § Tafe T a9 33 {5t Ft gt 45 firme & aa o=l g1 371 fd &1

Slﬂ'clﬁ'aﬁTIT:
1.7:3
2.50:3
3.3:5

4.3:4

Correct Answer :-

« 314

12) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= fAfefad usa & yxAar® g (2) & RIF WR o1 311 91fge?

42 31
10- 12— 5-2=2

11

3. 24

17
4, 24

Correct Answer :-
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13) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdwr: Fafafaa goft & yyare fire (2) & WM W T4 34T A1lRw?

80, 370, ?, 1550, 2440, 3530
1.900
2.750
3. 840

4. 860

Correct Answer :-

« 860

14) One number is 25% of another number. The larger number is 12 more than
the smaller. The larger number is: /T IBAT, TH gER| AW Pt 25% 3| 81 T, B
= | 12 3 21 981 T/ B!

1. 48
2.4
3.12

4. 16

Correct Answer :-

15) The area of a triangle whose sides are 30m, 32m and 34m is: /349 ﬁfg\‘rr Gl
AFABA T B forast Yome Har: 30 Y, 32 Ht qur 34 i g1

1. 48 m2/ 48 2
2.72 m%/72 |2
3. 2421 2/ 24021 g2
4 96421 m2/ 96421 2
Correct Answer :-
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. 9621 m2/ 96421 12

16) A sum of money doubles itself in 12 years at simple interest. What is rate of

interest? /@IS IR ATYRUI TS W 12 TUT & SHS G &) o1l B | 071 Y &< AT 22

1
1. 73%

1
2. 93%

1
3. 63%

1
4. 83%

Correct Answer :-

17) How often will five bells toll together in one hour if they start together and
toll at interval of 5, 6, 8, 12, 20 seconds respectively?/qﬁm@ﬁ%ﬁﬁﬁﬁaﬂ
o1 afe F TP AU 1 IR= gl & AUTHUR: 5, 6, 8, 12, 20 AHs & SaTel H goleil 82

1. 35
2.120
3.31

4. 29

Correct Answer :-

18) What number has to be added to each term of 4 : 6 to make the ratio 6 :

72/ 4 : 6 BT IAJUI 6 : 7 HI b [T IAP AP UG H T SIS AMST?
1.6

2.10

3.8

4.4

Correct Answer :-
« 8
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19) Find the smallest of the following fractions./fFgffad fidl # & 99 Sid i
A B

242
4281

Correct Answer :-

18
o 37

20) Find the largest of the following fractions./fafafEd il & 3 gad a3t i 3190
|

E
1. 14

35

2. 16

154
3. 75

285
4 142

Correct Answer :-
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/f31: €l §8
der goft § 7Terd ug [ B
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1, 27, 25, 343, 82, 1331
1.1331

2.343

3.25

4. 82

Correct Answer :-

2) What is the least number to be subtracted from 945 to make it a perfect

square?/945 ¥ ¥ <qH P19 H) GBI UeTs WY % 98 ve quf avf a1 wime?
1. 45
2.16
3.30

4. 24

Correct Answer :-

3) Girish, Sudhir and Rajan working together complete a job in 3 days. If
Sudhir and Girish together can complete the same task in 4 days, then in how
many days Rajan can do the same task alone? /=1, 3R iR I feht w1 #) v
1Y ®T HYd §U 3 e A T v 31 SR geiR sk i Sl erd sl 4 oA A s Wb &
At IS 3P d I BRI B B W foa=T a0 am?

1. 22 Days/22 fea
2. 25 Days/25 &
3.10 Days/10 faq

4.12 Days/12 f&A

Correct Answer :-

. 12 Days/12 f&a

4) The roots of the quadratic equation y2-13y+42=0 are:/fggrd gHisor y2-
13y+42=0 F YA &:
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5) Three friends individually can complete a work in 4, 5 and 10 days
respectively. If they work together then in how many days the work will be

completed? /1 fiT [ET-3eT T T4 &1 HAT: 4, 5 3R 10 A A IR R APd 21 T 3
TS I1Y i 91w o @1 o fan i & W gt s

5 ]
1= 1=

1. 11pays/ 11feq
1= 1=

2. 3Days/ 3fad

1 1

1= 1=

3. 2Days/ zfeT

4

'l -
Days/ 5 faA

12
4. s

Correct Answer :-

o o
1— 1—
« ~11pays/ 11fgq

6) If the area of a triangle is 300 m2 and base: height is 2:3. Find its height./

afe T AYS &1 &a%d 300 THIER 8 TUT MUR: SATE = 2:3 §, THB! SIS JTd DIT.
1. 45 m/45 #
2.30 m/30 #t
3.25 m/25 H

4,20 m/20 H

Correct Answer :-

« 30 m/30 H

7) The perimeter of a rhombus is 100 cm and one of its diagonals is 30 cm. The

other diagonal is:/ T& GUaqys &1 TRATT 100 A § TUT 39T U fawuf 30 I 8, @

Page 279



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

g1 fasof ghm:
1. 28 cm/ 28 I
2. 40 cm/ 40 I
3.32 cm/ 32 9Ht
4.52 cm/ 52 94t

Correct Answer :-

e 40 cm/ 40 TH

8) A’s salary is 50% more than that of B. Then B’s salary is less than that of A
by:/A P13d49 B & 3d A 50% 3ifiH g, A B #T13d4 A A fPan sA 82

1. 50%

1
2.334%%

1
3.33%%

1
4. 442%

Correct Answer :-

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ &= FA=feRad U= o yxar® g (2) & RIF TR &1 31T 91fge?

7— 62 8 3!
3 4 Eh+ - - 4 =20

1.7
2.19
3.17

4.13

Correct Answer :-
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DIRECTIONS: What should come in place of the question mark (?) in the
following series?/féwr: Fafafaa goft & yyare i (2) & RIM W T4 3T A1 E?

992, 1056, ?, 1190, 1260, 1332
1.1122
2.1092
3.1112

4,.1082

Correct Answer :-

e 1122

11) A person travels equal distance with speed of 3 kms/hour, 4 kms/hour and
5 kms/hour and takes a total time of 47 min. The total distance (in kms) is:/U®

faa & Tur gial &t wasn: 3 ft/aver, 4 [t/ gver ik 5 5t/ gver @t o & T S
21 afe Fi=i gl &1 ag oo 47 fFe A aa a1 8, o oo gt (B o) 2

1.3
2.4
3.2

4.5

Correct Answer :-
e 3

12) The ratio of Vimal's and Arun’s present age is 3:5 respectively and sum of
their ages is 80 years. The ratio of their ages after 10 years will be:/ fawa ok

3BT B IIHT 3T BT SJUTd HURT: 3:5 3R 3! 3TY HT ARG 80 T4 g1 10 T 91 D!
3T BT 3UTd T gRIT?

1.3:2
2.1:2
3.3:5
4.2:3

Correct Answer :-
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13) At what speed does a man walk who passes through a street 600 metre

long in 5 minutes?/600 HieX T Telt & 5 fiqe # 09 =1 & forg safa & ara «n g
1. 27/5 kmph/27/5 foHt/guer

2. 18/5 kmph/18/5 foeil/guer

3. 9/5 kmph/9/5 feHt/guer

4.36/5 kmph/36/5 fHil/guer

Correct Answer :-

« 36/5 kmph/36/5 f&Ht/90eT

14) A dealer allows his customers a discount of 25% and still gains 25%. If an
article costs Rs.1,440 to the dealer, then its marked price is:/WﬁWT&Nﬁ‘JI'I%Tﬁ
DI 25% B Fe a1 @ 3N R Wt 25% &1 @14 FHa1 81 TS 9¥g B @RI fasha1 H1 3. 1,440

3Tt g, oY 3wt Sifpd Yeu
1. Rs.1,850
2.Rs.1,500
3.Rs.2,560

4. Rs.2,400

Correct Answer :-

15) The third proportion of 0.18 and 0.24 is:/ 0.18 T4l 0.24$r?ﬁ'\=RT'\=|'FI1ﬂ'QW%:
1.0.30

2.0.21

3.0.26

4.0.32

Correct Answer :-

« 0.32

16) Average of first five multiples of 5 is?/5 HT WJH Ul U HT 34 §:

1. 15
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2.15.3
3.15.1

4.15.5

Correct Answer :-

17) =
The simple interest on a sum of money is 25 of the principal and the number

of years is equal to the rate percent per annum. Find the interest rate per
1

annum? /e TR W YR SIS Gered $1 25 @ 9UT 9uf @Y Fe ufdad fiwd o b R
g1 ufaad suTe eR 3rd Bifsmg|

1. 2%
2. 1%
3.3%

4. 4%

Correct Answer :-

¢« 2%

18) Find the smallest of the following fractions./fFgffad fidl # & 99 S fa=
A B

685
1 1300

11

2. 20

312
3. 623

256
4. 450

Correct Answer :-

685
o 1300
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Find the least number of five qigits which when divided by 12, 16 and 40 leaves
in each case a remainder 8:/UMd 3P| ! 98 T DI J&T FTd HIfoE fS59H 12, 16 TUT
40 gRT YT feT 9 R gAT AVPd 8 I<I41 8:

1. None of these/3H I ®IS 7ot
2.10,072
3.10,088
4.10,080

Correct Answer :-

« 10,088

20) Find the largest of the following fractions. /fafefad fial A 3 9e9 s i 3@
|

12
4,13

Correct Answer :-

15
. 19
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁi‘i’r: zﬂgé
der goft § 7Ted ug 9 S|

25, 23, 27, 19, 34, 3, 67
1. 19

2.3
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3.34
4. 23

Correct Answer :-

If 27 is subtracted from 37 and difference is multiplied by 112 then what will
7 5

be the final number?/Afg z?aﬁ3§ﬁ‘£|?rq1\‘:rrqam SR B 112 A UM {41 SI1E, 1 ured e
T ER?

1. 96
2.102
3.90
4,112

Correct Answer :-

3) The roots of the quadratic equation x2 - 1200 = 244 are: /fgaTd IHHIUT x2 — 1200 =
244 F A E:

1.-38, -38
2. +38,-38
3. +32,-32
4. +38, +38

Correct Answer :-

4) A swimmer can swim downstream at 14 kmph and upstream at 6 kmph.
What is the speed of the swimmer in still water?/W?RTEF YRT & fqudia fe=m & qur
T B fe=m A HHRN: 6 fF/aver aur 14 fFH/aver nfa A Avar 31 fRR oa & O 3 7
fpat g2

1. 11 kmph/11 feHi@uer

2. 9.5 kmph/9.5 faHi/euer
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3. 12 kmph/12 foefi/eoer

4. 10 kmph/10 fedieuer

Correct Answer :-

« 10 kmph/10 feHi@uer

5) Angle subtended by two equal chords at the center of a circle will always

be:/T® gl B I GUH ATl GIRT P+ U 1 HI0T AR I
1. Complementary/ R&
2. Cannot be determined/ IERIIEG] ERAERIRSIRE S

3. Supplementary/ IQR$

4. Equal/ gH11

Correct Answer :-
« Equal/qaMH

6) If each interior angle is double of each exterior angle of a regular polygon
with n sides, then the value of n is /3f¢ n YS13if IT¢ TH THTEYS H UAD STdRS HI,
YD ST DIV BT GREAT g1, At n BT A T RM?

1.8
2.6
3.5

4. 10

Correct Answer :-

« 6

7) A is twice as fast as B. If B alone can do the work in 30 days, in what time A

and B together can complete the work?/A D BRI B ﬁiﬂ'ﬂT-IT%I gfe B 3 fhsdt
P1d Ft 30 R A R HI AHaT 8 1 A 3R B TH A1 fias St &l &) foraq fol & e

1.8
2. 15
3.12
4.10
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Correct Answer :-

8) A boat rowed down a river at 21 kmph and rowed up the river at 9 kmph.
What is the speed of the stream?/4RT &1 fe=n A quT YRT & fAudd v 19 H1 I1d HH:
21 frifi/aver qur 9 fHi/aver 31 Ut &Y nfa w82

1. 4 kmph/4 fodi@Euer
2. 6.5 kmph/6.5 faHi/@aTeT
3. 5 kmph/5 fdiauer
4. 6 kmph/6 faHi/@Te

Correct Answer :-
« 6 kmph/6 fe&Hi@Te

9) A, B and C together can do a work in 20 days. If A and C can do the same
work in 40 and 60 days respectively, then in how many days can B complete

it?/ A, B 3R C T I1Y <t ol ) 20 21 & @r1 = 9avd 213 A 3R € 3rdba St ol &)
HHTT: 40 3R 60 o= § H TP §, a1 B 3rFbd W &1 31 fora 131 & Ry Heam?

1. 100
2. 110
3.90

4,120

Correct Answer :-

« 120

10) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /9. Fafafaa goft & yyars fore (2) & WM W T 3T A1fgw?

156, 506, ?, 1806
1. 1506

2.1056

3. 856

4. 1456
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Correct Answer :-

« 1056

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= FAfefad u=wa o yxAar® g (2) & RIF W= H1 3141 91fee?

2211

3
102 —4—95— 12_"4 =7

12) Average temperature from 9th to 16th of a month is 30°C and that from
10th to 17th, 31°C. What is the temperature on 17th, if temperature on 9th is
35°C?/ fFdt v & @ 9 A G 16 9F HT 3NTd dTUHH 30°C 3R 10 W 17 9F &I
31°C 31 3fe 9 aRa &1 ATUH 35°C &1, A 17 TRIG ST a9HH F1 82

1. 32°C
2. 26°C
3.29°C

4, 43°C

Correct Answer :-

. 43°C

13) Four bells begin to bell together and bell respectively at intervals of 5, 6, 8
and 12 seconds. How many times will they bell together in an hour excluding
the one at the start: /¥R Hfedl T& 1Y IO IR Bleil & SR To BT 3R HHT: 5, 6, 8
gﬂ#z T g1 Tl 3 TH [TY T IRE H dl TP °e H Ugel] IR SISHR fPha-it IR T A1

|
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1.13
2.9
3.19

4. 29

Correct Answer :-

14) =
What sum lent at 429% per annum will produce as much simple interest in
1

3.5 years as Rs.630 lent at 3.75% per annum in 2.5 years? /9 A W 42006
ufaad &1 33 A 3.5 qUT BT FIYRUT AT, 630 F. W 3.75% Ufaad & arifer g3 F 2.5 TUI & IR
TSl & SRIR 22

1. Rs.375
2. Rs.405
3. Rs.385

4. Rs.390

Correct Answer :-

 Rs.375

15) In an examination, 40% students fails in Maths, 30% in English and 15% in
both. Find the pass percentage:/ T& TI&TH, 40% BT 0 |, 30% 37 # 3R

15% BT I 7 3ol gid &1 Il ufawrd gid P
1. 30%
2. 65%
3. 50%

4.45%

Correct Answer :-

e 45%

16) The sum of ages of a mother and her daughter is 50 years. Also 5 years
ago, the mother’s age was 7 times the age of the daughter. What is the present
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age of the mother? /T AT 3R I7#! 91 Tt AR HTTRT 50 a9 3| 5 99 gd AT Y 31y, 3
Ft Mg B 7 T | AT B a9 g | 7?2

1. 40 years/ 40 G
2. 32 years/ 32 qy
3. 48 years/ 48 IY

4. 36 years/ 36 L

Correct Answer :-

« 40 years/ 40 I

17) The first class ticket price of a circus is Rs.12. When the ticket’'s price is
decreased then the number of visitors increased by 80% and the total income
is increased by 20%. Now, what is the price of each ticket?/ &t 9Ha & wyw goft
o1 ufa fede gea 12 3. 31 919 e &1 ga ueT f3an Siran @ 99 g=ie] 3t I 80% ¢ ol 8
TUT Hd T T 20% Pt gfex 3 o1t 21 3l wd® fepe H1 ey w1 82

1.7 10
2.8
3.3 15

4.3 6

Correct Answer :-

« 28

18) A certain sum is divided among A, B and C in such a way that, A gets 3
times as much as B, B receives 2 times as much as C. If A receives Rs.1500
more than C, what is the sum divided? /T fAf3[d ¢9 A, B 3R C & 19§ 39 USR TieT
WA fFA S BAS A ARG U gar g IR B HIC A2 M ARG U gar g1 Al A, C A

Rs.1500 3 YTt $HdT1 §, TieT 4T $d U 71 8?2
1. Rs.2500
2. Rs.3000
3. Rs.1500

4. Rs.2700

Correct Answer :-

« Rs.2700
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19) Find the smallest of the following fractions./fgfifad fidl # & 99 S fa=
A B

E
1. 47

45

2. 88

98
3. 195

63
4. 110

Correct Answer :-

20) Find the largest of the following fractions./fFafafEd i & 9 gad a3t firg 319
L3l

E
1. 19

23

2. 47

98
3, 195

63
4. 110

Correct Answer :-

16
. 19
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/f321: ¢ §8
T Yot | Terd UG {Id B
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8,5,6.5, 11, 26, 68, 207.5
1. 11
2. 68
3.6.5

4. 26

Correct Answer :-

« 11

2) Each interior angle of a regular polygon is 120°. The number of sides is:/ T®

JUAGYS BT AP 3:HI0T 120° g, a1 TP YoI13il #) "= gt
1.8
2.7
3.6

4.5

Correct Answer :-
e« 6

3) The roots of the quadratic equation x2 + 10x + 21 = 0 are :/fggra IHiHIUr x2
+10x+21=0% A ¢:

1.4,2
2.7, 3
3.-3,7

4.-7,-3

4) If the ratio of cost price and selling price of an article are respectively 10:11,
the profit percentage is:/dfc %9 Yo 3R fasha Yea HHTM: 10:11 & rJurd | &1, a a1
wfcr=ra «am gRm?

1. 8%
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2.1%
3.5%

4.10%

Correct Answer :-

e 10%

5) The sum of a non-zero number and its reciprocal is 2. What is that number?/

TS SR T 3R I ahH BT AN 2 8| 98 T FT8?
1.4
2.2
3.1

4.0

Correct Answer :-

e 1

6) The sum of the internal angles of a regular polygon is 1440°. The number of

sides is:/T® GUIGYS & SATAND BIUN BT AT 1440° T | YT Bt IWAT 8:
1.8

2.6

3.12

4. 10

Correct Answer :-

7) 5 years ago, the father’s present age was 3 times of his son’s age. 5 years
hence the ratio between the ages of the father and the son will be 11: 5. Find

the father’s present age./saﬁqﬁfﬁmaﬁaﬁqmang,gaaﬁengaﬁ%ﬂmfﬁ%ﬁl sqY arg
AT SR O P 3T BT ST 11:5 B S| e &1 aeiu= 3mg J1a S|

1. 50 years/50 @4
2. 55 years/55 GL

3. 40 years/40 dY
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4. 45 years /45 G

Correct Answer :-

« 50 years/50 L

8) A, B and C contract to do a work for Rs.4200. A can do the work in 6 days, B

in 10 days and C in 12 days. If they work together to do the work, what is the
share of C (in Rs.)?/A, B 3R C gRT {3t 18 &1 T H3A & e 3. 4200 & &7 Rmam mam A

3P I BPH B 6 feAl A, B Apar IV 10 A A aUuT c spar A 12 e A v Ipar g1 afe a
T TP A1y BT B, dF ¢ B fvat qergt (3. 8) faett

1. 1000
2. 2000
3.1500
4,.1200

Correct Answer :-
« 1000

9) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /e Fafafaa goft & yyare fore (2) & WM W T4 3T A1few?

5,6,7?, 40,89, 170, 291
1. 15

2. 89

3.6

4. 40

Correct Answer :-

10) The price of rice has increased by 60%. In order to restore the original
price, the new price must be reduced by:/ﬂ'ﬁﬁﬂﬁﬂﬂ'ﬂﬂ 60% EETI%%I Wﬂﬁgﬁ:
Td $IAd R dF & U 98 & 19a &1 fha-1 &0 &1 a1fieu?

1

1. 333%

2.45%
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3.40%

1
4. 372%

Correct Answer :-

11) A, B and C contract to do a work for Rs.6500. A can do the work in 10 days,
B in 15 days and C in 20 days. If they are working together to do the work,
what is the share of B(in Rs.)?/ A, B 3R C §RTU® & &I [RT HI1 & o€ F. 6500 H
ST T TaT1 A 3T 39 BTH Y 10 AT H, B srbar 3 15 A ¥ ofiR ¢ srbar 3 20 fa=t
B R R gFar g1 afe 3 A A Sus W a5, d B &1 Aeigdl (3.9) fea-i grfi?

1. 2000
2. 2500
3.3000
4.1500

Correct Answer :-

« 2000

12) The average score of a batsmen is 50 runs per inning. In the next 5 inning,
he scores 400 runs and thereby increases his batting average by 5 runs. The
total numbers of inning played by him till last match is:/waﬁiﬂﬁrﬁr&ﬁﬂﬁﬂ 50
T ufa urdt 31 3Ta 5 if¥al & 98 400 ¥ FTaT ¢ e 39T a5 ¥ ufd Ut 3¢ ST 3|
IS gRI Sifaw i 9% T 7T Tifedl &1 G- B

1. 30
2.25
3.40

4. 50

Correct Answer :-

« 30

13) E
In what time the simple interest on a sum of money be ¢ of the principal
1 1

with rate of interest 3¢ %?/fd" WHg # Al 4 BT YTYRY TS, 35% B & & TAUT BT
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3

BT Y SRR
1.12 years/12 94
2. 15 years/15 ay
3.9 years/9 Iy

4. 6 years/6 ¥

Correct Answer :-

o 12 years/12 CL

14) The respective ratio of the present ages of son, mother, father and
grandfather is 2: 7:8: 12. The average present age of son and mother is 27
years. What will be mother’s age after 7 years? /T3, Urdl, fUar 3R grer @1 aaqH Mg
BT AU HHTT: 2 : 7:8: 12 B 1 T 3R T1a1 &1 a0 3iaa 3y 27 a¥ g1 7 I gyt Ayan &t
3T T g2

1. 49 years/49 ¥
2. 40 years/40 G
3.41 years/41 G

4. 48 years/48 ay

Correct Answer :-

« 49 years/49 G

15) Two persons start walking in opposite directions at 5 km/hr and 4 km/hr
respectively. After how many hours will they be 45 km apart?/ﬁmmﬁm
H s 5 ferieer ok 4 frfiAer F fa aea M IR FRA B, o s g d A ud g &
45 it gr it 2

1. 7 hours/ 7 ©cT
2. 11 hours/11 ©cl
3. 5 hours/5 gcl

4. 9 hours/ 9 YcT

Correct Answer :-

« 5 hours/5 qcl
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16) Find the smallest of the following fractions./fFrufefad el & 9 9ad 31 fa=
I P
1

4,43

Correct Answer :-

9
. 43

17) Find the largest of the following fractions./fFaferfad fu=i o @ ge9 a8t fi= 9@
Gl
E
1. 33
E
2. 53

17

3, 23
37
4,43

Correct Answer :-

47
o O3

18) A boat can row 15 km per hour downstream and 9 km per hour upstream.
The speed (in km/hour) of the boat in still water is:/ T® A1 3udrg § 15 fowi/ger
P fa T 3R SHeduars # 9 frwl et #t 1fa F e Ivar 81 FRR w1a A A1a &) ey (weireer #)
8

1.8
2. 15

3.12
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4. 10

Correct Answer :-

e 12

19) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ &= FA=fefRad u=a o yxar® g (2) & RIF TR &1 311 91fee?

1 1

30 4

+

e
[

=?

Correct Answer :-

3
. 40

20) &

The positive difference between a positive proper fraction and its reciprocal is 5. The
g5

fraction is:/ U YTcH® TH =T TUT ST ogohbH BT YTHS 3ic = g1 =1 7

Wl
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁﬁ"\’r: é’fgﬁ
T 9ot | Terd UG 9Id B

48, 24, 72, 34, 108, 54
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1. 54
2.108
3.34

4.72

Correct Answer :-

2) Find the area of an isosceles right angled triangle whose hypotenuse is 16

cm./ T AUV GAGETg FYS &1 §=ta J1a g, forasT &l 16 I g
1. 64 cm?/64 T2
2. 16 cm?/16 JHI2
3. 32 cm?/32 92
4. 24 cm?2/24 qHi2

Correct Answer :-

« 64 cm?/64 H12

A fraction becomes E, if 2 is added to both the numerator and the

denominator. If 3 is added to both the numerator and the denominator it
5 i

becomes ¢ What is the fraction?/@f??%mamﬁﬁﬁzﬁ@ﬁmﬁﬂ § STl
21 9l S aUT e S H 3 Wi Ru ey dt a5 c s et 1 R 7 @2

5
9

=]

Correct Answer :-
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4) The roots of the quadratic equation 2x?+11x+14=0 are: /fggTd IHi®HIr
2x2+11x+14=0 & T &:

1.7/2, 2
2.7, 2
3.-7/2, -2
4.-5/2, -2

Correct Answer :-

5) The height of an equilateral triangle whose perimeter is 27 cm is:/27 I+t

IRATY aTd JHaTg YT B S5 91d BT
1. None of these/3H 9 ﬁ%‘ T8l
2.9 cm/9@'ﬂ°f

6) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3% fAfefad uwa & yxare® g (2) & R W= o1 311 91fge?

74560 + 935416 + 1143 + 17364 + 667000 =?
1. 1659483
2.1695483
3.1694583
4, 1695438
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Correct Answer :-

« 1695483

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /% Fufafaa Joft & yyars forg (2) & WM W T 3T A1fge?

720, 720, 360, 120, 30, 6,?
1.3
2.2
3.1

4.5

Correct Answer :-

8) If the interest on money be 1 paisa per rupee per month, what is the rate per

cent per annum?/3fe UfawTE 1 TU WR =TS 1 BT €, Y ufaay <R ufa=ra sar 82
1. 10%
2.12%

3.15%

1
4.102%

Correct Answer :-

e 12%

9) A man walking at 5 km/hour noticed that a 225 m long train coming in the

opposite direction crossed him in 9 seconds. The speed of the train is: /& 3ATGHI
5 feet/eer 3t wfa A god g @ i faudta fezm & omedt g€ 225 Hiex awit te YamgI 3/ 9
THs T UR Bl 3| YeNTS! F A 71 82

1. 75 kmph/75 feHi/er
2. 90 kmph/90 farHi/EieT
3. 85 kmph/85 faHl/EeT
4. 80 kmph/80 frdi/eer
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Correct Answer :-

« 85 kmph/85 faHi/Eer

10) A, B and C spend 70%, 75% and 80% respectively of their salaries. Their
actual savings are in the ratio of 4 : 5 : 6. What is ratio of their salaries?/ A, B

3R C 3T AT FT HUIT: 70%, 75% 3R 80% [T HId § | IAD! ARATAD Tadl BT 3JUTH 4+
5 : 6 8, A 3T - BT 3JUTd &

1.6:5:4
29:6:4
334:6:9
44:5:6

Correct Answer :-
«4:6:9

11) If the difference between two digit number and the number obtained by
reversing the digits of previous number is 27, then the difference in both the
digits of the number will be:/ Tfe &} 3| & forell TET Ud I TN & S 3P B WER
I UR UTW GT & 19 BT 3% 27 i, a1 GBI & Gl il BT =R R

1.5
2.7
3.9
4.3

Correct Answer :-

12) The ratio between the ages of a father and his son four years ago was 19:6.
If the difference between the ages of the father and son is 26 years, what will
be the ratio of their present ages?/ waﬁqﬁwﬁmaﬁvgaaﬁangmarﬂum 19:6
oT1 Tfe frar 3R O Ft S & 26 a9 &7 3R 8, A AP TdHH Y BT SJUTd FIT FHIT?

1.27:14
2.23:10

3.21:8
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4.23:8

Correct Answer :-

« 21:8

13) By selling an article for Rs.72, there is a loss of 10%. In order to gain 5%,
its selling price should be:/ TH q¥g ®I 3. 72 H 9T IR ITH 10% I g gt 8139
T B 98 foha A 9 fF IA 5% ST 1Y e 812

1.3 85
2.2 84
3.3 87

4.2 80

Correct Answer :-

« 3 84

14) If a train runs at 40 km/hour it reaches its destination late by 11 minutes.
But if it runs at 50 km/hour, it is late by 5 minutes only. The correct time (in
minutes) for the train to complete the journey is?/ uﬁaﬁém@‘} 40 fFdigerwaa
at 3T+ Tiqer I W 11 e X 9 ugaedt 31 afe ag 50 ferteer ot wfa & 9a ot Faa 5 fime
R A UgTd! 3 1 A T HA & e mdh w1 WSt wwa e 67 8:

1. 15
2.21
3.19

4.13

Correct Answer :-

15) If the price of a commodity be raised by 25% by how much percent must a
household reduce his consumption of that commodity so as not to increases his

expenditure?/ T a3 ! BHd H 25% @1 9Z Tl & @ T W & Fmifedt &) wua o1
foramT ufa=ra &0 ST Tt @ife @ JuTH 38?2

3
1.162%

3
2.152%
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-
&

3. 153%

4. 20%

Correct Answer :-
e 20%

16) A and B can separately do a piece of work in 6 days and 12 days
respectively. How long will they together take to complete the work?/A 3R B

-3 Th BTd B HURM: 6 fAT U1 12 1 § % IFd 81 dgg9R, 3 31 frae adt s
fpaq e & w2 urgd?

1. 18 days/18ﬁ7f

2.4 days/4%:f

3.9 days/9 fad

4. 6 days/6 fa

Correct Answer :-
« 4 days/4feq

17) A can build a wall in 30 days and B can build the same wall in 40 days. If
they build it together and get a payment of Rs.700, what is B’s share?/A T&

R 30 & & 9971 a1 & 3T a8} Sar B, 40 oA A 991 Apar 21 afe A ) Tp HIY HTH B
3R 700 ¥4I HT YIa= UTY, df A B &1 fgwar fan gim?

1.3 325
2.3 275
3.3 300

4.3 250

Correct Answer :-

« 2300

18) Find the smallest of the following fractions:/fAafefaa fi=l d & 9 Bidt fi=
BIGK2F

%
1. 96
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13

2. 45

23

3, 86

212
4. 841

Correct Answer :-

19) Find the largest of the following fractions:/fFafeRad il # J a9 st i 319
P

23

1. 12

89

2 46

313
3. 150

895
4. 428

Correct Answer :-

20) The median of 19 observations is 30. Two more observations are made and
the values of these are 28 and 32. The median of the 21 observations taken

together is equal to:/19 W&UN HTHIH 30 81 S 3R Ve&rur fore ord & foresT /e 28 3R 32
g dl 21 V(i &) TP JTY a1 TR HIeH §IT:

1. 34
2.32
3.28
4. 30

Correct Answer :-

« 30
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1) DIRECTIONS: Find the wrong term in the given number series:/ﬁi“\’r: ﬁgﬁ
@ 4oft § Terd g I He |

10, 16, 48, 320, 4860

1. 4860

2.48

3.320

4. 16

Correct Answer :-
« 4860

2) The average height of 16 students is 142 cm. If the height of the teacher is
included, the average height increases by 1 cm. The height of the teacher

is: /16 faenfial & dargal &1 sita 142 I 21 afe Riere &) darg @1 +ff Infae frar sme @
3Ta daTg | 1 9 B giS g ol B 1 Rigrew o dars | 82

1. 159 cm/159 IH
2. 156 cm/156 IH
3. 158 cm/158 TH

4.157 cm/157 9+t

Correct Answer :-

« 159 cm/159 9t

3) I have to be at a certain place at a certain time and I find that I shall be 15
minutes too late, if I walks at 4 km an hour; and 10 minutes too soon, if I
walks at 6 km an hour. How far (in km) have I to walk?/ﬂﬁwm\_ﬂ's'q?tﬁ?
W 99 TR IUfRYd ¥&-T1 8 Ud & uran § f afe & 4 5.9, ufa ve1 9 7w @ s g ot 15
firte R ¥ U U9 ARt 6 b, ufY der P YW @ ot § a1 10 fre vsd uga W
g feaeit gt (.10, &) aa o=+t gt

1.8
2.3
3.6

4.5
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Correct Answer :-

4) The product of two successive numbers is 9506. Which is the smaller of the

two numbers?/ &l HHTTA TBT3M T IUHEE 9506 3| 1 sl # Sidt G& Hi Al 32
1.97
2.96
3.98
4.99

Correct Answer :-

5) The roots of the quadratic equation 2y2 -9y +9=0 are: /fgara gifieur 2y2 -
9y +9 =0 FHAR:

1.6, 3

B3| =

6) The number of revolutions made by a wheel of 28 cm diameter in covering a
distance of 8.8 km is:/U® Ufgq gRT 8.8 &, 1 gt 7 H H @IC T¢ g} 1 W&
w1 g, afe ufde o1 ooy 28 S &:

1. 1000
2. 8000
3.100

4. 10,000
Correct Answer :-

Page 314



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

7) In a rhombus, the lengths of two diagonals are 10 m and 24 m, then length

of side of rhombus is:/T® THAGHS F &l fawuil @1 FraTg 10 Hex aur 24 e §, dt STt
YOIl 1 TS g

1.22 m/22 HicX
2.8 m/8 HIR

3.11 m/11 ®iR
4.13 m/13 HicR

Correct Answer :-
e 13 m/13 1:1 xR

8) A, B and C can do a work in 4, 6 and 10 days respectively. They finish the
work together and earn Rs.310. What is the share of each?/ A, B 3R C f&ft &
P HUT: 4, 6, 3N 10 G A T T TP 31 A TP 1Y ST UG H¥P U 310 FATA 21
TS B fpa-it Aergl fentt?

1. Rs.140, Rs.110, Rs.60
2. Rs.160, Rs.90, Rs.60
3.Rs.150, Rs.110, Rs.50

4. Rs.150, Rs.100, Rs.60

Correct Answer :-

« Rs.150, Rs.100, Rs.60

9) A man covers a certain distance by car driving at 70 kmph and he returns to
the starting point riding on a scooter at 55 kmph. Find his average speed for

the whole journey: /@I afad T i3 gt 70 f&Hi/aver $t 1fd I FR gRT a0 HXar g au
9% 55 frtit/aver 91 1fa A IpeR gRT 3R U g WR 91w diedr 8 1 9 $ SR 39St 3id
Tifa @ 42

1. 63.6 kmph/63.6 fd&H/g0eT
2. 64.6 kmph/64.6 foHt/gucT
3. 61.6 kmph/61.6 foHt/gueT

4. 62.8 kmph/62.8 fsHl/guer
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Correct Answer :-

« 61.6 kmph/61.6 f&Hl/guer

10) There is sufficient food for 400 men for 31 days. After 28 days, 280 men
leave the place. For how many days will the rest of the food last for the rest of

the men? /%l S8 WX 400 safdaal & fore 31 fa= &1 ¥ie waf 21 28 fa7 g 280 =fdRT
SIE ISP I T | T §3MT HIoH 72 ¢ fadl & o1 fpam fet & fore wafw 82

1. 5 days/5 faA
2.12 days/12 faA
3. 15 days/15 &4

4.10 days/10 f&a

Correct Answer :-

. 10 days/10 f&q

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question? /e fAfefad U= & yxAara® R (2) & RIF R &1 3141 91fge?

3.19

4. 18

Correct Answer :-

« 20

12) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /A% Fufafaa goft & yyars fore (2) & WM W T4 3T A1flgw?

2,6,?, 20,30
1. 15
2.22

3.12
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4. 10

Correct Answer :-

e 12

13) Ritesh borrowed a sum of Rs.18,350 at 15% p.a. simple interest from Meenu
for 3 years. What was the amount paid by Ritesh?/ﬁﬁﬂﬁlﬂﬁﬁ 15%, yfaay AryrRor
=T B1 &R I &9 a9l & I 18,350 ¥. IUR forw 1 fed=r & gr1 fasit wifky & wreefi?

1. 26607.5
2.27607.5
3.25607.5
4. 24607.5

Correct Answer :-

e 26607.5

14) The least perfect square numbers which is divisible by each of the numbers

16, 20 and 24 is?/I9d Bl QUi ¥ "= &1 fb w=maii 16, 20 94T 24 A faufora g2
1. 6,400

2. 3,600

3. 14,400

4.1,600

Correct Answer :-

15) A is 20 years older than B. He is also 6 times as old as B. Then what is the

ageof A?/ A, BY 20 TI TSTE TUTA B 3Tg, B B AR HT6 TATE | A B 3T FT3?
1. 42 years/42 a4
2. 24 years/24 Gl
3. 30 years/30 ¥

4. 35 years/35 G

Correct Answer :-
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e 24 years/24 ay

16) The ratio of the salaries of Akhshay and Amir is 8 : 9. If Akhshay’s salary is
increased by 50% and Amir’s salary is reduced by 25%, then their ratio
becomes 16 : 9. What is the salary of Akshay?/3i&dd 3R & IqT HT UG8 : 9 B
Tfe &R BT Aq-T 50% TET AT AT HR & = A 25% B HH DI S df SIUTd 16 : 9
AT 8 | 31&T PT a4 FIT1 8?2

1. Rs.22,000
2. Rs.28,500
3. Rs.37,000
4. Can’t be determined/3Td g} foa1 ST 8

Correct Answer :-
« Can't be determined/Si'I?f=|'e?r'ﬁ°'5ﬂ\_yrI?IT%r

17) By selling 20 metres of cloth, a man gains the selling price of 4 metres of
cloth. The gain percent is:/ T® S ®I 20 HieX HUST 974 W 4 Hiex $US & fawa gau
& RIS ATH UT BT 8 | ATy afa=ra @

1. 25%
2. 30%
3.20%

4. 35%

Correct Answer :-
e 259%

18) Harshit’s salary has increased from Rs.825 to Rs.900. What is the
percentage increase in his salary?/EﬁHWaﬂq 825 W'@W%OWE’[WI I
a1 o fora= ufa=ma @1 i3 531

1.7.07%
2. 8.08%
3.9.09%

4. 8.56%

Correct Answer :-
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19) Find the smallest of the following fractions./Fufefad fie & @ 9a@ sid =
A B

57
131

71

2 36

91

3,44
83
4,41

Correct Answer :-

20) Find the largest of the following fractions./fFafafad i & J gad a3t i 319
G|
%
1. 66
ﬁ
2. 55
E
3. 44
%
4,33
Correct Answer :-

64
o 33
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1) DIRECTIONS: Find the wrong term in the given number series:/ﬁ%ﬂ: d’fﬁ
HEAT 40Tt H TTerd UG [ B

6,12, 36, 144, 722, 4320, 30240

1. 36

2. 144

3.4320

4.722

Correct Answer :-

« 722

2) The product of two successive numbers is 2756. Which is the
greater between the two numbers?/ﬁWﬁﬁ'@TaﬁW'{[ﬂﬂw 2756 %I ﬂ*ﬁ
Tl # 9§ 931 @I w4 Al 82

1.53
2. 50
3.49

4.52

Correct Answer :-

« 53

3) The roots of the quadratic equation x2+15x+56=0 are:/fgard IHi®0r
x2+15x+56=0 & Jd &:

1.3,5
2.-7,-8
3.4, 14

4.7, 8

Correct Answer :-

4) The angles of a quadrilateral are in the ratio 1: 2: 3: 4, the largest angle is:/

it agdsT & ®Ivr 1: 2: 3: 4 F IAFUIA | 8, N T TST VT fha=1 12
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1. 144°
2.134°
3.150°

4.120°

Correct Answer :-

. 1440

5) If the length of a chord of a circle at a distance of 12 cm from the centre is

10 cm, then the diameter of the circle is:/af¢ T & = & 12 I &I gt R T T
oitar @} @waTg 10 It ], @ 99 BT AN Fd DI

1. 26 cm/26 IH
2.30 cm/30 IHt
3.13 cm/13 9t

4.15 cm/15 9t

Correct Answer :-

« 26 cm/26 I

6) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3= fAfefad usa d yxar® g (2) & RIF W= o1 3141 91fge?

106 x 106 - 94 x 94 =?
1. 1906
2. 2000
3. 2400
4. 1904

Correct Answer :-
« 2400

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /¢ Fafafaa gofit & yyars fore (2) & WM W T 3T A1lgw?

33, 48, 65, 84,?
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1. 105
2.101
3.99

4.103

Correct Answer :-

« 105

8) The ratio of-the present ages of two boys is 3:4. After 3 years, the ratio of
their ages will be 4:5. The ratio of their ages after 21 years will be:/ gl TS®I &t
FAAT 3T BT SUT 3:4 B 1 3 T 91 TG SIIUTH 4:5 81 AT 21 21 T P TG I 3T BT 3JUTT

1. 14:17
2.17:19
3.11:12

4.10:11

Correct Answer :-

e 10:11

9) In how many years will a sum of money double itself at 6.25% simple interest

per annum? /13 IR fFaq auf A 6.25% ufaad Greror e #1 2 A T 8 e
1. 12 years/12 @8
2. 24 years/24 a4
3. 16 years/16 a4

4. 20 years/20 a§

Correct Answer :-
e 16 years/16 Ty

10) 1
On selling an article of Rs.64, a man gains 7 of his outlay. His profit
percentage, if the article is sold for Rs.63, is:/W&nﬂ'ﬂ’fWW?ﬁ 64 7. § 9IHY HY
1

e $T 7 WRT AT TS 3T 21 1S 98 63 . & a8} avg a9 o Su1 o wirera «m gvm?
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1.12.5%
2.25%
3.33.33%

4. 20%

Correct Answer :-

« 12.5%

11) A train, 500 metre long, running at a uniform speed, passes a plateform in
35 seconds. If the length of the platform is 221 metre, the speed of the train in

km/hr is:/ 500 "3 T TP YS!, W) Tob A A A I &1 8, fhedt @icwrH &1 35
TAHUE § TR B A 21 I WeBhTH 3 aaTs 221 Hiex g1, df Yermes! &1 fa feei/ger & wn
g2

1.74.16
2.78.54

3.24.76

722
4, 335

Correct Answer :-

« 74.16

12) Speed of a boat along and against the current is 14 kmph and 8 kmph
respectively. The speed of the current is./ TH A1HT &1 A URT F 3Hd 3R ufaea
fa=m o wust: 14 feiteer ik 8 fHei/der 81 urmy 3t wifd fpa-ii 82

1. 11 kmph/11 feHiser
2. 5.5 kmph/5.5 faHI/Eer
3. 3 kmph/3 fodi/Eer

4. 6 kmph/6 fadi/Eer

Correct Answer :-

« 3 kmph/3 fediEer

13) If the price of coal is increased by 40%, by what percent the consumption
of coal must be reduced so that expenditure is not increased?/ uﬁﬁw@fﬁm
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H 40% & g AN 2, 9 Hiaa F @ud § fraa ufawrd 1 v B og, R 5 Flad wEd |
DS AW T US?

331%’
.37

234¥
2, 7717

3.25%

4. 50%
Correct Answer :-

234"1“’
=%

14) The greatest number that divides 690 and 875 leaving remainders 10 and

25 respectively is: /T8 81 A TS ST J1d FIfoE, A 690 3R 875 B HNT HIA W
AYPd HHY: 10 3R 25 T

1. 150
2.120
3.130

4.170

Correct Answer :-

« 170

15) A is twice as good as B and together they finish a piece of work in 16 days.
The number of days taken by A alone to finish the work is/B P UST A g'{F-ﬂ'lTﬁr'\ﬁ
PTH BT ¢ 3N G TP Y BTH HIP [HUl TH B 16 RAA RT HR Ad 8, O TAIST A 3rdberm
39 B &I fora= fea d R

1. 21 days/21 faq
2. 24 days/24 f&A
3. 20 days/20 f&d

4, 22 days/22 faq

Correct Answer :-

. 24 days/24f&a
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16) The age of man is 4 times that of his son. 5 years ago, the man was nine
times as old as his son was at that time. What is the present age of the man?/
TS Al B 3T ITD G DI AR D1 4 TATR | 5 T4 U4 a8 3T T B 3T BT 9 AT 4TI 59 I
I e &Y g FATR?

1. 34 years/34 ay
2. 32 years/32 d¥
3. 28 years/28 G

4. 36 years/36 ¥

Correct Answer :-

. 32 years/32 a4

17) Mean of twenty observations is 15. If two observations 3 and 14 are
replaced by 8 and 9 respectively, then the new mean will be:/ 20 U&JOT T AT
15 3| afe S U&rvr 3 3T 14 &) HHRT: 8 3R 9 A IR farar STan 3, @ =747 Ured ghm-

1.16
2.17
3.15

4.14

Correct Answer :-

18) If 35 men can finish a piece of work in 8 days, then the number of men who

can do the same work in 10 days is:/tlﬁ 35 enatﬁwmﬁs ﬁqﬁwiﬂﬁ%, a
10 f&1 & I o1 &I fora=t STeHl [T HR JHI?

1. 38
2.19
3.28

4.17

Correct Answer :-
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19) Find the smallest of the following fractions. /fFrafefad fae & @ 9ad 31 fa=
A B

ﬁ
1. 87

27

2. 71

21

3.77
30
4.91

Correct Answer :-

20) Find the largest among the following fraction./ fFufeRad fir # § 99 581 fu=
A B

34
.15

28
2 13

27
3,10

34
4,13

Correct Answer :-
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1) DIRECTIONS: Find the wrong term in the given number series:/ﬁ%ﬂ: d’fﬁ
HEAT 40Tt H TTerd UG [ B

9, 15, 26, 51, 99, 193, 387

1. 15

2.193

3.51

4. 26

Correct Answer :-

« 193

2) An engineering student has to secure 25% marks to pass. He gets 47 and fails
by 43 marks. What are the maximum marks of the examination? W%Fﬂﬁﬂﬁ'ﬂw
DI Il B P AT 25% 3 U H3A Bid 81 I 47 3 a8 SR a8 43 3! I Srgwitol gt
1T 8 1 39 e H siftrean i faraq g

1. 360 marks/ 360 3idh
2. 385 marks/385 3{®
3. 410 marks /410 3i®

4. 435 marks/435 3

Correct Answer :-

« 360 marks/ 360 3&®

3) The roots of the quadratic equation 2x2 + 3x - 20 = 0 are:/fggra gHi®IUr 2x2
+3x-20=0%d¢:

Ba | on
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4) The sum of all prime numbers between 58 and 68 is:/58 3T 68 P d B it
SYTST TBATSHT BT TN T 82

1.179
2.183
3.178
4,187
Correct Answer :-

« 187

5) The sum of the internal angles of a regular polygon is 1800°. The number of

sides is: /TP GUIGYS & AN HIUN BT AT 1800° 7| YT Bt BT 3:
1.7

2.9

3.12

4. 10

Correct Answer :-

« 12

6) What will be the area of a rhombus, whose one side is 17 cm and one
diagonal is 16 cm?/ T& JHAGYS $T &abd o1 31T, et T Yot 17 991 g iR ts
fawuf 16 A 2

1. 384 cm?/384 T2

2. 386 cm?/386 THI2

3. 240 cm?/ 240 T2

4. 480 cm?2/480 JH12

Correct Answer :-

« 240 cm?/ 240 9H12
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DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fd=r: FA=fefRad u=a o yxar® g (2) & RIF W= &1 31T 91fee?

291 3p2
8 &

3
100- 8- 4-¢8

__=?

36
1, B8

38

37

392
4, ©

Correct Answer :-

3?3
4

8) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdwr: Fafafaa goft & yyare fore (2) & WM W T4 341 A1Rw?

15, 21, 33, 57, 105, 201, ?
1.393
2.293
3. 249
4.313

Correct Answer :-

« 393

9) Two trains of length 100 m and 80 m respectively run on parallel lines of
rails. When running in the same direction the faster train passed the slower
one in 18 second, but when they are running in opposite directions with the
same speed as earlier, they pass each other in 9 seconds. Find the speed of
each train. (in m/s)/ 100 HieX Ud 80 Hiex @ars ard! gt YIAMISTT AR Yeidi IR
Tadl 8] afe aFl T g1 famm o 9a w8l 81 a9t a9 IR | ga+ ardt mel, hft R @ gem
arelt MY B 18 Adhs | UR FR At ], W afe T MiSai up-gae o) faudta fazm & 7« & &,
@l IR & § A 9 APHS BT TUT TAT §| 1 Yamisdl @t ard (Hew/ AFs H)aang|

1. Can't be determined; fRufRa T8t fovar o1 Iabar
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2.10, 25
3.15, 20

4.5, 15

Correct Answer :-

10) 1
Ram'’s present age is ¢ of his father’s present age. If the difference between

their present ages is 35 years, what is his father’s present age?/W?ﬁaT-fHH&ﬂ'g
1

IS e &Y adar g Ft ¢ 1 afe I <1 & ad A g F diw 35 af o1 3ieR & o frar
JAU MY AT

1. 44 years/44 a9
2.32 years/ 32 @§
3.42 years/42 ¥

4. 52 years/52 G

Correct Answer :-

e 42 years/42 G

11) If percentage of profit made, when an article is sold for Rs.78, is twice as
when it is sold for Rs.69. the cost price of the article is:/w?ﬂﬁiﬁ 69 ¥9d A S
& TG 78 TUL A A9 T ATH P UTA=Id SRIAT ST & S a¥g BT hayed T gHI?

1. Rs.51
2. Rs.49
3. Rs.57

4. Rs.60

Correct Answer :-

« Rs.60

12) A monkey tries to ascend a greased pole 14 metres high. He ascends 2
metres in first minute and slips down 1 metre in the second minute. If he
continues to ascend in this fashion, how long does he take to reach the top?/

TP g 14 Hic? $3 e T IR T2 31 SR Har g1 ugd e A ag 2 Hficv A dears
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3R g firTe d a1 Wex 19 fipwrer oimar 71 afe deR 330t v A wodn @ o1 98 Rer W ugA
# fpaar aea @

1. None of these/37H I &5 g
2. 26 min/26 e
3. 28 min/28 fiFe
4. 24 min/24 i e

Correct Answer :-

« None of these/‘sg’:lﬁ‘@[ﬁgﬂ%)f

13) The middle number of the three numbers which are in the ratio5: 2 : 3 and
sum of whose squares is 1862 is?/dH GBI F AA P GBI S fF5:2:3F
SFUTd H 8 YT ST a7 T AT 1862 82

1.13
2.12
3.14

4. 11

Correct Answer :-

- 14

14) A, B and C contract a work for Rs.550 together. A and B are supposed to do
7/11 of the work. How much does C get? / A, B Td C T HTH HT 6HT 550 ©ud H Ad
2IATIB aer i &1 7/ 11 T R HR A 71 € &Y fpa=n v ghar 82

1. Rs.200
2. Rs.250
3.Rs.150

4. Rs.300

Correct Answer :-

« Rs.200

15) A, B and C can do a work in 6, 8 and 12 days respectively. Doing that work
together they get an amount of Rs. 1350. What is the share of B in that
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amount? / A, B T4 C foil o1 &) wHRI: 6, 8 TF 12 3 # 1 #% Oa 71 i e ord
TRTH 8 3R 3BT I 1350 T firerd &1 ST AR A X B o1 a1 forawm?

1. Rs.450
2. Rs.350
3. Rs.475

4. Rs.400

Correct Answer :-

« Rs.450

16) The average age of A, B and C is 26 years. If the average age of A and C is
29 years. What is the age of B in years?/ A, B AT C P Mg HT3NTd 26 ¥ 1 AfGA T
C P g FT 3id 29 99 B <t B # ST FTR?

1. 23
2. 20
3.29
4. 26

Correct Answer :-

« 20

17) The simple interest on a sum of money will be Rs.300 after 5 years. For the
next 5 years principal is 3 times, then the total interest at end of the 10th
year?/f&dt ¢ &1 5 Ul &1 GTYRU Ao 300 . 8 TUT 3ATA 5 a9 & forg gare 3 18 <Y, 10
qul & 3id H Pl saTol FHT?

1. Rs.1200
2.Rs.1230
3.Rs.1220

4. Rs.1250

Correct Answer :-

« Rs.1200

18) Two numbers are in the ratio of 15:11. If their H.C.F. is 13, find the sum of
the numbers? /<l TBIY 15:11 3JuTd A 8| Al IABTH. . 13 3| TBM3M FTART
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1. 390
2.520
3.208

4. 338

Correct Answer :-

« 338

19) Find the smallest of the following fractions./ﬁ?ﬁ'@ﬁﬁlﬁﬁﬁmﬁ?ﬁm:{
BICKa]

%
1, BB

17

2. 52

79
3. 240

33
4. 100

Correct Answer :-

20) Find the largest of the following fractions./fFafafad i & 9 gad a3t i 319
L3l

ﬁ
1. 29

19

2. 33

3. 13
53
4, 67

Correct Answer :-

53

. B7
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁi‘i’r: zﬂgé
der goft § 7Ted ug 9 S|

1,2,12,63,316, 1704, 10446
1. 316

2.1704
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3.63

4.12

Correct Answer :-

« 1704

2) The speed of a boat in still water is 4 kmph while its speed against the
stream is 2 kmph. What is the speed of the stream?/ 4RI & fausid U A1d &1 7fq 2
forit/auer 8 aur = oia | g9t T 4 fBiaver 31 uT @ nfa ®m @2

1. None of these/ﬁﬁﬁﬁaﬁéﬂﬁ
2. 3 kmph/3 fedtEuer
3. 2.5 kmph/2.5 feHi@uer

4. 3.5 kmph/3.5 foHi/@Ter

Correct Answer :-

« None of these/3TH A Y HIS Tl

-
rs

3) 2
If 3of A = 75% of B = 0.6 of C, then A: B:Cis:/ﬂﬁAW3= B ®T 75% = C &I
0.6 Bl dl A: B : C gRTII

1.9: 8: 10

|

2.4:5:9
3.2:3:5
4.3:7:5
Correct Answer :-
« 9:8:10

4) In the given figure O is the centre of the circle. If zBAC = 38°, then 20CD
is:/ fRume R ¥ 0 g« H1 F= 81 4l .BAC = 38°, dt LOCD HTUM B:
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1. 52°
2. 38°
3.19°

4.76°

Correct Answer :-
« 38°

5) A and B can complete a job in 10 days and 15 days respectively. In what
time A and B together can complete the work?/A f&ft T $I 10 fa=1 & aur B 37
15 A & 3eNT- 3T THTW HR Ihd &1 9 1 T J1Y 39 B F) fhaq e & guma s32

1.4
2.6
3.2

4.10

Correct Answer :-

« 6

6) The roots of the quadratic equation 144x2 -16=9 are: /fgaTd THIHUT 144x2 -16=9
& A &

4 4

1. 13, 13

Correct Answer :-

5 5

o 12 12

7) P and Q can complete a job in 12 days working together. If P alone can
complete it in 20 days, in how many days can Q alone complete it?/P 3R Q U
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1Y HT Y gU P arf ot 12 RAIA T AR aFd 31 9 P 3pd s dri &Y 20 RA A g1
FA1 8 d Q 3P I FW HI fran fa=l & 1 B2

1. 20
2.32
3.30

4. 24

Correct Answer :-

8) The radius of a circle is 13 cm and the length of one of its chords is 10 cm.
Find the distance of chord from the centre./ T& g @1 (A4 13 G 9YT TP TP
itar @t aars 10 At 31 I oftar B s A g 719 Fifrw)

1. 10 cm/10 9
2.12 cm/12 94t
3.8 cm/8 4l
4.9 cm/9@'~tﬁ

Correct Answer :-

« 12 cm/12 9+

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ 3% fA=fefad uza & yxare® g (2) & R W= o1 371 91fge?

152 , 122 2
1oy 10 =

o | e

Correct Answer :-

41

. 2580
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10) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /¢ Fufafaa goft & yyars fore (2) & WM W T 3T A1fgw?

2,5,10,17, 26,?
1. 36
2.47
3.49

4. 37

Correct Answer :-

11) A person covers a certain distance at the speed of 60 kmph and returns to
the starting point at a speed of 40 kmph. Find the average speed (in km/hour)
of the person for the whole journey./T& dfat T [Afda gt 60 foedtaver @t nfa a @
FRAT § 3R AT SRS fag WR 40 frii/aver ot wfa I dedr 31 T ar=n & fore aafeq ot
e fa (Fpafi/eieT &) gma &1

1.50

2.48

3.42.5

4. 45

Correct Answer :-

« 48

12) 7
A sum of money becomes : of itself in 8 years at certain rate of interest.

7
Find the rate of interest./U® A3 o1 g% W HIF AT 8 T6F F AU 7T 5 B STl 81 AT
H1 G [T Piforg|

Correct Answer :-
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e« 5%

13) Average of 11 numbers is 36, whereas average of 9 numbers of them is 34.
If the remaining two numbers are in the ratio 2:3 respectively, then find the
value of the smallest number (between remaining two numbers):/ 11 T=mad} &1

3T 36 8, Tafh 370 | 9 JWISHT FT 3RId 34 81 Tl AW S TBA3Ht BT SIJUTd HHRT: 2:3 T,
N DI B BT (AY & HB13Hi & o) ATH Iad18¢:

1. 36
2.54
3.45

4.48

Correct Answer :-

14) One year ago, the ratio between Sameer’s and Ashok’s age was 4:3
respectively. One year hence the ratio of their ages will be 5:4 respectively.
What is the sum of their present ages in years?/ QT:F?:I'Equ‘, Wqﬁmaﬂm
BT SJUTT HHR: 4:3 UT| TH Y 91 STB! 3 BT SJUTd HHRT: 5:4 FIT| Ida H 1 Bt 31y
BT (@ ) F18?

1. 14
2.18
3.20

4. 16

Correct Answer :-

15) Which of the following number is prime? /{9 # & &9 W} H@1T 31y~ 8:
1. 59

2. 363

3.343

4. 183

Correct Answer :-

Page 342



pebexam.blogspot.com < Download Free Study PDF — pebexam.blogspot.com

* 59

16) A father increases pocket money of his son by 20%. If son gets Rs.300
after increase, find his pocket money before increase: /T fUdl 30+ T3 & oig W9 &
20% ! gfex Ha1 31 Al gfx F 918 T #1 =uT 300 fred § o gfs & uga ST 99 T 719
P

1. Rs.200
2. Rs.230
3. Rs.240

4. Rs.250

Correct Answer :-
« Rs.250

17) On decrease in the rate of sugar by 10%, 500 gm more sugar can be bought
in Rs.14. Find the new rate per kg (in Rs.) of sugar./iﬂT-ﬁa? YT H 10% Pt HHI I A A
¥.14 T 500 U 34t - @A 51wt 3 1 -t &1 Tar gea ufa e @. §) 39 3

1.2.8
2.4
3.29

4.3

Correct Answer :-

e 28

18) The LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is
600. If one of the number is 80, then the other is:/ﬁmﬁmﬁ.ﬁ.mﬂﬂ.?ﬂ
14 AT 3| 9.9. 3R H.9. BT IRT 600 1 Il TH WBAT 80 7, Ol gl W= 3:

1. 280
2.65
3.25

4. 45

Correct Answer :-
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19) Find the smallest of the following fractions./ﬁmﬁlﬁﬁﬁm@?ﬁﬁ-ﬂ
A B
%
1. 83
E
2. 25

485
3, 381

213
4. 120

Correct Answer :-

20) Find the largest of the following fractions./fFafafad i & J gad a3t i 319
|

E
1. 41

90

2. 83

47

3. 25
213
4. 120

Correct Answer :-

78
o 41
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁ%fﬂ: ﬁ§é’
e 4oft § Terd ug I B

1,2,12,63, 316, 1704, 10446

1. 316

2.1704

3.63

4.12

Correct Answer :-

« 1704

2) A rectangular plot is 1,080 cm2 in area. If its breadth is 54 cm. Find its

perimeter: /T AP R YES BT &7hd 1,080 T |t g1 af sq@! TS 54 AW, ot
SIPT URHTY JTd B

1. 146 cm/146 9t
2.147 cm/ 147 I
3. 148 cm/148 I

4. 149 cm/ 149 I

Correct Answer :-

« 148 cm/148 I+

3) The roots of the quadratic equation x2+5x+6=0 are:/ fgurd IH&0rx2 + 5x +
6 =0FYAT:

1.-4,-8

2.-5,-7
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Correct Answer :-

4) If the perimeter of an equilateral triangle is 48 cm, find its area:/ gfe us
TaTg Ay w1 uRkwg 48 Tt 8, Y ST &A% [1d B

1. 623 (2 /6293 f aefy
5 63V3 (2 / 63v3 uf Tt
3.64V3 (2 ) 643 i qefy
4 6133 (2 / 6173 uf
Correct Answer :-

. 643 2/ 64V3 i gy

5) The present ages of Mahajan and Sanjay are in the ratio of 8:7 respectively.
After 6 years the ratio of their ages will be 19:17. What will be difference of
their ages after 10 years./ AT 3R TS &1 TdH 3G PT JUTd HI: 8:7 81 6 I

YT SID1 3T BT SJUTd 19:17 TR 10 T UYTA SADT 3T BT 3fcR T DITorg|
1.4years/46ITSf

2.6 years/GEFSf
3.5 years/5 ay
4.8 years/86|13f

Correct Answer :-

« 4 years/4 G

6) Find two numbers whose sum is 29 and the product is 100:/@[#@'&3"?[37‘3,
ST AT 29 8 3R YUFTEE 100 B

1.10 and 10/10 T4 10
2.20and 5/ 20 Td 5
3.20 and 9/20Td 9

4.25and 4/ 25 T4 4
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Correct Answer :-
e 25and 4/ 25 T4 4

7) A shopkeeper gives two successive discounts of 7% each on the marked
price of Rs.20,000 of an article. The selling price (in Rs.) of the article is: /T®

Wzogoowasmqu%ﬁmw 7% P & i Fe a1 7 | % F1 faspa g4
(3. %) |re?

1. 18,927
2.17,298
3.12,978
4.19,278

Correct Answer :-

8) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /e fFafafad 9oft A uyars e (2) & wIMA W @1 3T 91 w?

110, 132, 156, ?, 210
1.162
2.172
3.182

4.192

Correct Answer :-
« 182

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question? /a2 fufefad uy # ysares fore (2) & RIF W T4 31 91fige?

3800 - 22 x 1968 =~ 48 =? x 7
1.414
2.416
3.412

4.418
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Correct Answer :-

. 414

10) A can do a piece of work in 12 days. B is 50% more efficient than A. In how
many days B will finish the same work?/A Ts S0 &1 12 R A I AHAT81 B, A BT
3UET 50% 3T HT € 81 dIIR B T8t S fpan fat o H= aAm?

1. 8 days/8 faA
2.12 days/12 &=
3. 24 days/24 f&A

4. 6 days/6 faq

Correct Answer :-

. 8 days/8 faa

11) In an examination A gets 10% marks less than B and B gets 25% marks
more than C and C gets 20% marks less than D. If A gets 270 marks in 500
then D get:/ f&l tdem & A &1 B F1 30T 10% FH 3 A, B H C B 3UaT 25% 3iR&

3P et 3fik C B D BT UET 20% FH 3k A1 Tl A H1 500 AW 270 F /AT D &I
fea yfaema siew faa?

1. 60%
2. 50%
3.40%

4.45%

Correct Answer :-
e 60%

12) The average of six numbers is 32. If each of the first three numbers is
increased by 2 and each of the remaining three numbers is decreasing by 4,

then the new average is:/ B8 J@I3{ $T1 3Md 32 21 IS Ugelt 3 Fwmaii # s # 2 #t
gfs B &1 91T SR Ay i+ wEmsi d Ul | 4 "er fau o af = 3ivd B:

1. 34
2.35

3.30
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4. 31

Correct Answer :-

« 31

13) If (2x + 3y) : (3x + 5y) = 18 : 29, then x : y is equal to:/3afe¢ (2x + 3y) : (3x
+5y)=18:29%, A x : y N 8:

1. 3:4
2.2:3
3.1:5

4, 3:5

Correct Answer :-

« 3:4

14) A 120 meter long train is running at a speed of 90 km per hour. It will cross

a 230 m long railway platform in: /120 ﬁamﬁwm 90 fer# ufd g¢ Hrfa A
a1 T8 ], Y 230 Hiex da WekhTH $ UR &1 § a8 fba-n a7y afi?

1. 14 seconds/14 IHUS
2. 9 seconds/9 R
3. 7 seconds/7 YHUS
4. 4 seconds/4 YHUS

Correct Answer :-

e 14 seconds/14 AHUS

15) The speeds of two trains are in the ratio of 7:9. They are moving in the
opposite directions on parallel tracks. The first train crossed a pole in 4
seconds whereas the second train crossed the same pole in 6 seconds. Find the
time taken by the trains to cross each other completely. /<! Y@l &1 7T BT
3UTd 7:9 213 3 FrAHaR vefal iR faudia famn # o 36 81 gt Yas) te @™ 3t 4 Abs
H UR Sl § e gast Mt St Wl B 6 Vs T UR Hdl 81 ML &b GRT TH gax Bt
TRE UR B3 H o a1 99d 91d B

1 1
5— 5— .
1. 8Seconds/ 83dFs
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1 1
2— 2— .
2. b6Seconds/ ©3TGS
1 1
4— 41— .
3. 8Seconds/ 8d&s
1 1
3— - .
4. 6Seconds/ ©TGS

Correct Answer :-

1 1
5— 5— .
. B8Seconds/ 83%s

16) The number of composite number between 101 and 120 are:/101 MR 120 &
ot &t "Sygad d@ fea- g2

1.13
2.12
3.14
4. 11

Correct Answer :-

17) 3 1

Divide ¥ 6800 in two part so that S.I. on the first part for Eyears at 6% p.a.
1

will be equal to the S.I. on the second part for Eyears at 4% p.a./T 6800 &I gl
1
. : 3z .
YN & $H UHR 91eT [P Ugd U IR 6% TG AT I G T 3 a9 T AIRUT 4Te, gO¥ YR W
1

2 ad & 49 aTffep saTer B ¥ A WIURT T F awTaR &
1.7 2600, % 4200
2. % 2800, T 4000
3. % 2500, T 4300

4.3 2700, % 4100

Correct Answer :-

« %2800, % 4000
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18) A labour can do a job in 50 hours. After 5 hours he takes a break. What
fraction of the job is yet to be done?/ T® Huigs U® HTH 50 He H Hedr 3| 5 Ue d1¢ a8
=T <iar 81 B8 &1 fHaaT YRt I 3t oft BT Il 82

1.0.75
2.0.8
3.0.9
4.0.5

Correct Answer :-

« 0.9

19) Find the smallest of the following fractions:/fFafeRaa fial d & 9 Bidt fi=
BIGKXE

20
1. 500

18
5 484

15
3, 408

18
4. 360

Correct Answer :-

15
. 408

20) Find the largest of the following fractions:/fafufad fidl # & 99 a8t U= 39
G2y

6

1. 35

13

2, 69

19

3,96

21

4 113
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Correct Answer :-
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